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COMMunicateD OO O OO0OOOOOOOOOOOOOO
gboboboooobooboobobobobooooooboan
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LOCKout <Space>
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—=(oPsE Space> | o <Register> | o
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:COMMunicate? :COMMunicate :LOCKout
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oad :COMMunicate? oo :COMMunicate:LOCKout {<Boolean>}
O :COMMUNICATE? —> :COMMUNICATE: :COMMunicate:LOCKout?
HEADER 1;0PSE 96;OVERLAP 96; ad :COMMUNICATE : LOCKOUT ON
VERBOSE 1 :COMMUNICATE : LOCKOUT? ->
:COMMUNICATE : LOCKOUT 1
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00 (00 DISPLAY:FORMAT NUMERIC)O OO voooboobobooooobobooooon
00000000 (@ONUMERIC)DOO/000
oooooo
oo :COMMunicate:HEADer {<Boolean>}
:COMMunicate:HEADer?
O :COMMUNICATE : HEADER ON
:COMMUNICATE : HEADER? ->
:COMMUNICATE : HEADER 1
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5.20 COMMunicate 0 0 00

:COMMunicate:OPSE

(Operation Pending Status Enable register)

oo *opcO »orc?0*»wAID O OOOOOODOOODO
gooooooo/obopboooooo

oo :COMMunicate:OPSE <Register>
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:COMMunicate:OPSR?

(Operation Pending Status Register)

oo goboooooboooobooobooobooo
goboobooooooog

oo :COMMunicate :OPSR?

O :COMMUNICATE :OPSR? -> 0

oo gbobooooobooboboboobobooo

0000000 :coMMunicate:WAIT?0 00O
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:COMMunicate:OVERlap

00 oo0ooooooooooooooooo/oon
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oo :COMMunicate:OVERlap <Register>

:COMMunicate:OVERlap?
<Register>[1 00 65535[] :COMMunicate :WAIT?
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O :COMMUNICATE :OVERLAP 65535
:COMMUNICATE : OVERLAP? —>
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oo :COMMunicate:REMote {<Boolean>}
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] :COMMUNICATE :REMOTE ON

:COMMUNICATE :REMOTE? ->
:COMMUNICATE :REMOTE 1
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0 ooooo goooooo
ooooo
1 ooo
2 ooo

oobooooog
oobooooog
oo
30 ooo godo

jodooooooooooooooooooo
goooooooooooooobooooDo

:COMMunicate:VERBose

od gooobobooobobooobbooooo
0 (0 0 DISPLAY:FORMAT NUMERIC)O O OO
000000 (0 ODISP:FORM NUM)O O O/0
gooooobog

od :COMMunicate:VERBose {<Boolean>}
:COMMunicate:VERBose?
] :COMMUNICATE :VERBOSE ON

:COMMUNICATE :VERBOSE? ->
:COMMUNICATE : VERBOSE 1

:COMMunicate:WAIT

oo joddddddoooooooooooooo
goooood

od :COMMunicate:WAIT <Register>

<Register>0 00 655350 (0 00000000
0o0e-400000)

O :COMMUNICATE :WAIT 1

oo COMMunicate:WAITOOOOOOOOOOOO
00004-80000000000000

:COMMunicate:WAIT?

oo jofd0dddooooooooooooooo
goooooooon

oo :COMMunicate:WAIT? <Register>

<Register>0 00655350 (000000000
00e-400000)
O :COMMUNICATE:WAIT? 65535 -> 1

000000000000000000000

0/000000000000000

HARAAAAHHRSHHARR

OO0O05PRN)D 1000 :

000 000000000000000000
00O0o0ooooo

0DO0O06(ACS)0 1000 :

0000000000000000
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5.3 CURSort OO0

CURSorD 0000000000000 OOO0OOOODOOO0ODOO0OOODOOCURSOR(SHIFTHWAVE)D DO O OO

gboboboooooboobooboboo

gooboboboooooooboobobobobooboooobobobobooboboooooobDobOobo

D).

2 —~

>

~

<Space> h——( OFF )

(

o

(7?)

N\

<xX>

<xX>

——| <Space> }—Eg u )——l
D

2

()
U

s.( PATH

<Space> h——( MAX )

o\

N\

<Space> |—-| <Time>

D
)\

)

—

o
o/

,_.@

~

N\

)
( ™

—(_STATe

<Space>

\.C TRACe

s—(POSilion

<x>

<Space> |—-|

0
N\
)—mﬁ <Space> |—-|
(?)
N\

o
Ny

~
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5.30 CURSor0 0 00O

:CURSor?

00 godooooooooooopoooooooo
ooono

oo :CURSor?

O :CURSOR? -> :CURSOR:WAVE:STATE 0;

TRACE1l Ul;TRACE2 I1l;PATH MAX;
POSITION1l 2.0E-03;

POSITION2 8.0E-03; :CURSOR:TREND:
STATE 0; TRACEl 1;TRACE2 2;
POSITION1l 6;POSITION2 54

:CURSor : TRENd?

od odooooooooooooooboobooooo
oooooooooooo

oo :CURSor : TRENd?

g :CURSOR:TREND? ->

:CURSOR:TREND:STATE 1;TRACEl 1;
TRACE2 2;POSITION1 6;POSITION2 54

:CURSor : TRENd:POSition<x>

oo doooooooooooooooo/oooon
goooo

oo :CURSor : TRENd:POSition<x> {<NRf>}
:CURSoOr : TRENd: POSition<x>?
<x>0 102
<NRf>0 00 500

0 :CURSOR:TREND:POSITION1 10
:CURSOR: TREND:POSITION1?->
:CURSOR:TREND:POSITION1 10

:CURSor : TRENA[ : STATe]

oo 000000000000 D00OO0ON/OFFOO
o/00000o00oa

oo :CURSOr : TRENd[ : STATe] {<Boolean>}
:CURSOr : TRENd : STATe?

O :CURSOR: TREND : STATE ON

:CURSOR: TREND: STATE? -> : CURSOR:
TREND:STATE 1

:CURSor : TRENd : TRACe<x>

oo 0o0o0ooooooooooooooo/000
gooogoo

oo :CURSor : TRENd: TRACe<x> {<NRf>}
:CURSor : TRENd : TRACe<x>?
<x>0102
<NRf>0 10 16

O :CURSOR: TREND: TRACE1 1
:CURSOR:TREND: TRACE1? -> :CURSOR:
TREND:TRACE1l 1

:CURSor : TRENd : {X<x>|¥<x>|DY}?

oo jodooooooooooooooooooo
oo
oo :CURSOr : TRENd: {X<x>|Y<x>|DY}?

X<x>00000000000000000(KX1
0 D+0 X20 Dx)
Y<x>0OOOOO0O0O0YODO(Y10Y+OY20

YX)
DYO O OODODOOYOD(AY)
<x>0102
| :CURSOR:TREND:X1? -> "2003/04/01
12:34:56"
:CURSOR: TREND:Y1? -> 78.628E+00
oad Jod00D0O0oOoOooooooNODDoODOooooo

ooooooooooobooon
X<x>0 0 0 O 0 "k frxfrx xxsexsan] [0 00

0oo 5
Y<x>0 DYO O 0O O O NAN(Not A Number)d O
ooooa O
O
a
:CURSOr :WAVE? 0
oo Jo0d0ooboOoooboooooboooooono 0
Oo00o0000oOoooooo a
oad :CURSOr :WAVE?
] :CURSOR:WAVE? —> :CURSOR:WAVE:

STATE 1;TRACEl Ul;TRACE2 I1;
PATH MAX; POSITION1 2.0E-03;
POSITION2 8.0E-03

:CURSOr :WAVE : PATH

oo ooooooooooOooooooo/0ooO
ooooo

od :CURSOr :WAVE : PATH {MAX|MIN|MID}
:CURSOr : WAVE : PATH?

a :CURSOR:WAVE : PATH MAX
:CURSOR :WAVE : PATH? —> : CURSOR : WAVE :
PATH MAX

:CURSOr:WAVE:POSition<x>

oo Jjo0o0o0o0oooooooooooo/onooon
ooooad

og :CURSor : WAVE: POSition<x> {<0 0>}
:CURSoOr : WAVE : POSition<x>?
<x>0 102
<0 0 >0005.00s

a :CURSOR:WAVE : POSITION1 2MS

:CURSOR:WAVE:POSITION1? -> :CURSOR:
WAVE:POSITION1 2.0E-03

0o <00>0000000000000000 Time/
divO (:WSETup: TDIV)0 000000000
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5.30 CURSor 0 00O

:CURSOr:WAVE[ : STATe]

oo

oo

0000000000000 00OON/OFFODO
O/000000000
:CURSOr:WAVE[ : STATe] {<Boolean>}
:CURSOr :WAVE: STATe?
:CURSOR:WAVE : STATE ON
:CURSOR:WAVE:STATE? -> :CURSOR:
WAVE:STATE 1

:CURSor :WAVE : TRACe<x>

oo

oo

gdoooooooooooooooo/ooo
gooooo

:CURSoOr : WAVE : TRACe<x> {U<x>|I<x>}
:CURSOr :WAVE : TRACe<x>?

TRACe<x>0O <x>0 10 2
U<x>OIx>0<x>0104000000000)
:CURSOR:WAVE: TRACE1 U1l

:CURSOR:WAVE: TRACE1? ->
:CURSOR:WAVE: TRACE1 U1l

:CURSoOr :WAVE : {X<x>|DX | PERDt | ¥<x>|DY}?

oo

oo

ooooooooooooboooooobooooo
od

:CURSOr : WAVE : {X<x> | DX | PERDt | Y<x> |
DY}?
X<x>O0O0OOOO00O0OXO0O (Xa0o Xo o xXa2o
XX)

DXOOOOOOOXOO(AX)
PERDtO 0 0O 000 O 1/ATO (1/AX)
Y<x>OOOOOOoOOoOOovYoO(vaovyoovyao
Yx)

DYOOOOOoOOvYDO(Ay)

<x>0102

:CURSOR:WAVE:Y1? -> 78.628E+00
ogooooooooooooNoDOODDODOD
000ONAN(Not ANumben)DOOOOOO
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5.4 DISPlayt O OO

DISPay0 0000000000 OOOOOOOOOO
oo0oooooobiIsPLAYD D OOOODOOOooooooboooboooooo

RN
R

G0l

RS

—@Q]ﬁm <Space> ~NR_ |
ALL

~.( PRESet )—.| <Space> |—.| <NRf> :

Function> |—-O—-| <Element>

(?)
A4

I ITEM )—q <x> T <Space> }—E( NONE )
<
?

I ICURsor )—E <space> |—s <NR> | {

w(FCURsur )—E <Space> |—.| i : [

()
S

IMPedance

OBJect )—E <Space> |—.| <NRf> : [
ICURsor )_E <Space> |_-| <NRf> :

&)
A
o)
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5.40 DISPlay0 0 0 0O

WAVE

SINGle

<Space> )

[(GRaTicule)——of <Space> |~ GRID )

SVALue

I TLABel )—

G )~
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5.40DISPlayd 0 0 O

—O o
—(__OFF )

TRENd <Space>

Il

®
(AL )—of <Space> }—=( OFF )

T <> -.| <Space> |_-.( OFF )

7%

FORMat <Space> SINGle ).

TDIV <Space> <NRf> <NRf> <NRf>_|

o) J
S

o

(pov ) [ <Space> | <NRf>
L
®

RS

NORMal TEM =S

OooOoOooo

®
<Space> |—of <NA> |—u(( )—e] <NRP>

QOO

o RESTart )

(7)
S

(?)
N4
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5.40DISPlayd 0 0 O

:DISPlay?
oo gooooopbooOooboooboooboog
oo

oo :DISPlay?

| OO0O00OQO(:pIsplay:FORMat)l O NwAVel
goooo
:DISPLAY? -> :DISPLAY:FORMAT
NWAVE; (0 :DISPlay:NUMeric?0 0000
OO0000c:p1sPLAY:0 00000000
0);(0 :pIsPlay:wWAVE? 0O 0O)

:DISPlay:FORMat

oo goooooo/0o0obooooboo

oo :DISPlay:FORMat {NUMeric |WAVE |

TRENd | NWAVe | NTRend | WTRend }
:DISPlay:FORMat?
NUMericO O OO OODO
WAVEO OOOOOO
TRENdO OO OO
NWAvel O OOOO0OO0OOOOO
NTRendO O OOOOOOOOOOO
WTRendOOOOOOOOOOOOO
o :DISPLAY : FORMAT NUMERIC
:DISPLAY:FORMAT? -> :DISPLAY:
FORMAT NUMERIC
oo gooooooooOobooooooOoooooo
gooooooooboooooooooooo
ooboboooooooood
gooooooooOobooooooOoooooo
gooooooooboooooooooooo
gobooooocoooocoooboooo

:DISPlay:NUMeric?

oo 0o0oooOoOoooOooooOooooooooo
oo

od :DISPlay:NUMeric?

] 00000000 (:IMPedance[ :STATe O

000 0OFFO)D)
:DISPLAY :NUMERIC? -> (D:DISPlay
[:NUMeric]:NORMal?O OO OOOO)
gooboooooboboooo
(:IMPedance[ :STATe]0 00O OO ON(1)O)
:DISPLAY :NUMERIC? -> (D:DISPlay
[ :NUMeric]:IMPedance?0 00 0000)
od goobobooboboboboooooooog
gooooooboobobobobobooo
gooobooooobogoo
goobobooboboboboooooooog
gooooooboobobobobobooo
gooobobooooboooooboo

:DISPlay[ :NUMeric] : IMPedance?

oo gooooooooooooooooooooo
goobooooooooooooo

0od :DISPlay|[ :NUMeric]:IMPedance?

ad :DISPLAY :NUMERIC:IMPEDANCE? ->

:DISPLAY :NUMERIC: IMPEDANCE:
TYPE ZR_ZI;OBJECT 5;ICURSOR 1

:DISPlay[ :NUMeric] : IMPedance: ICURsor

od jofjddddgoooooooooooooo
oooooo/00oooooog
oo :DISPlay[ :NUMeric]:IMPedance:

ICURsor {<NRf>}
:DISPlay[ :NUMeric]:IMPedance:
ICURsor?
<NRf>[0 10 100

g :DISPLAY :NUMERIC:IMPEDANCE:
ICURSOR 1
:DISPLAY :NUMERIC:IMPEDANCE:
ICURSOR? -> :DISPLAY:NUMERIC:
IMPEDANCE : ICURSOR 1

oo gooooooobobooboboonog

:DISPlay|[ :NUMeric] : IMPedance:0BJect

od jofjddddgoooooooooooooo
oooooo/00oooooog
oo :DISPlay[ :NUMeric]:IMPedance:

OBJect {<NRf>}
:DISPlay[ :NUMeric]:IMPedance:

OBJect?
<NRf>0 1050 00000000000 OO)
g :DISPLAY :NUMERIC: IMPEDANCE :OBJECT 5

:DISPLAY :NUMERIC: IMPEDANCE :OBJECT?
—> :DISPLAY:NUMERIC:IMPEDANCE:
OBJECT 5

:DISPlay|[ :NUMeric] : IMPedance:TYPE

00 jodddddooooo0oooooooooo
oo/c00oooooo
oo :DISPlay[ :NUMeric]:IMPedance:

TYPE {ZR_ZI|U_I|Z_PHI}

:DISPlay[ :NUMeric]:IMPedance:TYPE?
] :DISPLAY : NUMERIC : IMPEDANCE :

TYPE ZR_ZI

:DISPLAY :NUMERIC: IMPEDANCE : TYPE? ->

:DISPLAY : NUMERIC : IMPEDANCE :

TYPE ZR_ZI
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5.40DISPlayd 0 0 O

:DISPlay[ :NUMeric] :NORMal?

oo goooooooOooboooboooboog
gooooooooog
oo :DISPlay[ :NUMeric]:NORMal?
O 00000000 (:pISPlay[:NUMeric]
:NORMal:IAMount)d O<NRf>(0 00 0O)0
goooo

:DISPLAY : NUMERIC :NORMAL? ->
:DISPLAY : NUMERIC : NORMAL:
IAMOUNT 4;ITEM1 URMS,1;
ITEM2 UMN,1;ITEM3 UDC,1l;...(00)
...;ITEM100 NONE;ICURSOR 1
00000000 (:pISPlay|[:NUMeric]
:NORMal:IAMount)J OALL(OOO)O OO
oogd
:DISPLAY : NUMERIC :NORMAL? ->
:DISPLAY : NUMERIC : NORMAL:
IAMOUNT ALL;FCURSOR URMS
oo goooooooOooboooboooboog
goooooooOooboooboooboog
gobobooooooooooooo

:DISPlay[ :NUMeric] :NORMal : FCURsoOr

od ooooooooooooo@oo)yoooo
goooo/00poobooooo
oo :DISPlay[ :NUMeric]:NORMal:

FCURsor {<Function>}
:DISPlay[ :NUMeric]:NORMal:FCURsor?
<Function>0 {URMS | UMN | UDC | UAC | IRMS |
...} (00000oooooooo@ooon)
] :DISPLAY : NUMERIC:NORMAL:
FCURSOR URMS
:DISPLAY :NUMERIC:NORMAL:FCURSOR? ->
:DISPLAY : NUMERIC:NORMAL:
FCURSOR URMS
oo goooobooboobobobobobooo
oo
00000000 (:pISPlay|[:NUMeric]
:NORMal:IAMount)J O ALL(OOO)O OO
gooooooobo
gobooooobooooboboooobboooo
goOoooobboooobobooooboboooo
goooboobooboboobobooog

:DISPlay[ :NUMeric] :NORMal: IAMount

oo goooooooooooooooooo/mo
goooooo
oo :DISPlay[ :NUMeric]:NORMal:

IAMount {<NRf>|ALL}
:DISPlay[ :NUMeric]:NORMal:IAMount?
<NRf>[0 4080 16042078
O :DISPLAY :NUMERIC :NORMAL: IAMOUNT 4
:DISPLAY :NUMERIC:NORMAL: IAMOUNT? ->
:DISPLAY :NUMERIC :NORMAL: IAMOUNT 4
oo goOooooooOoOoobooooobbooooo
goooooooooooboooobob
<NRf>000000000000ODOOOOO
O000O(KNRf>0100000000000
oooooono)
ALLOOOOO0ODODOOOOODODOOOODDO
gooooooooogoo
goOooooooOo0oobooooobbooooo
goo0o0o0ooboOooobboooobobooo
go0oooooooooobobooobo

:DISPlay[ :NUMeric] :NORMal: ICURsor

oo gooooOoooooooOo@ooo)yooo
Jo0o0o0o0/000000000
og :DISPlay[ :NUMeric]:NORMal:

ICURsor {<NRf>}
:DISPlay[ :NUMeric]:NORMal:ICURsor?
<NRf>0 10 100
] :DISPLAY :NUMERIC:NORMAL:ICURSOR 1
:DISPLAY :NUMERIC:NORMAL:ICURSOR? ->
:DISPLAY :NUMERIC:NORMAL:ICURSOR 1
oo goobooboboobooooooobooo
00000000 (:DISPlay|[:NUMeric]
:NORMal:IAMount)O O <NRf>(0 00O 0O)O
gboooobogoooooono
gbooooooboooobooboooobbooooo
gobooooobboooobboooobobooa
gboobooooooooobobooba
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5.40DISPlayd 0 0 O

:DISPlay[ :NUMeric] :NORMal : ITEM<x>

oo

oo

oo

Jooooooooooooooooo/000

gopooooo

:DISPlay[ :NUMeric]:NORMal:

ITEM<x> {NONE |<Function>,<Element>}

:DISPlay[ :NUMeric]:NORMal: ITEM<x>?

<x>01010000000)

NONEO OODOODOO

<Function>0 {URMS | UMN | UDC | UAC | IRMS |

...(000000000000@ODDn)

<Element> 0 {<NRf>|SIGMA|SIGMB |SIGMC}

(<NRf>0104000000000))

:DISPLAY : NUMERIC : NORMAL:

ITEM1 URMS,1

:DISPLAY : NUMERIC :NORMAL: ITEM1? ->

:DISPLAY : NUMERIC : NORMAL:

ITEM1 URMS,1

00000000 (:DISPlay[:NUMeric]
:NORMal:IAMount)O O<NRf>(0O 00O 0O)O
goOo0o0o0ooooooo

gobooooobooooboboooobobooog
gooooobboOoOoobooooobooog
go0o00o0o0ooOobobooboooog

:DISPlay[ :NUMeric] :NORMal : PRESet

oo

oo

gobooooboooobooobooobooog

obooooooooobon

:DISPlay[ :NUMeric]:NORMal:

PRESet {<NRf>}

<NRf>0104000000)

:DISPLAY :NUMERIC:NORMAL:PRESET 1

O<NRf>010400000000000000
goooooooo@o)yoooopooooo
O0O0Display0 0 0O0O0OoOOoOoOooOoOO
(Reset List Exec)DOOOOOOOOOOO
goooooboboooobobooooboboooo
goooooboboooobobooooboboooo
goooooon

gobooooobooooboboooobboooo
gooooobboooobobooooboboooo
goooooboobobooboboonog

:DISPlay:TRENd?

0od

0od
O

0od

goooooo0oobobOoobbooobooooo
oo

:DISPlay:TRENd?

:DISPLAY:TREND? -> :DISPLAY:TREND:
SAMPLING 1;T1 1;T2 1;T3 1;T4 1;

T5 1;T6 1;T7 1;T8 1;T9 0;T10 O;

T11l 0;T12 0;T13 0;T14 0;T15 0;

T16 0;FORMAT SINGLE;TDIV 0,0,3;
NORMAL:ITEM1:FUNCTION URMS,1;
SCALING:MODE AUTO;VALUE 100.00E+00,
-100.00E+00; :DISPLAY : TREND : NORMAL:
ITEM2 :FUNCTION IRMS,1;SCALING:

MODE AUTO;VALUE 100.00E+00,
-100.00E+00;...(00)...;:DISPLAY:
TREND :NORMAL: ITEM16 : FUNCTION FU,2;
SCALING:MODE AUTO;VALUE 100.00E+00,
-100.00E+00
goooooo0ooobooobbooobooooo
goooooo0ooobooobbooobooooo
goo0o0o0ooooobooboobo

:DISPlay:TRENd:ALL

od
od
a

od

O00O0DOO0O0OO0OO0OON/OFFOOODODOOODOO
:DISPlay:TRENd:ALL {<Boolean>}
:DISPLAY:TREND:ALL ON
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooooboobobo

:DISPlay:TRENd:FORMat

od

od

od

oooooooooooooooo/ooooo
oooo

:DISPlay:TRENd:FORMat {SINGle|DUAL |
TRIad|QUAD}

:DISPlay:TRENd:FORMat?
:DISPLAY : TREND: FORMAT SINGLE
:DISPLAY: TREND: FORMAT? ->
:DISPLAY : TREND : FORMAT SINGLE
joddddodooooooooooooooo
joddddodooooooooooooooo
goboooooocooboocoooo
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5.40DISPlayd 0 0 O

:DISPlay:TRENd:NORMal?

oo gooooooooooooooboooboobooobooo
oooooooooooo

oo :DISPlay:TRENd:NORMal?

g :DISPLAY : TREND :NORMAL? ->

:DISPLAY : TREND : NORMAL : ITEM1:
FUNCTION URMS, 1;SCALING:MODE AUTO;
VALUE 100.00E+00,-100.00E+00; :
DISPLAY : TREND:NORMAL: ITEM2:
FUNCTION IRMS, 1l;SCALING:MODE AUTO;
VALUE 100.00E+00,-100.00E+00; ...
(D[])...;:DISPLAY:TREND:NORMAL:
ITEM16:FUNCTION FU,2;SCALING:
MODE AUTO;VALUE 100.00E+00,
-100.00E+00

oo 0000000000000000000000
0000000000000000000000
0000000000000D000

:DISPlay:TRENd:NORMal : ITEM<x>?

od godo0ooOooooopoopopboopoooooo
gooooooooogo

oo :DISPlay:TRENd:NORMal : ITEM<x>?
<x>01016(C0O0O0O)

] :DISPLAY:TREND:NORMAL:ITEM1? ->

:DISPLAY: TREND:NORMAL: ITEM1:
FUNCTION URMS,1;SCALING:MODE AUTO;
VALUE 100.00E+00,-100.00E+00

od odooooooooooooooboobooooo
odooooooooooooooboobooooo
oooooooooooboooooo

:DISPlay:TRENd:NORMal: ITEM<x>[ : FUNCtion]

oo ooooooooooOoOoOoOoOoOoOoOo/000
gooooo

oo :DISPlay:TRENd:NORMal : ITEM<x>
[ :FUNCtion] {NONE |<Function>,
<Element>}
:DISPlay:TRENd:NORMal: ITEM<x>:
FUNCtion?

<x>01016(0000)
NONEO O OOODOO
<Function>0 {URMS | UMN | UDC | UAC | IRMS |
...} (000000ooooooo@ooon)
<Element> O {<NRf>|SIGMA|SIGMB|SIGMC}
(NRf>0104)00000000O0)

| :DISPLAY : TREND : NORMAL: ITEM1:
FUNCTION URMS,1
:DISPLAY : TREND : NORMAL: ITEM1:
FUNCTION? -> :DISPLAY : TREND: NORMAL:
ITEM1:FUNCTION URMS,1

od odooooooooooooooooooo
odooooooooooooooooooo
oooooooooooboooooo

:DISPlay:TRENd:NORMal : ITEM<x>:SCALing?

0o gooooooooooooooooooooo
00000o0oo0ooooooooog

oo :DISPlay:TRENd:NORMal: ITEM<x>:
SCALing?
<x>01016(C0000)

O :DISPLAY : TREND:NORMAL: ITEM1:

SCALING? -> :DISPLAY : TREND : NORMAL :
ITEM1:SCALING:MODEAUTO;
VALUE 100.00E+00,-100.00E+00

oo jodooooooooooooooooooo
jodooooooooooooooooooo
goboboooooooooooono

:DISPlay:TRENd:NORMal : ITEM<x>:SCALing:
MODE

oo joddddddoooooooooooooo
ooo/0000o0oooo
od :DISPlay:TRENd:NORMal : ITEM<x>:

SCALing:MODE {AUTO|MANual}
:DISPlay:TRENd:NORMal : ITEM<x>:
SCALing:MODE?
<x>01016(0000O)

] :DISPLAY: TREND :NORMAL: ITEM1:
SCALING:MODE AUTO
:DISPLAY: TREND :NORMAL: ITEM1:
SCALING:MODE? -> :DISPLAY: TREND:
NORMAL: ITEM1:SCALING:MODE AUTO

oo gooooooooobooobboooboooo
gooooooooobooobboooboooo
goooooooboobobobo
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5.40DISPlayd 0 0 O

:DISPlay:

VALue
oo

oo

oo

:DISPlay:
oo

oo

oo

:DISPlay:
oo

oo

O

oo

TRENd : NORMal : ITEM<x>:SCALing:

gobooooboooobooobooobooog
goooooopooo/o0boooooboo
:DISPlay:TRENd:NORMal: ITEM<x>:
SCALing:VALue {<NRf>,<NRf>}
:DISPlay:TRENd:NORMal: ITEM<x>:
SCALing:VALue?
<x>01016(000O0O)
<NRf>0 0 9.9999E+300 9.9999E+30
:DISPLAY : TREND:NORMAL:ITEM1:
SCALING:VALUE 100,-100
:DISPLAY : TREND:NORMAL: ITEM1:
SCALING:VALUE? ->
:DISPLAY : TREND:NORMAL:ITEM1:
SCALING:VALUE 100.00E+00,
-100.00E+00
gooooboooobooboobobo
gooooboobobobooo
(:DISPlay:TRENd:NORMal: ITEM<x>:
SCALing:MODE)J OMANualO OO OOOO
gooooo
gobooooobooooboboooobboooo
gooooobboooobobooooboboooo
goooooboobobooboboonog

TRENd:PDIV
0o0oooogPoin/divyiDOO/00000O
goo
:DISPlay:TRENd:PDIV {<NRf>}
:DISPlay:TRENd:PDIV?
<NRf>0 10 20 50 100 200 500 1000 2000
500
:DISPLAY:TREND:PDIV 50
:DISPLAY:TREND:PDIV? -> :DISPLAY:
TREND:PDIV 50
goboooooboboooooo
(:WSETup[ :SAMPling])JONO OO OOO
gooooo
goobobooboboboboooooooog
gooooooboobobobobobooo
goooboboooobooooboo

TRENd:RESTart
ooooooooooooon
:DISPlay:TRENd:RESTart
:DISPLAY : TREND:RESTART
gooooooooooooooooobooooo
gooooooooooooooooobooooo
oooooooooobooooo

:DISPlay:TRENd|[ : SAMPling]

od

0od

0od

00o0Do00oDoooO0oDoOgoN/OFFO 00O /0
gooooooo

:DISPlay:TRENd:

[:SAMPling] {<Boolean>}
:DISPlay:TRENd: [ :SAMPling]?
:DISPLAY :TREND:SAMPLING ON
:DISPLAY:TREND:SAMPLING? ->
:DISPLAY: TREND:SAMPLING 1
goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
goo0o0o0ooooobooboobo

:DISPlay:TRENd:TDIV

od

od

od

000oooooooooooog(m/dvyod

0/000000000

:DISPlay:TRENd:TDIV {<NRf>,<NRf>,

<NRf>}

:DISPlay:TRENd:TDIV?

{<NRf>0 <NRf>0 <NRf>}00 00O 00 30 240 00

0

1000<NRf>010306012024 (0O)

200 0<NRf>010306010030 (O)

30 0 O<NRf>0 3060100 30 @)

¢:DISPLAY:TREND:TDIV 0,0,3

¢:DISPLAY:TREND:TDIV? -> :DISPLAY:

TREND:TDIV 0,0,3

O300<NRf>000010000000000
gz20go0oOoOoOoOoOoboooon

000000000 (:WSETup[ :SAMPling])
OorFFOCOOODOOOODOOO

gooooooooboOoOoOooooooooo
goooOopooOoOoOoOooooooooooo
gooooOoboooooooooooo

:DISPlay:TRENd:T<x>

od
od

od

OOOO0OOON/OFFOOO/000O0DO0O0OODOO
:DISPlay:TRENd:T<x> {<Boolean>}
:DISPlay:TRENd: T<x>?
<x>01016(0000)

:DISPLAY:TREND:T1 ON
¢:DISPLAY:TREND:T1? ->
¢:DISPLAY:TREND:T1 1
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooooboobobo
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5.40DISPlayd 0 0 O

:DISPlay:WAVE?

oo gooooooooooooooboooboobooobooo
oo

oo :DISPlay:WAVE?

g :DISPLAY:WAVE? -> :DISPLAY:WAVE:

Ul 1;U2 1;U03 1;U4 1;I1 1;1I2 1;I3 1;

I4 1;FORMAT SINGLE;

INTERPOLATE LINE;GRATICULE GRID;

SVALUE 1;TLABEL 0;MAPPING:MODE AUTO
oo goooooooOooboooboooboog

goooooooOooboooboooboog

gobobooooooooooooo

:DISPlay:WAVE:ALL

od O00OO0DO0O0OO0OOON/OFFOOODOOODOOO
oo :DISPlay:WAVE:ALL {<Boolean>}

] :DISPLAY :WAVE:ALL ON

od godoooOoooopopopopopoooooooo

odooooooooooooooboobooooo
oooooooooooboooooo

:DISPlay:WAVE:FORMat

od oo0oooOooooOooooOo/ooooooo
od
oo :DISPlay:WAVE:FORMat {SINGle|DUAL|

TRIad|QUAD}
:DISPlay:WAVE:FORMat?

| :DISPLAY :WAVE : FORMAT SINGLE
:DISPLAY :WAVE : FORMAT? -> :DISPLAY:
WAVE : FORMAT SINGLE

od odooooooooooooooboobooooo
odooooooooooooooboobooooo
oooooooooooboooooo

:DISPlay:WAVE:GRATicule

oo oooooo@Eoo)y§oooooo/mooo
ooooog
oo :DISPlay:WAVE:GRATicule {GRID|

FRAMe | CROSshair}
:DISPlay:WAVE:GRATicule?

g :DISPLAY :WAVE:GRATICULE GRID
:DISPLAY :WAVE:GRATICULE? ->
:DISPLAY :WAVE:GRATICULE GRID

oo gooooooooooooooboooboobooobooo
gooooooooooooooboooboobooobooo
gooOooooooobooooo

:DISPlay:WAVE: INTerpolate

oo
oo

oo

gooooooooo/o0o0oo0o0ooo
:DISPlay:WAVE:INTerpolate {OFF |
LINE}

:DISPlay:WAVE:INTerpolate?
:DISPLAY :WAVE : INTERPOLATE LINE
:DISPLAY :WAVE: INTERPOLATE? ->
:DISPLAY :WAVE : INTERPOLATE LINE
goooooOo0ooboboOoobbooobooooo
goooooOo0ooboboOoobbooobooooo
goOo0o00oO0ooooboobobo

:DISPlay:WAVE:MAPPing?

oo

oo
O

oo

gooooboooobobooobboooboooo
gooooooobobobon
:DISPlay:WAVE:MAPPing?
:DISPLAY:WAVE:MAPPING? -> :DISPLAY:
WAVE :MAPPING:MODE USER;Ul 0;U2 1;
U3 2;U4 3;I1 0;I2 1;1I3 2;I4 3
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooboobobobo

:DISPlay:WAVE:MAPPing[ :MODE]

oo

oo

oo

gooooooboooobooobboooobo
0/000000000
:DISPlay:WAVE:MAPPing[ :MODE] {AUTO|
FIXed|USER}

:DISPlay:WAVE :MAPPing:MODE?
:DISPLAY :WAVE : MAPPING:MODE AUTO
:DISPLAY :WAVE : MAPPING:MODE? ->
:DISPLAY :WAVE : MAPPING:MODE AUTO
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooboobobobo

:DISPlay:WAVE:MAPPing: {U<x>|I<x>}

oo

oo

oo

000000o0ooo{oo|ooooooo
gooo/00o000D0o00o0
:DISPlay:WAVE:MAPPing:
{U<x>|I<x>} {<NRf>}
:DISPlay:WAVE:MAPPing: {U<x>|I<x>}?
<>0104000000000)
<NRf>0 003
:DISPLAY :WAVE :MAPPING:Ul 0
:DISPLAY :WAVE :MAPPING:U1? ->
:DISPLAY :WAVE :MAPPING:Ul 0
0000000000 (:DISPlay:WAVE:
MAPPing[:MODE])JOUSEROOOOCOO
gooooog
goOooooooOoOoobooooobbooooo
goo0o0o0ooboOooobboooobobooo
go0oooooooooobobooobo
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5.40DISPlayd 0 0 O

:DISPlay:WAVE:SVALue (Scale VALue)

oo gooOoOoODoOoON/OFFOOO/00000O0O
good

oad :DISPlay:WAVE:SVALue {<Boolean>}
:DISPlay:WAVE:SVALue?

O :DISPLAY:WAVE:SVALUE ON

:DISPLAY:WAVE:SVALUE? -> :DISPLAY:
WAVE:SVALUE 1

oo gooooooooooooooooobooooo
gooooooooooooooooobooooo
oooooooooobooooo

:DISPlay:WAVE:TLABel (Trace LABel)

oo OO0OOOODOOOON/OFFOODO/000OOO
oooo

od :DISPlay:WAVE:TLABel {<Boolean>}
:DISPlay:WAVE:TLABel?

O :DISPLAY:WAVE: TLABEL OFF

:DISPLAY:WAVE:TLABEL? -> :DISPLAY:
WAVE : TLABEL 0

oo ooooooooooooboooooobooooo
ooooooooooooboooooobooooo
ooooooooooboooooo

:DISPlay:WAVE: {U<x>|I<x>}

oo {00 |0D0YO0O0OOON/OFFO 0O /0000
ooood
od :DISPlay:WAVE:

{U<x>|I<x>} {<Boolean>}
:DISPlay:WAVE: {U<x>|I<x>}?
x>0104000000000)

O :DISPLAY:WAVE:Ul ON
:DISPLAY:WAVE:Ul? -> :DISPLAY:WAVE:
Ul 1

oo ooooooooooooboooooobooooo

ooooooooooooboooooobooooo
ooooooooooboooooo

00000000000 (<Function>)O 0O

(1) 0DDOoOoOoOooOOoOooOoOoOoDoOOoOoon
oooooo
:DISPlay[ :NUMeric]:NORMal:FCURsor
:DISPlay[ :NUMeric] :NORMal : ITEM<x>
:DISPlay:TRENd:NORMal: ITEM<x>[ :FUNCtion]
:FILE:SAVE:NUMeric:NORMal:...
:HCOPy:PRINter:DLISt:NORMal:...
:NUMeric[ :NORMal]: ITEM<x>
:STORe:NUMeric:NORMal:...

ooooooooo . 000ooooooog

gooooooo ooooooog
(Cooooooo)

URMS : Urms

UMN : Umean

ubcC : Udc

UAC : Uac

IRMS : Irms

IMN
IDC
IAC

P

S

Q
LAMBda
PH

FU

F
UPPeak
UMPeak
IPPeak
IMPeak
CFU
CFI
FFU
FFI

z

RS

XS

RP

XP

PC
TIME
WH
WHP
WHM
AH
AHP
AHM
ETA
SETA
F1

F2

F3

Fa
DURMS
DUMN
DUDC
DUAC
DIRMS
DIMN
DIDC
DIAC

Imean
Idc

e 20 0n T

Frequ
Freql
U+peak
U-peak
I+peak
|-peak
Cfu
Cfl
Ffu
Ffl

z

Rs

Xs

Rp

Xp

Pc
I-Time
Wp
Wp+
Wp-

q

q+

g-

n

1/
F1

F2

F3

F4
AUrms
AUmean
AUdc
AUac
Alrms
Almean
Aldc
Alac

(fu)
(fn)
(U+pk)
(U-pk)
(1+pk)
(I-pk)
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5.5 FLEOOOO

FILEDODODOOOOoOoOooOoooobooboooooo
gboboooOrLEDOOOOOOOODOODOODOOOOOOOODOOn

)

N>
-.@L-.( DRIVe )—f <Space>

E

v.(MDIRectorb——l Sp |—.| Fi

v—(CDIHectory)——l <Space> |——| Fil

PATH ?

)
——@L—.(ANAMing

IM 760151-17

|
1
!
J
!
J
).
- -
O
0
s—(COMMenI)T-l <Space> |—-| <String> : O
o—r .
o) O
( 9 0
O (e
)
( L
TRACe )— x> |
<X>
)
( L
Space> |-—f Fiename: |
—-l <Space> ASCii )
o
N\
)
N
—o( ALL )—-l <Space> OFF
(==
u—(ELEMenI)—m <Space>
M= SIGMC )}
J<N: I i 1 | <s
L J 1 b
()
S
+( ABORt }
(7)
J
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S50FILED OO0

o s
2
O —{ oo |—{Frename}
~(Fawave ) —{ <Space |—fFierame:
»—( ABORt }
)
e !
O ) —{Specer |—{Fenamer]
()
- I
—o( TIFF )—,——l <Space> |——|<.‘ :
)
o 3
ON-Crer D] o }
)
o 3
© ASCii <Space> |—s] <Fi }
~(_FORMat )—+ <space> |—=(_ HD14 )
(7).
®
:FILE? :FILE:DELete:SETup
oo gobooooboooobooobooobooog oo gooooooobooboobon
goono oo :FILE:DELete:SETup {<Filename>}
oo :FILE? ] :FILE:DELETE:SETUP "SETUPL"
O :FILE? -> (0 :FILE:SAVE?00000O0O0O) oo gooooboooobobooobboooboooo
oo
:FILE:CDIRectory
oo 0000000000 00O0OoOon :FILE:DELete:WAVE: {BINary |ASCii|FLOat}
oo :FILE:CDIRectory {<Filename>} oo gooooooobobooboboonog
<Filename>0 0O 0O OO0 oo :FILE:DELete:WAVE: {BINary|ASCii |
0 :FILE:CDIRECTORY "IMAGE" FLOat} {<Filename>}
oo 0o0oo0o0ooOooOooooooot'oooo ] :FILE:DELETE:WAVE:BINARY "WAVEL"
god oo gooooboooobobooobboooboooo
oo
:FILE:DELete:IMAGe: {TIFF|BMP|PSCRipt}
oo gboooboobooboooooboboobo :FILE:DRIVe
oo :FILE:DELete:IMAGe: {TIFF |BMP | oo 00o00ooooooooon
PSCRipt} {<Filename>} oo :FILE:DRIVe {FDO|
0 :FILE:DELETE:IMAGE: TIFF "IMAGEL" SCSI,<NRf>[ ,<NRf>] |NDO}
oo gooooopbooOooboooboooboog FDOOCOO0O0O0OO0OO0OO0ODOO
oo scsigscsigogn

:FILE:DELete:NUMeric: {ASCii|FLOat}

oo goo0oobooooooooooo
oo :FILE:DELete:NUMeric: {ASCii|
FLOat} {<Filename>}
O :FILE:DELETE:NUMERIC:ASCII "NUM1"
oo gooooopbooOooboooboooboog
oo

O0O0<NRf>0SCSID0O00007)
2000<NRF>00000000(0009)
NDOO OO OOOOD0D0O0O

O :FILE:DRIVE FDO

oo 000000000000000000000
O02000<NRfE>0000000000

:FILE:FORMat

oo 00000000 0oD0oDO0o000oOoOoooooao
oad

oo :FILE:FORMat {HD14}

| :FILE:FORMAT HD14
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S50FILED OO0

:FILE:FREE? :FILE:SAVE?
0o 000000ooooo((yte)DODOOOODO oo Jo0d0ooboOoooboooooboooooono
0o ooooa
oo :FILE:FREE? oo :FILE:SAVE?
O :FILE:FREE? -> 163840 O :FILE:SAVE? -> :FILE:SAVE:
ANAMING 1;COMMENT "" ; WAVE:
:FILE : LOAD : ABORt TYPEBINARY; : FILE : SAVE : NUMERIC:
o0 0o0o000oOoOooooooooo TYPE ASCII;NORMAL:ELEMENTI1 1;
o0 :FILE:LOAD:ABORt ELEMENT2 0;ELEMENT3 0;ELEMENT4 0;
O :FILE :LOAD:ABORT SIGMA 0;SIGMB 0;SIGMC 0;URMS 1;
UMN 1;UDC 1;UAC 1;IRMS 1;IMN 1;
:FILE:LOAD:FGWave IDC 1;IAC 1;P 1;S 1;0Q 1;LAMBDA 1;
0o 00oo0oO0O0O000000O0O000000 PHI 1;FU 1;FI 1;UPPEAK 1;UMPEAK 1;
0oooooooooon IPPEAK 1;IMPEAK 1;CFU 1;CFI 1;
o0 :FILE:LOAD:FGWave {<Filename>} FFU 1;FFI 1;Z 1;RS 1;XS 1;RP 1;
O :FILE:LOAD:FGWAVE "FGWAVEL" XP 1;PC 1;TIME 0;WH O;WHP O;WHM 0;
oo 0000000000000000000000 AH 0;AHP 0;AHM O;ETA 0;SETA 0;F1 0; S
oo F2 0;F3 0;F4 0;DURMS 0;DUMN O0;
DUDC 0;DUAC 0;DIRMS 0;DIMN 0; B
:FILE:LOAD:SETup DIDC 0;DIAC 0 O
0o O0o0o0b0O0o0ooooooboooa O
oo :FILE:LOAD:SETup {<Filename>} :FILE:SAVE:ABORt B
0 :FILE:LOAD:SETUP "SETUPL" oo boboooooooooooo
oo 0000000000000000000000 oo :FILE: SAVE: ABORt
ooo O :FILE:SAVE : ABORT
godooooooo0ooobooboboooooo
:FILE:SAVE:ANAMing
:FILE:MDIRectory oo 0000000000000000000000
oo 0000000000000 oo/bbbDb0ODDDO0
00 :FILE:MDIRectory {<Filename>} oo :FILE:SAVE:ANAMing {<Boolean>}
<Filename>0 0000000 *FILE:SAVE: ANAMing?
O :FILE:MDIRECTORY "TEST" U :FILE:SAVE : ANAMINGON
:FILE:SAVE: ANAMING? —> : FILE: SAVE:
:FILE:PATH? ANAMING 1
oo ogobooodoooooooooooooon
0oo :FILE:SAVE:COMMent
0o :FILE:PATH? oo Jod00oO0o0ooooOooboooooooa/so
O :FILE:PATH? -> "FDO¥IMAGE" oooooooo
oo :FILE:SAVE:COMMent {<O0 00>}
:FILE:SAVE:COMMent?
<gdOoO0d=g0300000
O :FILE:SAVE:COMMENT "CASEL"
:FILE:SAVE:COMMENT? -> :FILE:SAVE:
COMMENT "CASEL"
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S50FILED OO0

:FILE:SAVE:NUMeric?

oo

oo
|

oo

gooooopbooOooboooboooboog
oooooooooo
:FILE:SAVE:NUMeric?
:FILE:SAVE:NUMERIC? ->

:FILE:SAVE :NUMERIC:TYPE ASCITI;
NORMAL:ELEMENT1 1;2ELEMENT2 0;
ELEMENT3 0;ELEMENT4 0;SIGMA 0;
SIGMB 0;SIGMC 0;URMS 1;UMN 1;UDC 1;
UAC 1;IRMS 1;IMN 1;IDC 1;IAC 1;P 1;
S 1;0 1;LAMBDA 1;PHI 1;FU 1;FI 1;
UPPEAK 1;UMPEAK 1;IPPEAK 1;

IMPEAK 1;CFU 1;CFI 1;FFU 1;FFI 1;

Z 1;RS 1;XS 1;RP 1;XP 1;PC 1;

TIME O;WH O;WHP O;WHM O;AH 0;AHP 0;
AHM 0;ETA 0;SETA 0;F1 0;F2 0;F3 0;
F4 0;DURMS 0;DUMN 0;DUDC 0;DUAC O0;
DIRMS 0;DIMN 0;DIDC 0;DIAC O
gooooopbooOooboooboooboog
gooooopbooOooboooboooboog
gobo0ooooooooooooo

:FILE:SAVE:NUMeric[ :EXECute]

oo
oo

goooooooooboooooo
:FILE:SAVE:NUMeric
[ :EXECute] {<Filename>}
:FILE:SAVE:NUMERIC:EXECUTE "NUML"
goooOooooOoOoOoOoOoooooooooo
ooo
ooo0opoOoOoooOoooooooboooooo
goooOooooOoOoOoOoOoooooooooo
goooooopooOoOoOoooooooooo
gobooooboooooooooooo

:FILE:SAVE:NUMeric:NORMal?

oo

oo
O

oo

gobooooboooobooobooobooog
gboboooooooooboooobob
:FILE:SAVE:NUMeric:NORMal?
:FILE:SAVE:NUMERIC:NORMAL? ->
:FILE:SAVE :NUMERIC:NORMAL:

ELEMENT1 1;ELEMENT2 0;ELEMENT3 0;
ELEMENT4 0;SIGMA 0;SIGMB 0;SIGMC 0;
URMS 1;UMN 1;UDC 1;UAC 1;IRMS 1;
IMN 1;IDC 1;IAC 1;P 1;S 1;Q 1;
LAMBDA 1;PHI 1;FU 1;FI 1;UPPEAK 1;
UMPEAK 1;IPPEAK 1;IMPEAK 1;CFU 1;
CFI 1;FFU 1;FFI 1;Z 1;RS 1;XS 1;

RP 1;XP 1;PC 1;TIME O;WH O;WHP O0;
WHM O;AH O0;AHP 0;AHM O;ETA O;

SETA 0;F1 0;F2 0;F3 0;F4 0;DURMS O0;
DUMN 0;DUDC 0;DUAC 0;DIRMS 0;

DIMN 0;DIDC 0;DIAC 0
gobooooboooobooobooobooog
gobooooboooobooobooobooog
gbobooboobooooooooono

:FILE:SAVE:NUMeric:NORMal :ALL

0od

0od

goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
OODO0OON/OFFO O O0DODOODDO
:FILE:SAVE:NUMeric:NORMal:

ALL {<Boolean>}

:FILE:SAVE :NUMERIC:NORMAL:ALL ON
goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
goo0o0o0ooooobooboobo

:FILE:SAVE:NUMeric:NORMal: {ELEMent<x> |
SIGMA|SIGMB|SIGMC}

od

od

od

joddddodooooooooooooooo

OO0{00o0oUoo0ooOoo |zA|zB|ZClOODO

ON/OFFO0 O O/00000O0DODOO

:FILE:SAVE:NUMeric:NORMal:

{ELEMent<x>|SIGMA|SIGMS |

SIGMC} {<Boolean>}

:FILE:SAVE:NUMeric:NORMal:

{ELEMent<x>|SIGMA|SIGMB|SIGMC}?

x>0 104000000000)

:FILE:SAVE :NUMERIC : NORMAL:

ELEMENT1 ON

:FILE:SAVE :NUMERIC : NORMAL:

ELEMENT1? -> : FILE: SAVE : NUMERIC:

NORMAL : ELEMENT1 1

00 :FILE:SAVE:NUMeric:NORMal:
siGMB 00O 0/0000000000C0OO
ooooob20000000000000

00 :FILE:SAVE:NUMeric:NORMal:
sicMcOOO0O0O/0000000000O0O
ooooos3goooooooooooo

gooooooooboooboOobooooOoooo
ooooooooooooooooooooo
oobooooboooooooooooo

:FILE:SAVE:NUMeric:NORMal : PRESet<x>

0od

0od

jofjooooooooooooooooooo
jofjooooooooooooooooooo
ON/OFFO OODOOO0DOOODOOOOOOooOoO
oo
:FILE:SAVE:NUMeric:NORMal :PRESet<x>
<x>0102@Co0o0oocoooooo)
:FILE:SAVE :NUMERIC:NORMAL:PRESET1
gooooooooobooOOo0ooooooooo
ooooooooooooooooooooo
ooooooo
gooooooooobooOOo0ooooooooo
ooooooooooooooooooooo
oooooooooooooooooo
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S50FILED OO0

:FILE:SAVE:NUMeric:NORMal:<[J OO OO OOO

ooo>

od odooooooooooooooboobooooo
00000000000 O0O0ON/OFFO OO /O
gooooooo

oo :FILE:SAVE:NUMeric:NORMal:<0 000
goOdboDbO0Od> {<Boolean>}
:FILE:SAVE:NUMeric:NORMal:<0 OO0
goooooos>z
<00000000000>0 {URMS|UMN |
UDC|UAC|IRMS|...}(DISPlay0 00O QOQOQ
0ooooooooo@ooon)

| :FILE:SAVE:NUMERIC : NORMAL:URMS ON
:FILE:SAVE:NUMERIC : NORMAL:URMS? ->
:FILE:SAVE:NUMERIC : NORMAL:URMS 1

od odooooooooooooooboobooooo
odooooooooooooooboobooooo
oooooooooooboooooo

¢:FILE:SAVE:NUMeric:TYPE

oo 00o0000o00oOobD0ooOooOo/00o0oog
ooo

0o :FILE:SAVE:NUMeric:TYPE {ASCii|
FLOat}
:FILE:SAVE:NUMeric:TYPE?

| :FILE:SAVE:NUMERIC: TYPE ASCII

:FILE:SAVE:NUMERIC:TYPE?->
:FILE:SAVE:NUMERIC:TYPE ASCII

od odooooooooooooooboobooooo
odooooooooooooooboobooooo
oooooooooooboooooo

tFILE:SAVE:SETup|[ :EXECute]

oo gobobooooooooooooo
oo :FILE:SAVE:SETup
[ :EXECute] {<Filename>}
O :FILE:SAVE:SETUP:EXECUTE "SETUP1"
oo goboooooboooobooooobooog
oogd

ooooooooooooooobooooDoo

:FILE:SAVE:WAVE?

oo gooooooooooooooboooboobooobooo
oooooooooooo

oo :FILE:SAVE:WAVE?

g :FILE:SAVE:WAVE? -> :FILE:SAVE:
WAVE:TYPE BINARY

oo gooooooooooooooboooboobooobooo

gooooooooooooooboooboobooobooo
gooOooooooobooooo

:FILE:SAVE:WAVE[ : EXECute]

oo goOooo0ooOoboboboboooo
oad :FILE:SAVE:WAVE
[ :EXECute] {<Filename>}
O :FILE:SAVE:WAVE:EXECUTE "WAVE1l"
oo goOooooooOoOoobooooobbooooo
good

ooooOooooooooooooooooo

gooooooooboooooooooooo
goooooooooooooooooboooo
gooOooooooooooooooo

:FILE:SAVE:WAVE : TRACe

oad jdoooooooooooooooo/oDoon
ogoooo
oo :FILE:SAVE:WAVE: TRACe {U<x>|I<x>}

:FILE:SAVE:WAVE:TRACe?
<>0104000000000)

0 :FILE:SAVE:WAVE:TRACE Ul
:FILE:SAVE:WAVE:TRACE? ->
:FILE:SAVE:WAVE:TRACE Ul

oo 00000000000 0000(:FILE:

SAVE:WAVE:TYPE)O OFLOatD OO OO0
0000000 {BINary|ASCii}O OO
goooooNOOOOOOobOobooDbOoD
gooooog
goOo0o0o0obOO0bOobOOobOobooboooobo
goooooooooooooooboobo
goooooooooooooooboobo

:FILE:SAVE:WAVE:TYPE

oo ooooooooooooooooo/0booO
ooooo

od :FILE:SAVE:WAVE:TYPE {BINary|ASCii|
FLOat}
:FILE:SAVE:WAVE:TYPE?

a :FILE:SAVE:WAVE:TYPE BINARY

:FILE:SAVE:WAVE:TYPE?->
:FILE:SAVE:WAVE:TYPE BINARY

oo jddddddodoooooooooooooo
jddddddodoooooooooooooo
goboooooocoooooooo
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5.6 HCOPyU U OO

HCoPyD OO DOODODOODOODOODOOO(@MUOOOO)§ooOooOooOooOoOoOoOoOoOoOoOoOoOoODoOOO

00000000COPYOMENU(SHIFT+COPY) D U OO OO0 O0O0Ooooooooooooooooog

()

-0k

N

—=( EXECute )
= ABORt )}

»( DIRection

<Space>

PRINter )

NETPrint

-
—( EXECute )

~>QNFOrmation <Space>

QO

()

G0k

——( ALL )——l <Space>

<x>

w(ELEMent)—m—

= SIGMC }

OFF
v D
<Space> OFF
=
(?)
N

L

Nor

OFF

et

)
A
)
A
o)
S

G

-k

——CANAMing <Space>

= NAME )—r-| Sp

\.(COMMent)—r-l <Space>

\-~( FORMat )—

——l <Space>

b=t

©)
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5.60 HCOPyO O O O

)
2

coLor <Space> OFF )
.‘
(?)
S
(COMPression) [ <Space>

Iq

]

ofe

()
N

T <Space>

o)

T

©OXO)

»(COMMent)T-| <Space> |—.| <String> I I

@
O )
:HCOPYy? :HCOPy :BMP :COLor
oo 00oooooooooOobOoboooboooa oad BMPOOOOOOOOOODOO/0000000O
gooooooooo oad
oo :HCOPy? oo :HCOPy:BMP:COLor {OFF|COLor |
O :HCOPY? -> :HCOPY: REVerse}
DIRECTION PRINTER;PRINTER:DLIST: :HCOPy : BMP: COLOT?
INFORMATION 1;NORMAL:ELEMENT1 1; 0 :HCOPY : BMP : COLOR COLOR
ELEMENT2 0;ELEMENT3 0;ELEMENT4 0; :HCOPY : BMP : COLOR? —> : HCOPY : BMP : COLOR
SIGMA 0;SIGMB 0;SIGMC 0;URMS 1; COLOR
UMN 1;UDC 1;UAC 1;IRMS 1;IMN 1;
IDC 1;IAC 1;P 1;S 1;Q0 1;LAMBDA 1; :HCOPy : BMP : COMPression
PHI 1;FU 1;FI 1;UPPEAK 1;UMPEAK 1; oad BMPOOOODOOOOODODOOOOODOOO
IPPEAK 1;IMPEAK 1;CFU 1;CFI 1; 0oOoo/000000000
FFU 1;FFI 1;Z 1;RS 1;XS 1;RP 1; oogd :HCOPy:BMP:COMPression {<Boolean>}
XP 1;PC 1;TIME O;WH O;WHP O0;WHM O; :HCOPy : BMP: COMPression?
AH 0;AHP 0;AHM O0;ETA 0;SETA 0;F1 0; O :HCOPY : BMP : COMPRESSION OFF
F2 0;F3 0;F4 0;DURMS 0;DUMN 0; :HCOPY : BMP : COMPRESSION? —> : HCOPY:
DUDC 0;DUAC 0;DIRMS 0;DIMN 0; BMP : COMPRESSION 0
DIDC 0;DIAC 0;:HCOPY: oo 0 0 (:HCOPy : BMP : COLor)[] {COLor |
COMMENT "THIS IS TEST." REVerse}] 00000000000
:HCOPy:ABORt :HCOPy :COMMent
oo goboboboooobbooooboooooo oo 000000000000000O0/00000
oo :HCOPy : ABORt ooog
g :HCOPY : ABORT oo :HCOPy:COMMent {<O0 00>}
:HCOPy :COMMent?
:HCOPy :BMP? <000=0250000@0O0000O0O2000
od BMPOUOUOODODOOOOODODOODOOOODOO oooog)
ooooooo 0 :HCOPY : COMMENT "THIS IS TEST."
oo :HCOPy : BMP? :HCOPY : COMMENT? -> :HCOPY:
0 :HCOPY : BMP? —> :HCOPY :BMP: COMMENT "THIS IS TEST."
COLOR COLOR ; COMPRESSION 0 od gooobobooobobooobbooooo
gooobooooooo
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:HCOPy:DIRection

oo gooooooooooooooo/ooooo
oooo

oo :HCOPy:DIRection {PRINter |FILE |
NETPrint}
:HCOPy:DIRection?

0 :HCOPY:DIRECTION PRINTER

:HCOPY:DIRECTION? -> :HCOPY:
DIRECTION PRINTER
oo O{prRINTer}0O0000O00O0@EOOODOOY
B5) 0 OOOOO0O00O0O
O{NeETPrint}00000000@OOO
oOdv/ciop0oooOooooo

:HCOPy:EXECute

od goobobooooboooobbooo

od :HCOPy:EXECute

O :HCOPY : EXECUTE

od gooboboooobooobbooooo

:HCOPy:FORMat

od goooooooooboboboboboooo
o/000000000

od :HCOPy:FORMat {TIFF|BMP|PSCRipt}
:HCOPy : FORMat ?

O :HCOPY : FORMAT TIFF

:HCOPY:FORMAT? -> :HCOPY:
FORMAT TIFF

oo OO0O0O0O0O (:HCcoPy:DIRection)d
OPRINterDOOOOOOOODOOOODOOO
oo

:HCOPy:PRINter?

oo 0000o0o0oo0oo0o0OUODOUODUOOOoOO
oooooooo

oo :HCOPy :PRINter?

a :HCOPY : PRINTER? -> (00 :HCOPy:PRINter:

DLISt?0000000)

:HCOPy:PRINter:DLISt?

0od jofjooooooooooooooooooo
gooboooobooooooooooo

oo :HCOPy :PRINter:DLISt?

ad :HCOPY :PRINTER:DLIST? ->

:HCOPY :PRINTER:DLIST: INFORMATION 1;
NORMAL:ELEMENT1 1;ELEMENT2 0;
ELEMENT3 0;ELEMENT4 0;SIGMA 0;
SIGMB 0;SIGMC 0;URMS 1;UMN 1;UDC 1;
UAC 1;IRMS 1;IMN 1;IDC 1;IAC 1;P 1;
S 1;0 1;LAMBDA 1;PHI 1;FU 1;FI 1;
UPPEAK 1;UMPEAK 1;IPPEAK 1;

IMPEAK 1;CFU 1;CFI 1;FFU 1;FFI 1;

Z 1;RS 1;XS 1;RP 1;XP 1;PC 1;

TIME O;WH O;WHP O;WHM O0;AH 0;AHP 0;
AHM O0;ETA 0;SETA 0;F1 0;F2 0;F3 0;
F4 0;DURMS 0;DUMN 0;DUDC 0;DUAC 0;
DIRMS 0;DIMN 0;DIDC 0;DIAC O

tHCOPy : PRINter:DLISt[ :EXECute]

od joddddodooooooooooooooo
oo :HCOPy:PRINter:DLISt[ :EXECute]

g :HCOPY :PRINTER:DLIST:EXECUTE

od oobOooooOooooooooooooono

:HCOPy:PRINter:DLISt:INFOrmation

od joddddodooooooooooooooo
oooooooooo/ooo0ooo/ooooo
oooo

oo :HCOPy:PRINter:DLISt:

INFOrmation {<Boolean>}
:HCOPy:PRINter:DLISt:INFOrmation?

g :HCOPY :PRINTER:DLIST: INFORMATION ON
:HCOPY :PRINTER:DLIST: INFORMATION?
-> :HCOPY:PRINTER:DLIST:
INFORMATION 1

:HCOPy:PRINter:DLISt:NORMal?

0od gobooooooooooooooobooo
gobooooooooooooooooo

0od :HCOPy:PRINter:DLISt:NORMal?

O :HCOPY :PRINTER:DLIST:NORMAL? ->

:HCOPY :PRINTER:DLIST :NORMAL:
ELEMENT1 1;ELEMENT2 0;ELEMENT3 0;
ELEMENT4 0;SIGMA 0;SIGMB 0;SIGMC 0;
URMS 1;UMN 1;UDC 1;UAC 1;IRMS 1;
IMN 1;IDC 1;IAC 1;P 1;S 1;Q 1;
LAMBDA 1;PHI 1;FU 1;FI 1;UPPEAK 1;
UMPEAK 1;IPPEAK 1;IMPEAK 1;CFU 1;
CFI 1;FFU 1;FFI 1;Z 1;RS 1;XS 1;

RP 1;XP 1;PC 1;TIME O;WH O;WHP O0;
WHM O;AH 0;AHP 0;AHM O0;ETA 0;

SETA 0;F1 0;F2 0;F3 0;F4 0;DURMS 0;
DUMN 0;DUDC 0;DUAC 0;DIRMS O0;

DIMN 0;DIDC 0;DIAC O
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:HCOPy:PRINter:DLISt:NORMal:ALL

oo gooooooooooooooboooboobooobooo
gboooooooooooobooboobooobooo
OoOoOoOooocoOOOoON/OFFOODOOCOOO

oo
oo :HCOPy :PRINter:DLISt:NORMal:
ALL {<Boolean>}
g :HCOPY :PRINTER:DLIST:NORMAL:ALL ON

:HCOPy :PRINter:DLISt:NORMal: {ELEMent<x> |
SIGMA|SIGMB|SIGMC}
od gobooooooooobooooooooooo
oo0oooOoOoo{oooooooooo
|ZA|ZB|ZC}O00OON/OFFO O O/0000
ooood
oo :HCOPy :PRINter:DLISt:NORMal:
{ELEMent<x>|SIGMA|SIGMB |
SIGMC} {<Boolean>}
:HCOPy :PRINter:DLISt:NORMal:
{ELEMent<x>|SIGMA|SIGMB|SIGMC}?
x>0104000000000)
] :HCOPY : PRINTER: DLIST : NORMAL:
ELEMENT1 ON
:HCOPY : PRINTER: DLIST : NORMAL:
ELEMENT1? -> :HCOPY:PRINTER:DLIST:
NORMAL: ELEMENT1 1
oo 0 O :HCOPy:PRINter:DLISt:NORMal:
sigMB0 00 0/00000000000O
00oo00020000000000000
0 O :HCOPy:PRINter:DLISt:NORMal:
sigMcO0 00 0/00000000000O0
00o00030000000000000

tHCOPy:PRINter:DLISt:NORMal : PRESet<x>

oo ooooooooooooooooooboooo
ooooooooooooooooooooo
OOoOO00O0OON/OFFO 0 OO0O0OODOODODOO
gooooooo

oo :HCOPy :PRINter:DLISt:NORMal:
PRESet<x>
<x>0102@0000000000)

O :HCOPY : PRINTER: DLIST : NORMAL : PRESET1

oo ooooooooooooooooooboooo
ooooooooooooooooooboooo
ooo

:HCOPy: PRINter:DLISt:NORMal:<J 00000

oooo>

oo gboooooooooooooocoooboooo
000000000000 ooO0o0ooOoN/
OFFOO0O0O/0000DO0DOOOO

oo :HCOPy:PRINter:DLISt:NORMal:<0 00O
0o00o0dboDbOO> {<Boolean>}
:HCOPy:PRINter:DLISt:NORMal:<0 00O
ooooooos>z
<J0000000000>0 {URMS|UMN |
UDC|UAC|IRMS|...}(DISPlay0 00O Q0QOQ
0ooooooooo@ooo)

a :HCOPY : PRINTER : DLIST : NORMAL : URMS ON
:HCOPY : PRINTER : DLIST : NORMAL : URMS ?
-> :HCOPY:PRINTER:DLIST:NORMAL:
URMS 1

:HCOPy:PRINter :FEED

. IIH'I

oo goooOoOoooooooooooo

od :HCOPy : PRINter :FEED

] :HCOPY : PRINTER FEED

oo goooO0oDooOooooOoooooooo

:HCOPy:SAVE?

oo jofd0dddooooooooooooooo
oooo

oo :HCOPy : SAVE?

O :HCOPY:SAVE? -> :HCOPY:SAVE:

ANAMING 1;NAME "DATAL";
COMMENT "CASE1l"

:HCOPy : SAVE : ANAMing

0o gooooooooooooooooooooo
0o/000000ooo

oo :HCOPy:SAVE:ANAMing {<Boolean>}
:HCOPy : SAVE : ANAMing?

O :HCOPY : SAVE : ANAMING ON

:HCOPY : SAVE : ANAMING? -> :HCOPY:
SAVE : ANAMING 1

:HCOPy :SAVE :COMMent

oo Jjo0o0o0o0o0o0DOooooooooooo/
ogooooooon
og :HCOPy: SAVE:COMMent {<[O 0 0>}

:HCOPy : SAVE : COMMent?
<gO0O=g250000
] :HCOPY : SAVE : COMMENT "CASE1l"
:HCOPY : SAVE : COMMENT? ->
:HCOPY : SAVE : COMMENT "CASE1l"
oo gboobOoboboboobobooboooooboo
gboooobogoooooono
00000000 (:HCOPY:DIRection)O
OFILEDO D 0O00DO0ODOODOD
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:HCOPy : SAVE : NAME

oo gooooooooooo/booboooooo

oo :HCOPy:SAVE:NAME {<Filename>}
:HCOPy : SAVE : NAME ?

| :HCOPY : SAVE:NAME "DATAl"

:HCOPY:SAVE:NAME? ->
:HCOPY : SAVE:NAME "DATA1l"

oo oooooooooooo
000o00ooogg:rFIire:DRIVEOODODODO
000000000 :FILE:CDIRectoryll [

goooooooooooooooooo
000 :FILE:PATH?00000000O0O

oo
Oo0oooOooooooooooooooooo
ooo
:HCOPy:TIFF?
oo TIFFOOOOOOOOOO0O0O0OOOO0ODOBb0O0O0
coooooo
oo :HCOPy:TIFF?
O :HCOPY:TIFF? -> :HCOPY:TIFF:

COLOR COLOR

:HCOPy:TIFF:COLor

oo TFFOOOOOODOODOOO/0000000
oo

0o :HCOPy:TIFF:COLor {OFF |COLor |
REVerse}

:HCOPy:TIFF:COLoOr?

ad :HCOPY:TIFF:COLOR COLOR

:HCOPY:TIFF:COLOR? ->
COLOR COLOR

:HCOPY:TIFF:

5.7 HOLDUOOO

HOLDOOODOOOOooOoOooooooooboooobooooooogo
goboooooboHoLDODOOODOOOOODOOOO0ODOOOObOObODOODOO

:HOLD <Space>

<@
:HOLD
oo oo0ooo@uooooo)yoopooooog/
ooooooooo
od :HOLD {<Boolean>}
:HOLD?
O :HOLD OFF

:HOLD? -> :HOLD 0
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IMAGeD OO DO0OOOODDOOOODOOOOOOODOODOOODOOOO
gboboboobooboobobobobobooooobooon

(D=

A

2
FORMat ) <Space> w_(_/
(o )

. = 7)
N\

L.( COLor H <Space>

OFF }——

\ ®
- @
: IMAGe?
oo goooooooOooboooboooboog
gooooog
oo :IMAGe?
0 :IMAGE? -> :IMAGE:FORMAT TIFF;
COLOR OFF
: IMAGe:COLor
oo goooooooooOoOoOoOoOoOoOoOoOo/00
gooogoog
oo :IMAGe:COLor {OFF |COLor |REVerse}
:IMAGe:COLor?
O : IMAGE : COLOR OFF
: IMAGE : COLOR? -> :IMAGE:COLOR OFF
:IMAGe:FORMat
oo goooooooooooooooooooor/
goooooooo
oo :IMAGe:FORMat {TIFF|BMP}
: IMAGe : FORMat ?
O : IMAGE : FORMAT TIFF
: IMAGE: FORMAT? -> :IMAGE:
FORMAT TIFF
:IMAGe:SEND?
oo go0oooooooooobobooobo
oo : IMAGe:SEND?
0 :IMAGE:SEND? -> #6(60 00000 ) OO
oooooono)
oo O<000000o0>0000000{2+6+00
Oo+1(0000)ooo
O<O0O0o0oOOob0OoOo>0000004-e0000
goooooobooo
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IMPedanceD OO OOOOOOOOOOOOOOOOOOOODOODOOO
0000000OIMPEDANCED DC CONTROL(SHIFT+IMPEDANCE) D D D 0000 O0O0O0OOOOOOOOOOO
gooog

o o

{ )

:IMPedance ——( STATe <Space>

,-—|
@L
N\
O1{=
()
A\
()
o/
()
0 ~
—, 5
STATe —] <Space> OFF )
(CoN )
()
S
TYPE )_,_-| <Space> ACDC )_—z

()

S

=(?)

o/

© EIa

)
N\
FREQuency RANGe <Space> MHZ
VALue )T-l <Space> |_.| <NRf> }_h

)
N4
)
=/
s-( OFFSet )T.l <Space> |—-| <NRf> I
) J
S
\—(AMPLitude)T-I <Space> |_.| <NRf> I
o
\\g
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DCControl

~

)
Lol o T

<Space> |—-| <NRf> IJ

()
N\
»( LIMit )_T-l <Space> |_-| <NRf> .
()
S

= _HOLD }—~—f

<Space>

N
NORMal D;

©

»(WAVeform)—-,—-'

<Space> SINE )_.—4

PATTern

D)

OO

N\
——( OUTPut <Space>

o
»( OFFSet )_T-l <Space> |_.| <NRf>

(?)

]

N\
)
2

H

DETaile RATio

<Space> |—-| <NRf> }ﬁ
A
A\

<Space> |—[ <NRi> |_.®_.| <NRf>

)—T-I
T )_T_|
)T

7
N\
HOLD <Space> NORMal
)
N\
)
N\
7
N\
) ~
A\
( ™
ALL <Space> HIGH
Low
ELEMent <> <Space> HIGH
Low
=)
N4
=)
N4
( 2
ALL <Space> |—f <NRB> |—
ELEMent <x> <Space> |_.| <NRf> )7_/
=)
N\
=)
N\
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<Space> AUTO

ELEMent <x> <Space> AUTO

: IMPedance?

oo gofdoooOoooopooboopoooooooo
ooooooo

oo :IMPedance?

O : IMPEDANCE? -> :IMPEDANCE:STATE:1;

MEASURE: TYPE STABLE; : IMPEDANCE:
SUPERPOSE :OUTPUT:STATE 0; TYPE DCj;:
IMPEDANCE : SUPERPOSE : FREQUENCY :
RANGE HZ;VALUE 1.0002; : IMPEDANCE:
SUPERPOSE:OFFSET 0.000;

AMPLITUDE 0.000;DETAILE:

RATIO 1.000;LIMIT 1000.000,
-1000.000;HOLD NORMAL;

WAVEFORM SINE; : IMPEDANCE : DCCONTROL:
OUTPUT O0;OFFSET 0.000;DETAILE:
RATIO 1.000;LIMIT 1000.000,
-1000.000;HOLD NORMAL; : IMPEDANCE:
VOLTAGE : TERMINAL : ELEMENTS5 HIGH; :
IMPEDANCE : VOLTAGE : ESTIMATE :
ELEMENT5 0.0010; : IMPEDANCE : VOLTAGE:
RANGE : ELEMENT5 AUTO

=(7)
\\g
=)
N\
1
O e | |
—=(_ INITialize }
=)
N
) rﬂ
1
CURRent <Space> |_-| <NRf> |
=)
S

:IMPedance:CURRent :MRANge? (Measured

RANge)
od jdfjjddddiooooooooooooo
oo
oo :IMPedance:CURRent : MRANge? {<NRf>}
<NRf>0 1050 000000000O0ODOODO)
ad (COoODOo0oOoOoooooODoOEs)o20300
oooooooooo)
: IMPEDANCE : CURRENT : MRANGE? 2
-> 5.000E+00
: IMPEDANCE : CURRENT : MRANGE ?
-> 5.000E+00,5.000E+00
od gooooooooboOoOoOooooooooo

od

gooooooooboooboOobooooOoooo
ooooooooooooooooooooo
ooooooooooooooooooooo
goood

: IMPedance:DCControl?

od jofjddddgoooooooooooooo
gooo

oo : IMPedance:DCControl?

g : IMPEDANCE : DCCONTROL? ->

: IMPEDANCE : DCCONTROL : OUTPUT O0;
OFFSET 0.000;DETAILE:RATIO 1.000;
LIMIT 1000.000,-1000.000;

HOLD NORMAL

:IMPedance:DCControl:DETaile?

00 jodddddooooo0oooooooooo
gopooooooo

oo :IMPedance:DCControl:DETaile?

ad : IMPEDANCE : DCCONTROL : DETAILE? ->

: IMPEDANCE : DCCONTROL : DETAILE:
RATIO 1.000;LIMIT 1000.000,
-1000.000;HOLD NORMAL
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:IMPedance:DCControl:DETaile:HOLD

oogd oopDoooooooooooo@oooon
000o0ooooooo)yooo/ooooooon
00

oo :IMPedance:DCControl:DETaile:

HOLD {NORMal |OFF}

:IMPedance:DCControl:DETaile:HOLD?
O : IMPEDANCE : DCCONTROL : DETAILE :

HOLD NORMAL

: IMPEDANCE : DCCONTROL : DETAILE : HOLD?

-> :IMPEDANCE :DCCONTROL:DETAILE:

HOLD NORMAL

:IMPedance:DCControl :DETaile:LIMit

od oooooooooooO/O0O0OO0OO0O0O0OOOO

oo :IMPedance:DCControl:DETaile:
LIMit {<NRf>,<NRf>}
:IMPedance:DCControl:DETaile:LIMit?
<NRf>[ 00 1000.00000 1000.000(A)

] : IMPEDANCE : DCCONTROL : DETAILE :
LIMIT 1000,-1000
: IMPEDANCE : DCCONTROL : DETAILE : LIMIT?
-> :IMPEDANCE :DCCONTROL:DETAILE:
LIMIT 1000.000,-1000.000

od gooooooooobogooo

:IMPedance:DCControl:DETaile:RATio

oo ooooopoooooooooywvyooooo
ooooo/0oo0ocoooooo
oo :IMPedance:DCControl:DETaile:

RATio {<NRf>}
:IMPedance:DCControl:DETaile:RATio?
<NRf>[ 0.0010 1000.000

] : IMPEDANCE : DCCONTROL : DETAILE :
RATIO 1
: IMPEDANCE : DCCONTROL : DETAILE : RATIO?
-> :IMPEDANCE :DCCONTROL:DETAILE:
RATIO 1.000

: IMPedance:DCControl :OFFSet

00 ooo0oooooooooo/0000000
00
oo :IMPedance:DCControl:0FFSet {<NRf>}

:IMPedance:DCControl:OFFSet?
<NRf>0 0 1000.0000] 1000.000(A)
O : IMPEDANCE : DCCONTROL : OFFSET 0
: IMPEDANCE : DCCONTROL : OFFSET? ->
: IMPEDANCE : DCCONTROL : OFFSET 0.000

: IMPedance:DCControl :OUTPut

oad O0OO0O0OO0OOON/OFFOODO/00000O0OO
oo
oad :IMPedance:DCControl:

OUTPut {<Boolean>}
:IMPedance:DCControl:OUTPut?

O : IMPEDANCE : DCCONTROL : OUTPUT ON
: IMPEDANCE : DCCONTROL : OUTPUT? ->
: IMPEDANCE : DCCONTROL : OUTPUT 1

: IMPedance:MEASure?

oo goooOOoDOOOOOFFTODODODODOO
oo

oo : IMPedance :MEASure?

] : IMPEDANCE : MEASURE? ->

: IMPEDANCE : MEASURE : TYPE STABLE

o1

:IMPedance :MEASure:ANALysis?

oo goooobooooobooooooooooon B
oo 0

oo : IMPedance :MEASure : ANALysis? 0

O : IMPEDANCE : MEASURE : ANALYSIS? -> B
NORMAL

oo goobooooooooooood

NORMalD OO O OO

wIDED OOOGOQoo
goboobooboocobcoooooboooboooo

oooooooooooo

: IMPedance:MEASure:ARRay?

oo jofd0dddooooooooooooooo
gooooo

oo :IMPedance:MEASure:ARRay? {<NRf>}
<NRf>010100(0 00 0)

O : IMPEDANCE : MEASURE : ARRAY? 1 -> 1

: IMPEDANCE : MEASURE : ARRAY? ->
1,2,5,10,-1,-1,...
oo 00000000000000000000
00000000000000001010000
00O00@OO00O0D0)Dooooon

: IMPedance:MEASure: TYPE

0o 00000000 oorFTOOO0O0O/0000
ooooo
oo :IMPedance:MEASure:TYPE {STABle|

MIDDle |FAST}
:IMPedance:MEASure:TYPE?

O : IMPEDANCE : MEASURE : TYPE STABLE
: IMPEDANCE : MEASURE : TYPE? ->
: IMPEDANCE : MEASURE : TYPE STABLE

IM 760151-17

5-39



5.90 IMPedancell 0 O O

:IMPedance[ : STATe]

oo 000000000000 0ON/OFFO O0O/0O
goboooogoo

oo :IMPedance[ : STATe] {<Boolean>}
:IMPedance:STATe?

O : IMPEDANCE : STATE ON

: IMPEDANCE: STATE? ->
: IMPEDANCE: STATE 1

: IMPedance:SUPerpose?

oo gofdoooOoooopooboopoooooooo
ooooooooooobo

od :IMPedance: SUPerpose?

O : IMPEDANCE : SUPERPOSE? ->

: IMPEDANCE : SUPERPOSE : OUTPUT:

STATE 0;TYPE DC; : IMPEDANCE:
SUPERPOSE : FREQUENCY : RANGE HZ;

VALUE 1.0002; : IMPEDANCE : SUPERPOSE :
OFFSET 0.000;AMPLITUDE 0.000;
DETAILE:RATIO 1.000;LIMIT 1000.000,
-1000.000; HOLD NORMAL; WAVEFORM SINE

:IMPedance: SUPerpose :AMPLitude

oo gdooobooooooooooooooovo
oooooooo
od :IMPedance: SUPerpose:

AMPLitude {<NRf>}
:IMPedance: SUPerpose:AMPLitude?
<NRf>[ 0.0000 2000.000(App)

O : IMPEDANCE : SUPERPOSE : AMPLITUDE 0
: IMPEDANCE : SUPERPOSE : AMPLITUDE? ->
: IMPEDANCE : SUPERPOSE :
AMPLITUDE 0.000

:IMPedance:SUPerpose:DETaile?

oo do0dooooooooooooooooooo
oooooooooobooooooo

oo :IMPedance:SUPerpose:DETaile?

O : IMPEDANCE : SUPERPOSE : DETAILE? ->

: IMPEDANCE : SUPERPOSE : DETAILE :
RATIO 1.000;LIMIT 1000.000,
-1000.000;HOLD NORMAL;WAVEFORM SINE

:IMPedance:SUPerpose:DETaile: HOLD
oo oo0ooooooooooooo@ooooo
ooooooooooooooooooo)yoo
O/0000oooboo
oo :IMPedance:SUPerpose:DETaile:
HOLD {NORMal |OFF|AC_OFF}
: IMPedance: SUPerpose:DETaile:HOLD?
O : IMPEDANCE : SUPERPOSE : DETAILE :
HOLD NORMAL
: IMPEDANCE : SUPERPOSE : DETAILE : HOLD?
-> :IMPEDANCE:SUPERPOSE:DETAILE:
HOLD NORMAL

:IMPedance:SUPerpose:DETaile:LIMit

oo gooooooooooooooooooovzZo
gooooooo
0od :IMPedance:SUPerpose:DETaile:

LIMit {<NRf>,<NRf>}
:IMPedance:SUPerpose:DETaile:LIMit?
<NRf>0 0 1000.0000 1000.000(A)

ad : IMPEDANCE : SUPERPOSE : DETAILE:
LIMIT 1000,-1000
: IMPEDANCE : SUPERPOSE : DETAILE : LIMIT?
-> :IMPEDANCE:SUPERPOSE:DETAILE:
LIMIT 1000.000,-1000.000

0od gobooooooooboooooo

:IMPedance:SUPerpose:DETaile:RATio

od jdfjjddddiooooooooooooo
i(vy0ooooooooo/coooooooo
oo :IMPedance: SUPerpose:DETaile:

RATio {<NRf>}
:IMPedance: SUPerpose:DETaile:RATio?
<NRf>[0 0.0010 1000.000

g : IMPEDANCE : SUPERPOSE : DETAILE:
RATIO 1
: IMPEDANCE : SUPERPOSE : DETAILE : RATIO?
-> :IMPEDANCE : SUPERPOSE :DETAILE:
RATIO 1.000

: IMPedance:SUPerpose:DETaile:WAVeform

od goooooooooooooDooOoOOoO/O
gopoooooo
oo :IMPedance: SUPerpose:DETaile:

WAVeform {SINE|PATTern}
:IMPedance: SUPerpose:DETaile:
WAVeform?

g : IMPEDANCE : SUPERPOSE : DETAILE:
WAVEFORM SINE
: IMPEDANCE : SUPERPOSE : DETAILE:
WAVEFORM? -> :IMPEDANCE:SUPERPOSE:
DETAILE: WAVEFORM SINE

:IMPedance:SUPerpose:FREQuency?

oo gooooooooooooooooooooo
goobooooooooooooo

0od : IMPedance: SUPerpose: FREQuency?

ad : IMPEDANCE : SUPERPOSE : FREQUENCY? ->

: IMPEDANCE : SUPERPOSE : FREQUENCY :
RANGE HZ;VALUE 100.00

5-40

IM 760151-17



5.90 IMPedancell O O O

:IMPedance: SUPerpose: FREQuency : RANGe

oo gooooobooOoobboooboooboog
oov/0bopooooooo

oo :IMPedance: SUPerpose: FREQuency:
RANGe {MHZ|HZ|KHZ}
:IMPedance: SUPerpose:FREQuency:
RANGe?

O : IMPEDANCE : SUPERPOSE : FREQUENCY :
RANGE HZ
: IMPEDANCE : SUPERPOSE : FREQUENCY :
RANGE? -> :IMPEDANCE:SUPERPOSE:
FREQUENCY :RANGE HZ

:IMPedance:SUPerpose:FREQuency:VALue

od goooooooooooooooooooo/
ooooooooo
oo :IMPedance: SUPerpose:FREQuency:

VALue {<NRf>}
:IMPedance: SUPerpose:FREQuency:
VALue?
<NRf>[00.93130891.28 (mHz)(OOOOOO
OmHzOOO)
<NRf>[ 1.000200 992.06 (Hz) (0O OOOOO
HzOOO)
<NRf>01.11610 50.000 (kHz)(COOOOO
OkHzOOO)

] : IMPEDANCE : SUPERPOSE : FREQUENCY :
VALUE 1.0002
: IMPEDANCE : SUPERPOSE : FREQUENCY :
VALUE? -> :IMPEDANCE:SUPERPOSE:
FREQUENCY:VALUE 1.0002

:IMPedance:SUPerpose:0OFFSet

od godoooOoooopoopbpopoooooooo
oooo/00o0booobooo
oo :IMPedance: SUPerpose:0OFFSet {<NRf>}

:IMPedance: SUPerpose:OFFSet?
<NRf>[ 00 1000.0000 1000.000(A)
] : IMPEDANCE : SUPERPOSE : OFFSET 0
: IMPEDANCE : SUPERPOSE:OFFSET? ->
: IMPEDANCE : SUPERPOSE:OFFSET 0.000

:IMPedance:SUPerpose:OUTPut?

00 godooooooooooopoooooooo
oooooooooooooon

oo :IMPedance: SUPerpose:OUTPut?

0 : IMPEDANCE : SUPERPOSE : OUTPUT? ->

: IMPEDANCE : SUPERPOSE : OUTPUT :
STATE 0;TYPE DC

: IMPedance: SUPerpose:0OUTPut|[ : STATe]

oo 0000000000000 D0OON/OFFOO
O/000000000
oo :IMPedance: SUPerpose:OUTPut| :

STATe] {<Boolean>}

:IMPedance:SUPerpose:OUTPut : STATe?
O : IMPEDANCE : SUPERPOSE : OUTPUT:

STATE ON

: IMPEDANCE : SUPERPOSE : OUTPUT : STATE?

-> :IMPEDANCE:SUPERPOSE :OUTPUT:

STATE 1

:IMPedance:SUPerpose:OUTPut: TYPE

oo joddddddoooooooooooooo
0/000000000
od :IMPedance: SUPerpose:OUTPut:

o1

TYPE {ACDC|DC}
:IMPedance: SUPerpose:OUTPut : TYPE?

O : IMPEDANCE : SUPERPOSE : OUTPUT : TYPE DC
: IMPEDANCE : SUPERPOSE : OUTPUT : TYPE?
-> :IMPEDANCE : SUPERPOSE : OUTPUT:
TYPE DC

Ooooooo

:IMPedance:VOLTage?

oo jdddddddodoooooooooooo
goooooooooooooo

od :IMPedance:VOLTage?

] : IMPEDANCE :VOLTAGE? -> :IMPEDANCE:

VOLTAGE : TERMINAL : ELEMENT5 HIGH; :
IMPEDANCE : VOLTAGE : ESTIMATE :
ELEMENT5 0.0010; : IMPEDANCE : VOLTAGE :
RANGE : ELEMENT5 AUTO

:IMPedance:VOLTage:ESTimate?

0o goooocoooooooooooooooo
0o0oo0oo0oooooooooooo

oo :IMPedance:VOLTage:ESTimate?

O : IMPEDANCE : VOLTAGE :ESTIMATE? ->

: IMPEDANCE : VOLTAGE : ESTIMATE :
ELEMENT5 0.0010

:IMPedance:VOLTage:ESTimate[ :ALL]

0o goooocoooooooooooooooo
0o0oo0oo0oooooooooooo
oo :IMPedance:VOLTage:ESTimate[ :

ALL] {<NRf>}
<NRf>[10.0001[1 10000.0000(Q)

a : IMPEDANCE : VOLTAGE : ESTIMATE :
ALL 0.001

IM 760151-17
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:IMPedance:VOLTage:ESTimate : ELEMent<x>

oo oooooooooooooooooooooo
goooooo/ooobooooboo
oo :IMPedance:VOLTage:ESTimate:

ELEMent<x> {<NRf>}
:IMPedance:VOLTage:ESTimate:
ELEMent<x>?
<>0105000000000000000)
<NRf>[ 0.00010 10000.0000(£2)

O : IMPEDANCE : VOLTAGE : ESTIMATE :
ELEMENTS5 0.001
: IMPEDANCE : VOLTAGE : ESTIMATE :
ELEMENT5? -> :IMPEDANCE:VOLTAGE:
ESTIMATE:ELEMENT5 0.0010

:IMPedance:VOLTage:INITialize

oo oooooOoboooooooooooo
od :IMPedance:VOLTage:INITialize
O : IMPEDANCE : VOLTAGE : INITIALIZE

: IMPedance:VOLTage :MRANge? (Measured

RANge)

oo oooooooooooooooooooooo
oo

oo :IMPedance:VOLTage :MRANge? {<NRf>}
<NRf>0 1050 0000000000000)

O (Ooo0OD0OO00000O00000 (Termnal=High)
O203000000000000)
: IMPEDANCE : VOLTAGE : MRANGE? 2 ->
150.0E-03
: IMPEDANCE : VOLTAGE : MRANGE? ->
150.0E-03,150.0E-03

oo Oo00oooOoooOoooooooooooooo

oo

goooooooboooOoOoooooooooooo
goooooooooooooooooooo
goooooooooooooooooooo
ooooo

:IMPedance:VOLTage : RANGe?

oo gdodooooooooooooooooooo
oooooooooooooo

oo :IMPedance:VOLTage :RANGe?

O : IMPEDANCE : VOLTAGE : RANGE? ->

: IMPEDANCE : VOLTAGE : RANGE :
ELEMENT5 AUTO

:IMPedance:VOLTage:RANGe[ :ALL]

: IMPedance:VOLTage : RANGe : ELEMent<x>

oo goooocoOooooooooooooooo
oooooo/o0ooooooog
0od : IMPedance:VOLTage :RANGe:

ELEMent<x> {AUTO|FIX}
:IMPedance:VOLTage :RANGe:
ELEMent<x>?
<>0105{00000000000000)
ad : IMPEDANCE : VOLTAGE : RANGE :
ELEMENT5 AUTO
: IMPEDANCE : VOLTAGE : RANGE :
ELEMENT5? -> :IMPEDANCE:VOLTAGE:
RANGE : ELEMENT5 AUTO

: IMPedance:VOLTage: TERMinal?

od jdfjdddddodooooooooooo
gooooooooooo

oo :IMPedance:VOLTage:TERMinal?

g : IMPEDANCE : VOLTAGE : TERMINAL? ->

: IMPEDANCE : VOLTAGE : TERMINAL:
ELEMENT5 HIGH

: IMPedance:VOLTage: TERMinal[ :ALL]

oo gooobobobobooboooooooooo
goooboooooobog

oo :IMPedance:VOLTage:TERMinal[ :
ALL] {HIGH|LOW}

O : IMPEDANCE : VOLTAGE : TERMINAL : ALL
HIGH

: IMPedance:VOLTage: TERMinal : ELEMent<x>

oo gooooooooooooooooooooo
ooo/00000o0o0od
0od :IMPedance:VOLTage: TERMinal:

ELEMent<x> {HIGH|LOW}
:IMPedance:VOLTage: TERMinal:
ELEMent<x>?
<>0105{00000000000000)
ad : IMPEDANCE : VOLTAGE : TERMINAL:
ELEMENT5 HIGH
: IMPEDANCE : VOLTAGE : TERMINAL:
ELEMENT5? -> :IMPEDANCE:VOLTAGE:
TERMINAL:ELEMENT5 HIGH

oo oodooooooboooooooooooono
ogoooooooooooog
od :IMPedance:VOLTage :RANGe[ :
ALL] {AUTO|FIX}
[} : IMPEDANCE : VOLTAGE : RANGE : ALL. AUTO
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INPUtD O OODOOOOO0O0OO0O00O0O00OO0bOObO0OO0b0OooDOOgn
O0D00O00OOO0INPUTOODUOUORANGED SCALINGOWIRINGO FILTEROSYNC SRCOOODONULL

(SHIFT+MISC)OOODOOOOOOOOODODOOODOOOOOOOOO

o8 3
L@L <space | s
‘-~ WiRing )—~—+] <space>
ELEMent <xX>
<Space> |—
ELEMent <x>
O e e }
)
N\
).
™
CURRent TERMinal ALL <Space>
*@L
ELEMent <x> DIRect
(7)
Ny
(7)
~ N
N\
ALL <Space> |———| <Current>
ELEMenl)—Ll <x> ﬂ-——l <Space> <Current>
H
(7)
N
(7)
N
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<Space> |——>( OFF

ELEMent <x> ——l <Space> |—

<Space> <NRf>
ELEMent <x> <Space> <NRf>
7
Ny
=)
Ny
O e e H
=)
Ny
)
( -
FlLTer -L@-L LINE ALL )l—-| <Space>
Frequency
ELEMent <xX> <Space>
= 7)
N
=)
N
)
N>

ALL <Space>

Freq uency:

ELEMent <> <Space>

D)
™
)

( N

(SoAtng )~ (O O A O swee (O

ELEMent <x> ——l <Space> |—

<Space> |——| <NRf>
<x> <Space> |——| <NRf>

ELEMent

OO
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[

@_
ALL <space> |~ U )—+f <o
(1 ) o
((_None )
ELEMent <x> _.| <Space>

:INPUT:CURRENT:

»(NULL <Space>

(_pover )—=(2

:INPut? [ :INPut] :CURRent?

oo goooooooOooboooboooboog oo goooooOo0ooboboOoobbooobooooo
goood oo

oo :INPut? oo [ :INPut]:CURRent?

O :INPUT? -> :INPUT: O :INPUT:CURRENT? ->
WIRING P1W2,P1W2,P1W2;VOLTAGE: TERMINAL:ELEMENT1 DIRECT;
RANGE:ELEMENT1 1.0000E+03; ELEMENT2 DIRECT;ELEMENT3 DIRECT;
ELEMENT2 1.0000E+03; ELEMENT4 DIRECT; : INPUT:CURRENT:
ELEMENT3 1.0000E+03; RANGE:ELEMENT1 5.00E+00;
ELEMENT4 1.0000E+03; : INPUT:CURRENT: ELEMENT2 5.00E+00;
TERMINAL:ELEMENT1 DIRECT; ELEMENT3 5.00E+00;
ELEMENT2 DIRECT;ELEMENT3 DIRECT; ELEMENT4 5.00E+00; : INPUT:CURRENT:
ELEMENT4 DIRECT; : INPUT:CURRENT: SRATIO:ELEMENT1 10.0000;
RANGE :ELEMENT1 5.00E+00; ELEMENT2 10.0000;ELEMENT3 10.0000;
ELEMENT2 5.00E+00;ELEMENT3 5.00E+00; ELEMENT4 10.0000;
ELEMENT4 5.00E+00; : INPUT:CURRENT: oo goooooOo0ooboboOoobbooobooooo

SRATIO:ELEMENT1 10.0000;

ELEMENT2 10.0000;ELEMENT3 10.0000;
ELEMENT4 10.0000; : INPUT:FILTER:
LINE:ELEMENT1 OFF;ELEMENT2 OFF;
ELEMENT3 OFF;ELEMENT4 OFF;
ELEMENT5 OFF; : INPUT:FILTER:ZCROSS:
ELEMENT1 OFF;ELEMENT2 OFF;
ELEMENT3 OFF;ELEMENT4 OFF; :INPUT:
SCALING:STATE:ELEMENT1 0;ELEMENT2 O;
ELEMENT3 0;ELEMENT4 O0;ELEMENTS5 0;:
INPUT:SCALING:PT:ELEMENT1 1.0000;
ELEMENT2 1.0000;ELEMENT3 1.0000;
ELEMENT4 1.0000;ELEMENT5 1.0000;:
INPUT:SCALING:CT:ELEMENT1 1.0000;
ELEMENT2 1.0000;ELEMENT3 1.0000;
ELEMENT4 1.0000;ELEMENT5 1.0000;:
INPUT:SCALING: SFACTOR:

ELEMENT1 1.0000;ELEMENT2 1.0000;
ELEMENT3 1.0000;ELEMENT4 1.0000;:
INPUT:SYNCHRONIZE:ELEMENT1 Il;
ELEMENT2 I2;ELEMENT3 I3;

ELEMENT4 I4:INPUT:NULL 0O

jodooooooooooooooooooo
gobooooooooooooDo

[ :INPut] :CURRent :AUTO[ :ALL]

oo

oo

gooooboo0oooboOoobboooboooo
ON/OFFO O D OODOOOO

[ :INPut] :CURRent :AUTO

[:ALL] {<Boolean>}
:INPUT:CURRENT:AUTO:ALL ON
goooooOo0ooboboOoobbooobooooo
goooooOo0ooboboOoobbooobooooo
goOo0o00oO0ooooboobobo
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[ :INPut] :CURRent : AUTO: ELEMent<x>

oo

oo

oo

0000000O0DO0DO00oOoO0oO0nOOoN/
OFFO00O/000000O0ODODO

[ :INPut] :CURRent :AUTO:

ELEMent<x> {<Boolean>}

[ :INPut] :CURRent :AUTO: ELEMent<x>?
<>0104000000000)
:INPUT:CURRENT :AUTO:ELEMENT1 ON
:INPUT:CURRENT :AUTO: ELEMENT1? ->
:INPUT:CURRENT :AUTO:ELEMENT1 1
gooooopbooOooboooboooboog
gooooopbooOooboooboooboog
gobo0ooooooooooooo

[ :INPut] :CURRent :MRANge? (Measured

RANge)
oo

oo

oo

oodooooooboooooooooooono

oo

[ :INPut]:CURRent:MRANge? {<NRf>}

<NRf>0 1040 00000000)

: INPUT : CURRENT : MRANGE? 1 ->

5.00E+00

: INPUT : CURRENT : MRANGE? ->

5.00E+00,5.00E+00,5.00E+00,5.00E+00

ooddooooooooooooooooonono
gooooooobooooobooooooon
goooooooooood

ooddooooooooooooooooonono
gooooooobooooobooooooon
gooigooooooood

ooddooooooooooooooooonono
gooooooobooooobooooooon
goooooooooooooooon

[ :INPut] :CURRent : RANGe?

oo

oo
|

oo

0o0ooooooooboOobOoooooboooa
ogooooao

[ : INPut]:CURRent :RANGe?

: INPUT : CURRENT : RANGE? -> :INPUT:
CURRENT : RANGE : ELEMENT1 5.00E+00;
ELEMENT2 5.00E+00;

ELEMENT3 5.00E+00;

ELEMENT4 5.00E+00
0o0oooooooooOobOoboboooooa
0o0oooooooooOobOoboboooooa
goooobooooooooooo

[ : INPut] : CURRent : RANGe [ :ALL]

0od

0od

goooooo0oobobOoobbooobooooo

gooooo

[ : INPut] :CURRent :RANGe

[:ALL] {<O00O>|<00>|AUTO}

Os5A0 00000000
<0 0 >0100 200 500 1000 2000 500
(mA)O 10 20 5(A) (TERMinald DIRectd O)
<0 0 >0500 1000 2500 500(mV)0 10
2.50 50 10(V) (TERMinald SENSor( 0 )
AuToO O OOOOO

gs0A0 00000000
<0 0>0102050100 200 50(A)
(TERMinalO DIRect )
<0 0 >0500 1000 2500 500(mV)0 10
2.50 50 10(V) (TERMinald SENSor( 0 )
AuToO O OOOOO

: INPUT : CURRENT : RANGE : ALL 5A

0000000000000o0o0oD0O((5A/50A)
0000000000([:INPut]:CURRent:
TERMinal:ELEMent)D 000000000
g0o00o0o0o0oboOOooobboooobbooo
g0o00o0o0o0oboOOooobboooobbooo
g0o00o0o0o0oboOOooobboooobbooo
oooooo

goOoo0oooooOoobooooobbooooo
g0o00o0o0o0oboOOooobboooobbooo
gooboooooooooboobooobo
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[ :INPut] :CURRent : RANGe : ELEMent<x>

00 oo0ooooooooooooooooo/oon
oooooono
oo [ : INPut] :CURRent :RANGe:

ELEMent<x> {<00>|<00>|AUTO}
[ :INPut] :CURRent :RANGe : ELEMent<x>?

x>0104000000000)
gs5A0 00000000

<00>010020050010002000500
(mA)D 10 20 5(A) (TERMinal DIRectd O)
<0 0>0500 1000 2500 500(mV)0 10
2.50 50 10(V) (TERMinald SENSor0 O )

AuToO O OOOOO
gsoAd 0 O0O0O0DOOOO

<0 0>010 2050100 200 50(A)

(TERMinall DIRectO O0)

<0 0>0500 1000 2500 500(mV)0 10
2.50 50 10(V) (TERMinald SENSor0 O )

AuToO O OOOOO

g : INPUT: CURRENT :RANGE : ELEMENT1 5A
: INPUT: CURRENT : RANGE : ELEMENT1? ->

:INPUT : CURRENT : RANGE :
ELEMENT1 5.00E+00

oo gooooooooooOooOoOoOoOOO(GAY
50A)0000000000([:INPut]:
CURRent : TERMinal:ELEMent<x>)0 0 O
gooooooooooooooo
oooooooooAuTODOOODOOOO

0 [ :INPut]:CURRent :AUTO:

ELEMent<x>0 0 0ONOOOOOOOOO

oobooooog

goooooooooOoOo0ooooooooooo
goooooooooooooooooooo
gobooooooooooooboooo

[ :INPut] :CURRent : SRATio?

od odoodooooooooooooobooooo
gooooooboooooooo

oo [ :INPut]:CURRent:SRATio?

g :INPUT:CURRENT: SRATIO? -> :INPUT:

CURRENT : SRATIO:ELEMENT1 10.0000;
ELEMENT2 10.0000;ELEMENT3 10.0000;

ELEMENT4 10.0000

od odooooooooooooooboobooooo
odooooooooooooooboobooooo

oooooooooooboooooo

[ :INPut] :CURRent :SRATio[ :ALL]

oo

oo

gd0o0O0bOO0bO0bOO0ObOOobOOooooooooo
gooOooboooooooa

[ :INPut]:CURRent:SRATio

[:ALL] {<NRf>}

<NRf>[10.0001[1 99999.9999

: INPUT : CURRENT : SRATIO:ALL 10
gd0o0O0bOO0bO0bOO0ObOOobOOooooooooo
gd0o0O0bOO0bO0bOO0ObOOobOOooooooooo
gooooboboOooooooooo

[ : INPut] :CURRent : SRATio:ELEMent<x>

oo

oo

oo

goooooOo0ooboboOoobbooobooooo
goooo/0o000oooon

[ :INPut]:CURRent:SRATio:

ELEMent<x> {<NRf>}

[ :INPut] :CURRent:SRATio:ELEMent<x>?
<>0104000000000)

<NRf>[0 0.00010[ 99999.9999
:INPUT:CURRENT: SRATIO:ELEMENT1 10
:INPUT:CURRENT:SRATIO:ELEMENT1? ->
:INPUT:CURRENT:SRATIO:

ELEMENT1 10.0000
goooooOo0ooboboOoobbooobooooo
goooooOo0ooboboOoobbooobooooo
goOo0o00oO0ooooboobobo

[ :INPut] : CURRent : TERMinal?

oo

oo
O

oo

jddddddodoooooooooooooo
ooooooo

[ :INPut]:CURRent:TERMinal?
:INPUT:CURRENT : TERMINAL? -> :INPUT:
CURRENT : TERMINAL:ELEMENT1 DIRECT;
ELEMENT2 DIRECT;ELEMENT3 DIRECT;
ELEMENT4 DIRECT
jddddddodoooooooooooooo
jddddddodoooooooooooooo
goboooooocoooooooo

[ :INPut] : CURRent : TERMinal[ :ALL]

oo

oo

goooobooooobooooooooooon
ooooooo

[ :INPut]:CURRent:TERMinal

[:ALL] {DIRect|SENSor}
DIRectD D OO 0O

SENSor0 OO0 QOO OOd

: INPUT : CURRENT : TERMINAL : ALL DIRECT
goooobooooobooooooooooon
goooobooooobooooooooooon
gooooooooooooooo

IM 760151-17

5-47

. IIH'I



5.100 INPutD0 00

[ : INPut] :CURRent : TERMinal : ELEMent<x>

oo

oo

oo

gooooooooooooooooooo/o
goboooogoo

[ :INPut]:CURRent:TERMinal:
ELEMent<x> {DIRect|SENSor}

[ :INPut]:CURRent:TERMinal:
ELEMent<x>?
<>0104000000000)
DIRectD OO OO

SENSorD OO QOOODOO

: INPUT : CURRENT : TERMINAL:

ELEMENT1 DIRECT

: INPUT : CURRENT : TERMINAL : ELEMENT1?
-> :INPUT:CURRENT:TERMINAL:
ELEMENT1 DIRECT
gooooopbooOooboooboooboog
gooooopbooOooboooboooboog
gobo0ooooooooooooo

[:INPut] :FILTer?

oo

oo
O

oodooooooboooooooooooono
oo

[ :INPut]:FILTer?

: INPUT:FILTER? -> :INPUT:FILTER:
LINE:ELEMENT1 OFF;ELEMENT2 OFF;
ELEMENT3 OFF;ELEMENT4 OFF;

ELEMENT5 OFF;:INPUT:FILTER:
%ZCROSS:ELEMENT1 OFF;ELEMENT2 OFF;
ELEMENT3 OFF;ELEMENT4 OFF

[ :INPut] :FILTer:LINE?

oo

oo
O

ooooooooooooobooooobooooo
oooocooo

[ :INPut]:FILTer:LINE?
:INPUT:FILTER:LINE? -> :INPUT:
FILTER:LINE:ELEMENT1 OFF;

ELEMENT2 OFF;ELEMENT3 OFF;

ELEMENT4 OFF;ELEMENT5 OFF

[:INPut] :FILTer[:LINE] [ :ALL]

oo

oo

0o0oooooooooOobOoboboooooa
oooo

[:INPut]:FILTer[:LINE][:ALL] {OFF|<
000>}

OFFO00O0ODODOOOOFF

<0 00>0500HzO05.5kHz(0 000000
oNOOOoDoooooo)

: INPUT: FILTER:LINE:ALL OFF
0o0oooooooooOobOoboboooooa
0o0oooooooooOobOoboboooooa

O00O0O0([:INPut]:FILTer[:LINE]:

ELEMent<x>0000000000000OO
gooooooooooooooooooooo
gooooooooooooooooooooo
gooooooooobooobooboooon

[ :INPut] :FILTer[ :LINE] : ELEMent<x>

od

0od

jdoooooooooooooooo/0nDooo
goooo

[:INPut]:FILTer[:LINE]:

ELEMent<x> {OFF|<0 00>}
[:INPut]:FILTer[ :LINE]:ELEMent<x>?
<x>01050@0000)

OFFO OO00O0O0OOOOFF

<0 00>0500Hz055kHz(0 000000
oNOOOoooooog)
:INPUT:FILTER:LINE:ELEMENT1 OFF
:INPUT:FILTER:LINE:ELEMENT1? ->
:INPUT:FILTER:LINE:ELEMENT1 OFF

[ :INPut] :FILTer:ZCRoss?

od

od
a

od

goooobooooboboooboooboooo
gooobooboobobogoo

[ :INPut]:FILTer:ZCRoOss?
:INPUT:FILTER:ZCROSS? ->
:INPUT:FILTER:ZCROSS:ELEMENT1 OFF;
ELEMENT2 OFF;ELEMENT3 OFF;

ELEMENT4 OFF
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooooboobobo

[ :INPut] :FILTer:ZCRoss [ :ALL]

od

od

o0ooooOoooooooooooooooo
oooooooooo

[ :INPut]:FILTer:ZCRoss[:ALL] {OFF|<
oodds>}

OFFOO0O0ODODODODODOOOFF
<000>0500Hz(000O000O0OOONO
oooooooo)
:INPUT:FILTER:ZCROSS:ALL OFF
o0ooooOoooooooooooooooo
o0ooooOoooooooooooooooo
gooooooooooooooo

[ :INPut] :FILTer:ZCRoss:ELEMent<x>

0od

0od

0od

goooooo0oobobOoobbooobooooo
O/000000000

[ :INPut]:FILTer:ZCRoOSS:

ELEMent<x> {OFF|<0 00>}

[ :INPut]:FILTer:ZCRoss:ELEMent<x>?
<x>0104000000000)
OFFO00O0OO0OD0OODODOFF
<000>0500Hz(0 00000000 ONO
goooooono)

:INPUT:FILTER: ZCROSS:ELEMENT1 OFF
:INPUT:FILTER: ZCROSS:ELEMENT1? ->
:INPUT:FILTER: ZCROSS:ELEMENT1 OFF
goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
goo0o0o0ooooobooboobo

5-48

IM 760151-17



5.100 INPut0 000

[ : INPut] :MODUle?
oo 0000000000000000000
oo [ :INPut]:MODUle? {<NRf>}
[ :INPut]:MODUle?
<NRf>0106(00000)

g :INPUT:MODULE? 1 -> 5
:INPUT:MODULE? -> 5,5,5,5,25,0
oo ooooooooooooooo

5000005A0000000
500000050A0000000
Z500000000005A0000000
zo0O0O0OOOO0oOooOOooDz20A000000O
O
ooboOOoOoOOOOO
goooooooooOo0ooooooooooo
gooooooOooooooooooOoinoo
oooooooo

[ :INPut] :NULL

od NULLOOOON/OFFOOO/0000000O
od

oo [ :INPut]:NULL {<Boolean>}
[ : INPut]:NULL?

] :INPUT:NULL ON

:INPUT:NULL? -> :INPUT:NULL 1

[ :INPut] :POVer?

oo ogobooooooooooooooaa

0o [ :INPut]:POVer?

| :INPUT: POVER? -> 0

oo oodoooooooooboooooooonono

oooooooooooooobooboboooio
goboooooocooo
ooooo0oo0oo0ob0l1le000O0OU3OO0OO

gobobooooooooooooooo

1514 13121110 9 8 7 6 5 4 3 2 1 0
[oJoJoJoJoJoJi5Jusl14Jual13]ual12]u2]i1]ul]

[ :INPut] : SCALing?

od godoooOoooopopopopopoooooooo
oooo

oo [ :INPut]:SCALing?

] : INPUT:SCALING? -> :INPUT:SCALING:

STATE:ELEMENT1 0;ELEMENT2 0;
ELEMENT3 0;ELEMENT4 O0;ELEMENTS5 0;:
INPUT:SCALING:PT:ELEMENT1 1.0000;
ELEMENT2 1.0000;ELEMENT3 1.0000;
ELEMENT4 1.0000;ELEMENT5 1.0000;:
INPUT:SCALING:CT:ELEMENT1 1.0000;
ELEMENT2 1.0000;ELEMENT3 1.0000;
ELEMENT4 1.0000;ELEMENT5 1.0000;:
INPUT:SCALING:SFACTOR:

ELEMENT1 1.0000;ELEMENT2 1.0000;
ELEMENT3 1.0000;ELEMENT4 1.0000

[ :INPut] :SCALing: {PT|CT|SFACtor}?

oad 00000000 0o{00o |00 |o0oooa
goooooooooooa

oogd [ :INPut]:SCALing: {PT|CT|SFACtor}?

O :INPUT:SCALING:PT? -> :INPUT:

SCALING:PT:ELEMENT1 1.0000;
ELEMENT2 1.0000;ELEMENT3 1.0000;
ELEMENT4 1.0000;ELEMENT5 1.0000

oo [ :INPut]:SCALing:SFACtor..00OODO0O
jofd0dddooooooooooooooo
goopooooooooog

[ :INPut] :SCALing: {PT|CT|SFACtor}[:ALL]

od oo0oooOoooOoo{yo|oo|ooloooo
gooobooooobooo
od [ :INPut]:SCALing:{PT|CT|SFACtor}

[:ALL] {<NRf>}
<NRf>0 0.00010 99999.9999
a : INPUT: SCALING:PT:ALL 1
og 0 O [ :INPut]:SCALing:{PT|CT}[:ALL]O
ogodoooooooooooooooodgn
ogodoooooooooooooooodgn
go00o0ob0o00b0o0b00O[::INPut]:
SCALing: {PT|CT}:ELEMent<x>0 000
ogodoooooooooooooooodgn
ogodoooooooooooooooodgn
ogodoooooooooooooooodgn
oooooooooon
0 [:INPut]:SCALing:SFACtor..0 00O
ogodoooooooooooooooodgn
ogoooooooooooood

[ :INPut] :SCALing: {PT|CT|SFACtor}:
ELEMent<x>

oad 000000O0{00 |00 |00oooooon
gooo/0000o0oooo
oogd [ :INPut]:SCALing: {PT|CT|SFACtor}:

ELEMent<x> {<NRf>}
[ :INPut]:SCALing: {PT|CT|SFACtor}:
ELEMent<x>?
O[:INPut]:SCALing:{PT|CT}:
ELEMent<x>0 00
<x>010500000)
O[:INPut]:SCALing:{SFACtor}:
ELEMent<x>0 00
<>0104000000000)
<NRf>[10.0001[1 99999.9999
O :INPUT:SCALING:PT:ELEMENT1 1
:INPUT: SCALING:PT:ELEMENT1? ->
:INPUT: SCALING:PT:ELEMENT1 1.0000
oo [ :INPut]:SCALing:SFACtor..00OODO0O
gd0o0O0bOO0bO0bOO0ObOOobOOooooooooo
goooooooooooa
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5.100 INPutD0 00

[:INPut] :SCALing:STATe?

oo

oo
|

00000000o00O0O0o0oOOoON/OFFOO
ogoooooa

[ :INPut]:SCALing:STATe?

:INPUT: SCALING:STATE? -> :INPUT:
SCALING:STATE : ELEMENT1 0;

ELEMENT2 0;ELEMENT3 0;ELEMENT4 0;
ELEMENT5 0

[:INPut] :SCALing|[:STATe] [ :ALL]

oo

oo

000000000000 0O000OON/OFFOO
gooogoog

[ :INPut]:SCALing[ : STATe]

[:ALL] {<Boolean>}
:INPUT:SCALING:STATE:ALL OFF
gobooooboooobooobooobooog
gobooooboooobooobooobooog

O0000([:INPut]:SCALing[:STATe]:

ELEMent<x>000000000000COO
ooooooooooooboooooobooooo
ooooooooooooboooooobooooo
goooooboocoobocooooboooon

[:INPut] :SCALing[ : STATe] : ELEMent<x>

oo

oo

000000000000 O0OON/OFFO OO /O
gbooooogoo

[ :INPut]:SCALing[ :STATe]:
ELEMent<x> {<Boolean>}

[ :INPut]:SCALing[ :STATe]:
ELEMent<x>?

<x>010500000)

:INPUT:SCALING: STATE:ELEMENT1 OFF
:INPUT:SCALING:STATE:ELEMENT1? ->
:INPUT:SCALING: STATE:ELEMENT1 0

[ :INPut] :SYNChronize?

oo

oo
|

oo

oobooooobooOoobooobooooboooo
gopooooo

[ :INPut]:SYNChronize?
INPUT:SYNCHRONIZE? -> :INPUT:
SYNCHRONIZE:ELEMENT1 I1;

ELEMENT2 I2;ELEMENT3 I3;

ELEMENT4 T4
gooooopbooOooboooboooboog
gooooopbooOooboooboooboog
gobo0ooooooooooooo

[ :INPut] :SYNChronize[ :ALL]

0od

0od

gdodoOO0bOO0bOO0obOOoboOooooooooo
gooooo

[ :INPut]:SYNChronize[ :ALL] {U<x>|
I<x>|NONE}

<x>0104000000000)
NONEO OO DOOOODO

:INPUT: SYNCHRONIZE:ALL Il
gdodoOO0bOO0bOO0obOOoboOooooooooo
gdodoOO0bOO0bOO0obOOoboOooooooooo
0o00ooooOoOoooooooo

[ :INPut] :SYNChronize:ELEMent<x>

od

od

od

pgoooooooooooopoooOoOooO/o0O
goooooo

[ :INPut]:SYNChronize:

ELEMent<x> {U<x>|I<x>|NONE}

[ :INPut]:SYNChronize:ELEMent<x>?
<x>01040@C00000000)
NONEO OO OOOOO
:INPUT:SYNCHRONIZE:ELEMENT1 Il
:INPUT:SYNCHRONIZE :ELEMENT1? ->

¢ INPUT:SYNCHRONIZE:ELEMENT1 Il
jofjddddgoooooooooooooo
jofjddddgoooooooooooooo
gopooooobooooboooooo

[ :INPut] :VOLTage?

od

od
a

od

gooooboooobobooobboooboooo
oo

[ :INPut]:VOLTage?

:INPUT:VOLTAGE? -> :INPUT:VOLTAGE:
RANGE :ELEMENT1 1.0000E+03;

ELEMENT2 1.0000E+03;

ELEMENT3 1.0000E+03;

ELEMENT4 1.0000E+03;
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooooboobobo

[ :INPut] :VOLTage :AUTO[ : ALL]

0od

0od

goOoooobooOooobooobooobooooo
ON/OFFO O OODOOOO0O

[ :INPut] :VOLTage:AUTO

[:ALL] {<Boolean>}

:INPUT:VOLTAGE :AUTO:ALL ON
goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
goo0o0o0ooooobooboobo
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[ :INPut]:
oo

oo

oo

[ :INPut]:
RANge)
oo

od

od

[ :INPut]:
oo

oo
O

oo

VOLTage :AUTO: ELEMent<x>
0000000 0DO0D000O0O0O0O0OoN/
OFFO 00/000000000O

[ :INPut]:VOLTage:AUTO:

ELEMent<x> {<Boolean>}

[ :INPut]:VOLTage:AUTO: ELEMent<x>?
<>0104000000000)
:INPUT:VOLTAGE : AUTO: ELEMENT1 ON
:INPUT:VOLTAGE : AUTO: ELEMENT1? ->
:INPUT:VOLTAGE : AUTO: ELEMENT1 1
goooooooOooboooboooboog
goooooooOooboooboooboog
gobobooooooooooooo

VOLTage :MRANge? (Measured

goboooooboooobooobooobooo
oo
[ :INPut]:VOLTage:MRANge? {<NRf>}
<NRf>0104000000000)
:INPUT:VOLTAGE : MRANGE? 1 ->
1.0000E+03
:INPUT:VOLTAGE : MRANGE? ->
1.0000E+03,1.0000E+03,
1.0000E+03,1.0000E+03
gobooooobooooboboooobboooo
gooOooOoOooooOoooobooNOOOooo
goooooooboobobobo
gobooooobooooboboooobboooo
gooooobboooobobooooboboooo
goo1o0boboboobo
gobooooobooooboboooobboooo
gooooobboooobobooooboboooo
goooboobooboboobobooog

VOLTage : RANGe?
gooooobooOoobbooobooobooboog
gooogoo

[ :INPut] :VOLTage :RANGe?
:INPUT:VOLTAGE :RANGE? -> :INPUT:
VOLTAGE :RANGE : ELEMENT1 1.0000E+03;
ELEMENT2 1.0000E+03;

ELEMENT3 1.0000E+03;

ELEMENT4 1.0000E+03
goooooooOooboooboooboog
goooooooOooboooboooboog
gobobooooooooooooo

[ :INPut] : VOLTage : RANGe[ :ALL]

oo

oo

jodooooooooooooooooooo
oooooo

[ :INPut]:VOLTage:RANGe[ :ALL] {<O0O
>|AUTO}

<0 0>01.503060100 150 300 600
1000 1500 3000 6000 1000(V)

AuToOO OOOOOO

:INPUT: VOLTAGE : RANGE : ALL. 1000V
jodooooooooooooooooooo
jodooooooooooooooooooo
gobooooooooooooDo

[ : INPut] : VOLTage : RANGe : ELEMent<x>

oo

oo

oo

goooooooooooooooooo/oO

goooooo

[ :INPut]:VOLTage :RANGe:

ELEMent<x> {<0O 0 >|AUTO}

[ :INPut]:VOLTage :RANGe : ELEMent<x>?

<x>0104@000oooon)

<0 O0>01.503060100 150 300 600

1000 1500 3000 60001 1000(V)

AuToO OOoOoOoOO

: INPUT:VOLTAGE : RANGE : ELEMENT1 1000V

:INPUT:VOLTAGE : RANGE : ELEMENT1? ->

:INPUT : VOLTAGE : RANGE :

ELEMENT1 1.0000E+03

goooooooOoAuTOODOOOOOOO
O[:INPut]:VOLTage:AUTO:
ELEMent<x>000ONOOOOOCOOOODO
gooooogoo

gboooooobooooboboooobbooooo
gobooooobbooooboboooobobooa
gboobooooooooobobooba
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5.100 INPutD0 00

[:INPut] :WIRing

oo
oo

oo

goooooo/oooboooboo

[ :INPut]:WIRing {(P1W2|P1W3|P3W3|
P3W4 |V3A3) [, (P1W2|P1W3 |P3W3 | P3W4 |
V3A3|NONE) ][, (P1W2 |P1W3 |P3W3 | P3W4 |
V3A3|NONE) ]}

[ :INPut]:WIRing?

Piw20 00200

Piw3O O 0O300

P3w3d 00300

P3w40 00400

Vv3A30 30030000

NONEO OO OO

:INPUT:WIRING P1W2,P1W2,P1W2
:INPUT:WIRING? -> :INPUT:

WIRING P1W2,P1lwW2,P1W2
OzA0XBOXCOOOOOOODOO

goIBOOOOzCcOOOOOOOOO0O0O0ODOO

goboooooooooooo

goooooooboooOoOoooooooooooo
goooooooooooooooooooo
goooooooooooooooooooo

oobooooobooo

gooOoooooooDbi10o0o0bDO0oob0obo0oon
ZAOPIW2000:2BOXCOO000O0O00O00O0O

oo

gooooooobooooooooooooooo
goooooooooooooooooooo

gobooooboooooooooboooo
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5.11 INTEGratell U U I

INTEGrateD OO O OOOODOOOODOOOOODOO
OO00000C0000000CUOUO0OOOINTEGRATOROOOOOSTARTO STOPO RESET(SHIFT+STOP)O
INTEG SET(SHIFT+START) U OO OOOODOOOODOOOOOOOOODOOOOO
gbobobooooooboboboooooboobobobooboooobDobobobobboobooboboboo
gbobobooooboooooboon

: ~ v
_@.CO(W)_ S

I ACAL )~

..| <Space>

NDependen? <Space>

TiMer <x> <Space> <NRf> <NRf> <NRf> | J,

Spaces
<NRf> <NRf> <NRf> <NRf>

Spaces
<NRf> <NRf> <NRf> <NRf>

<NRf> <NRf> <NRf> <NRf>

®

(?)
A
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5.110 INTEGrateJ 0 O O

: INTEGrate?

oo do0dooooooooooooooooooo

oo :INTEGrate?

O oo0oo0ooooooDooDoooooooon
OFFOODOODO

:INTEGRATE? -> :INTEGRATE:
MODE NORMAL; CURRENT : ELEMENT1 RMS;
ELEMENT2 RMS;ELEMENT3 RMS;
ELEMENT4 RMS;:INTEGRATE:ACAL 0;
INDEPENDENT 0;TIMER1 1,0,0
0f000O0ooOobOooOobOoooooooooa
OgoOdOoOoFFOODOOO
:INTEGRATE? -> :INTEGRATE:
MODE RNORMAL ; CURRENT:
ELEMENT1 RMS;ELEMENT2 RMS;
ELEMENT3 RMS;ELEMENT4 RMS; :
INTEGRATE : ACAL 0; INDEPENDENT 0;
TIMER1 1,0,0;RTIMEL:
START 2001,1,1,0,0,0;
END 2001,1,1,1,0,0
0000000o0o0o0o0o0oooooooooa
oNOOoooag
:INTEGRATE? -> :INTEGRATE:
MODE NORMAL; CURRENT : ELEMENT1 RMS;
ELEMENT2 RMS;ELEMENT3 RMS;
ELEMENT4 RMS;:INTEGRATE:ACAL 0;
INDEPENDENT 1;TIMER1 1,0,0;
TIMER2 1,0,0;TIMER3 1,0,0;
TIMER4 1,0,0
0f000O0ooOobOooOobOoooooooooa
gooOooNODoOOoOogd
:INTEGRATE? -> :INTEGRATE:
MODE RNORMAL ; CURRENT:
ELEMENT1 RMS;ELEMENT2 RMS;
ELEMENT3 RMS;ELEMENT4 RMS; :
INTEGRATE : ACAL 0; INDEPENDENT 1;
TIMER1 1,0,0;TIMER2 1,0,0;
TIMER3 1,0,0;TIMER4 1,0,0;
RTIME1:START 2001,1,1,0,0,0;
END 2001,1,1,1,0,0; :INTEGRATE:
RTIME2:START 2001,1,1,0,0,0;
END 2001,1,1,1,0,0; :INTEGRATE:
RTIME3:START 2001,1,1,0,0,0;
END 2001,1,1,1,0,0; :INTEGRATE:
RTIME4:START 2001,1,1,0,0,0;
END 2001,1,1,1,0,0

: INTEGrate:ACAL

:INTEGrate:CURRent?

00 Joo0oo0oooooooooooooooo
gooooooooooo

oo :INTEGrate:CURRent?

ad : INTEGRATE : CURRENT? -> :INTEGRATE:

CURRENT:ELEMENT1 RMS;ELEMENT2 RMS;
ELEMENT3 RMS;ELEMENT4 RMS

:INTEGrate:CURRent|[ :ALL]

oo goobooboboooo0o0o0ooogoooogo
goooboooooobog

oo :INTEGrate:CURRent [ :ALL] {RMS |MEAN |
DC|AC}

O : INTEGRATE : CURRENT : ALL RMS

: INTEGrate:CURRent : ELEMent<x>

od joddddodooooooooooooooo
oo/0000000o00
oo :INTEGrate:CURRent : ELEMent<x> {RMSl

MEAN | DC |AC}
: INTEGrate:CURRent : ELEMent<x>?
x>0 104000000000)
g : INTEGRATE : CURRENT : ELEMENT1 RMS
: INTEGRATE : CURRENT : ELEMENT1? ->
: INTEGRATE : CURRENT : ELEMENT1 RMS
od 0000000000000 :INTEGrate:
INDependentd OON/OFFO 0O O00OOODO
gobooooooooooooocoooboooo
oooooooooo

:INTEGrate: INDependent

oo 000Do000Dooo0O0oDoOgoN/OFFO 00O /0
gooooooo

oo :INTEGrate: INDependent {<Boolean>}
:INTEGrate: INDependent?

ad :INTEGRATE : INDEPENDENT OFF

:INTEGRATE : INDEPENDENT? ->
: INTEGRATE : INDEPENDENT 0

: INTEGrate :MODE

oo gooooooo/00000o0o000

0o :INTEGrate:MODE {NORMal |CONTinuous
RNORmal | RCONtinuous}
:INTEGrate:MODE?
NORMalO OO OO OO0
CONTinuousO O OO OO0OO
RNORmalD 000D OODOOOOOO
RCONtinuous 00 OO0 O00OD0OOOODOO

od 0000000000000 oON/OFFO OO /0O 0 : TNTEGRATE : MODE NORMAL
R :INTEGRATE :MODE? -> :INTEGRATE:
od :INTEGrate:ACAL {<Boolean>} MODE NORMAL
: INTEGrate:ACAL?
[} : INTEGRATE : ACAL OFF
: INTEGRATE:ACAL? -> :INTEGRATE:
ACAL 0
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:INTEGrate:RESet
oo oooooooooooo
oo :INTEGrate:RESet {<NRf>,<NRf>,
<NRf>,<NRf>}
<NRf>0 1040 000000000O0OO0O)
0 O0O0DoOoOODODOO0O00O0(:INTEGrate:
INDependent)J OONL)ODOOOCOO
: INTEGRATE :RESET
(Coooooooooono)
: INTEGRATE :RESET 1,2,3
(Cooooooooooooooon)
OO00ODoOoOODODOO0O00OO0(:INTEGrate:
INDependent)dJ O OFFO) OO OOOO
:INTEGRATE :RESET
(Coooooooooono)
00 O00OoOoOODODOO0O00OO0(:INTEGrate:

INDependent)J OON(L)ODOOOOOOO
go0o0ooo0oooooooooooooo
4A000000000000OO0O0O0ODOO
go0o0ooo0oooooooooooooo
go0o0ooo0oooooooooooooo
go0o0ooo0oooooooooooooo
go0o0ooo0oooooooooooooo
oooooo
O00ODoOODODOO0O0O0OO0(:INTEGrate:

INDependent)dJ O OFFO) OO OOOODOO
go0o0ooo0oooooooooooooo
oooooo

: INTEGrate:RTIMe<x>?

od

od

od

doooooooooooooooooooy
gobooobooooooobooo
:INTEGrate:RTIMe<x>?
<x>0104000000000)
:INTEGRATE:RTIME1? -> :INTEGRATE:
RTIME1l:START 2001,1,1,0,0,0;

END 2001,1,1,1,0,0

000000000 OO0OO(:INTEGrate:
INDependent)J OOFFO) DO OO OOOOO
ooooooi1iooooooo/00oooooo
gboboooooboobobobobobooo
gobooobooooooobooo

: INTEGrate : RTIMe<x>: {STARt | END}

oo

oo

oo

0000000000000 ooo{oooO)|
gooopoooo/o0o0oo0o0ooo
:INTEGrate:RTIMe<x>: {STARt |

END} {<NRf>,<NRf>,<NRf>,<NRf>,
<NRf>,<NRf>}
:INTEGrate:RTIMe<x>: {STARt |END}?
<>0104000000000)

{<NRf>0 <NRf>0 <NRf>0 <NRf>0 <NRf>0
<NRf>}020010101000000020990
1200310230 590 59

10 0 O <NRf>0 200102099 (O)

2000 <NRf>0 10 12 (@)
300 0<NRf>010 31 (@)
400 0 <NRf>0 00 23 (@)
50 0 O <NRf>0 00 59 (@)
60 0 O <NRf>0 00 59 (@)

:INTEGRATE:RTIME1:

START 2001,1,1,0,0,0
:INTEGRATE:RTIME1: START? ->
:INTEGRATE:RTIME1:

START 2001,1,1,0,0,0
000000000000 (:INTEGrate:
INDependent)J OOFFO) OO OOOOOOO
gooooo1ooooooo/oo0ooooo
0000oo0o0ooOoUooooooOooo
0/000000000000000O
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:INTEGrate:STARt

oo
oo

oo

0o0ooooooooo
:INTEGrate:STARt {<NRf>,<NRf>,
<NRf>,<NRf>}
<NRf>0104(0000000000000)
ooooooooooooo
(: INTEGrate: INDependent) [0 ON(1)O
ooooo
: INTEGRATE : START
(booooooooooo)
: INTEGRATE: START 1,2,3
(booooOooUooooooon)
ooooooooooooo
(: INTEGrate: INDependent)l [0 OFF(0)O
ooooo
: INTEGRATE : START
(booooooooooo)
OO000O0O0ODODOO0O0OD0OO0O0(:INTEGrate:
INDependent)JOON(L)DOOCOOCOCOO
goo0oooooooooooooooo
4A000000000000D0OO00O0OOOO
goo0oooooooooooooooo
goo0oooooooooooooooo
goo0oooooooooooooooo
goo0oooooooooooooooo
oooooo
OO000O0OO0ODODO0O0OD0OO0O(:INTEGrate:
INDependent)d 0 OFFO) OO OOOODOO
goo0oooooooooooooooo
oooooo

:INTEGrate:STATe?

oo
oo

oo

ooooo0o0O00o0O0o0oo
:INTEGrate:STATe? {<NRf>}
<NRf>0104(00000000000000
0)
:INTEGRATE:STATE? 1 -> RESET ﬂ]D O
0oo00o0000000O0o0on)
: INTEGRATE: STATE? ->
RESET,RESET,RESET,RESET
(000o000000000o0on)
000000000000000
RESet0 000000
READyD OO O OOOOOOOOO)
STARIOOOOOO
sTOPOOOOOOO
ERRor0 000000 OO0O0000000
oo)
TIMeupd 0000000 O0O0D0000O0O0
0000000000000000000000
000000000000000000000
000000000000000000000
000000000000000000000
oo

:INTEGrate: STOP
oo goooooooooo
oo :INTEGrate:STOP {<NRf>,<NRf>,
<NRf>,<NRf>}
<NRf>0 1040 000000000000)
0 0000000000000 (:INTEGrate:
INDependent)J OON(L)OOOOCOO
: INTEGRATE : STOP
(CooUoooooooon)
:INTEGRATE:STOP 1,2,3
(COOoU0oOoOoUoooooooon)
go00o0o0o0O0O0O0O00D00(:INTEGrate:
INDependent)d OOFFO) D OO O OO
: INTEGRATE : STOP
(CooUoooooooon)
oo go00o0o0o0O0O00OD00D00(:INTEGrate:

INDependent)J OON(1) DO OOOOOO
00000o0o0oooOo0oooooooooo
40000000000000ODOO0ODODOO
00000o0o0oooOo0oooooooooo
00000o0o0oooOo0oooooooooo
00000o0o0oooOo0oooooooooo
00000o0o0oooOo0oooooooooo
oooooo
O0o0O0o0O0O00O0OD00D00(:INTEGrate:

INDependent)J OOFFO) DO OOCOCOOO
00000o0o0oooOo0oooooooooo
oooooo

:INTEGrate: TIMer<x>

od
od

od

oooooooooo/00ooooooog

:INTEGrate:TIMer<x> {<NRf>,<NRf>,
<NRf>}

:INTEGrate:TIMer<x>?
<x>01040@C00000000)
{<NRf>0O<NRf>O<NRf>}00000O0O
100000000
100 0 <NRf>0 00 10000 (0 O)

20 0 0 <NRf>0 0059 @)
30 0 O<NRf>0 0059 @)

:INTEGRATE:TIMER1 1,0,0
:INTEGRATE: TIMER1? -> :INTEGRATE:
TIMER1 1,0,0
000000000000 (:INTEGrate:
INDependent)J O OFFO) OO OODOOODODO
gooobo0oilgoooooooooboobo
Joooooooooooopoooo/woo
gooobooboobobogoo
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MEASureD O O000O0O0OO0DOOOODOOODOO
OO000000OMEASURED AVGO MAX HOLD(SHIFT+LOCAL) D OO OO OOOOoOoOoOooOooooooooo

oood

=0,

D)
A

‘AVERaging

(NDe
N4

~

M=(_TYPE

<Space> Exponam)

\(_Count

<Space> |_.| <NRf> :

)
)
ITEM T <Space>

()
L

ES T STATe
X

- - 1

—E PResslon)—E <Space> |_.| <String> |—
i 1

UNIT )—t <Space> |—-| <String> |—-

<Space>

(?)

—~

D)

2

OBJect )

—+| <Space> |—-.( SIGMA )

TYPE )}

M=~(SFORmula }—

_.| <Space>

<Space> |——| <NRf> :

<Space> |_.| <NRf> :

()

A
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5.120 MEASureD) 0 0O 0O

PHASe <Space> |_.| <NRf> :

MHOLd <Space>.

®
®

S

:MEASure?

oo gofdoooOoooopooboopoooooooo
oo :MEASure?

a oooooooooo

:MEASURE? -> :MEASURE:AVERAGING:
STATE 0;TYPE EXPONENT;COUNT 2;:
MEASURE : FREQUENCY : ITEM U1,I1,U2;:
MEASURE : FUNCTIONL : STATE 0;
EXPRESSION "URMS(E1)";UNIT "V";:
MEASURE : FUNCTION2 : STATE 0;
EXPRESSION "IRMS(E1l)";UNIT "A";:
MEASURE : FUNCTION3: STATE 0;
EXPRESSION "UPPK(EL)";UNIT "V";:
MEASURE : FUNCTION4 : STATE 0;
EXPRESSION "IPPK(EL)";UNIT "A";:
MEASURE : DMEASURE : OBJECT SIGMA;
TYPE OFF; :MEASURE: SFORMULA RMS;
PC:IEC 1976;P1 0.5000;P2 0.5000;:
MEASURE : PHASE 180 ;MHOLD 0

0o000O00O00O0oonon
:MEASURE? -> :MEASURE:AVERAGING:
STATE 0

:MEASure:AVERaging?

oo

oo
|

gooooooooooooooooobooooo

ooooog

:MEASure:AVERaging?

oooooooooo
:MEASURE : AVERAGING? -> :MEASURE:
AVERAGING:STATE 1;TYPE EXPONENT;
COUNT 2

ooooooooooooooo
:MEASURE : AVERAGING? -> :MEASURE:
AVERAGING:STATE 1

:MEASure:AVERaging:COUNt

od

od

od

goooooooooooooooooooof/
gooooobooo
:MEASure:AVERaging:COUNt {<NRf>}
:MEASure:AVERaging:COUNt?
<NRf>0 20 40 80 160 320 64
(TYPEDO EXPonent O)
<NRf>0 80 160 320 640 1280 256
(TYPEDO LINearC O)
:MEASURE : AVERAGING:COUNT 2
:MEASURE : AVERAGING:COUNT? ->
:MEASURE : AVERAGING:COUNT 2
gboooooobooooboboooobbooooo
gbobooboobooooooooono
gboooooobooooboboooobbooooo
goboboooobboooobboooobobooao
gboboobooooooobobobo
gboooboboooobobooobooobobooooboo
(Dooo)yopoooooooooooooo
obobobooboobooobogoo

:MEASure:AVERaging[ : STATe]

0od

0od

0od

goooOoOoOoOooN/OFFO O O/0O0DO0ODOO
oono

:MEASure:AVERaging

[:STATe] {<Boolean>}
:MEASure:AVERaging:STATe?

:MEASURE : AVERAGING: STATE ON

:MEASURE : AVERAGING: STATE? ->
:MEASURE : AVERAGING:STATE 1
goo0oooOoooooooooooooooN/s
OFF0000000O0O0OOODDDDOOOOO
jofjooooooooooooooooooo
ooooooooooooon
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:MEASure:
oo

oo

oo

:MEASure:
oo

od
a

od

:MEASure:
oo
oo

od

AVERaging:TYPE
goooooooooooooooooooos
ooooooooo
:MEASure:AVERaging:TYPE {EXPonent|
LINear}
:MEASure:AVERaging:TYPE?
:MEASURE : AVERAGING: TYPE EXPONENT
:MEASURE : AVERAGING:TYPE? ->
:MEASURE : AVERAGING: TYPE EXPONENT
goooooooooOo0ooooooooooo
gobooooooooooooDo
goooooooooOo0ooooooooooo
goooooooooooooooooooo
gobooooooooooooboooo
goooooooooOo0ooooooooooo
goooooooooooooooooooo
oooooo

DMeasure?
goboooooboooobooobooobooo
god

:MEASure:DMeasure?
:MEASURE : DMEASURE? -> :MEASURE:
DMEASURE :OBJECT SIGMA; TYPE OFF
goboooooboooobooobooobooo
goboooooboooobooobooobooo
gbooobooooooooooono

DMeasure:0BJect
gooooooooo/o0booooooo
:MEASure:DMeasure:0OBJect {SIGMA |
SIGMB|SIGMC}
:MEASure:DMeasure:0BJect?
SIGMADO XA
SIGMBO:B(U OO OOOOOO02000000
0)
siGMCO:XC(00O0O0O0OD0O00Oo3000oon
0)
:MEASURE : DMEASURE : OBJECT SIGMA
:MEASURE : DMEASURE : OBJECT? ->
:MEASURE : DMEASURE : OBJECT SIGMA
gooooooooooooooo
O0o0ooooOoooOoOoooOooooooooo
J0o00ooOooooooooooooooo
00o00oo0oooooooooooog

:MEASure:DMeasure:TYPE

oo
oo

oo

goopoooooooo/00o0ooooog

:MEASure:DMeasure:TYPE {OFF |

P3W3_V3A3|DT_ST|ST_DT}

:MEASure:DMeasure:TYPE?

:MEASURE : DMEASURE : TYPE OFF

:MEASURE : DMEASURE : TYPE? ->

:MEASURE : DMEASURE : TYPE OFF

goOo0o00oO0ooooboobobo

goooO0obOobOOobDOoboobooooooo
OFFO0D00OD00OD0OOODOO
P3W3_V3A30 3P3W -> 3V3AL O
DT_STO Delta -> Stard O
ST_DTO Star -> Deltal 0

0000000000000 (:MEASure:
DMeasure:OBJect)J 0000000000
goobooooooooobo

goOooooooOoOoobooooobbooooo
goo0o0o0ooboOooobboooobobooo
go0oooooooooobobooobo

:MEASure:FREQuency?

oo

oo
O

oo

gooooboooobobooobboooboooo
ood

:MEASure:FREQuency?
:MEASURE : FREQUENCY? -> :MEASURE:
FREQUENCY:ITEM U1l,I1,U2
gooooboooobobooobboooboooo
gooooboooobobooobboooboooo
goooooooboobobobo

:MEASure:FREQuency: ITEM

oo
oo

oo

0o0oooooooo/000oooooog
:MEASure:FREQuency:ITEM {(U<x>|
I<x>|NONE) [, (U<x>|I<x>|NONE) ]
[, (U<x>|I<x>|NONE)]}
:MEASure:FREQuency: ITEM?
<x>0104@000oooon)
:MEASURE : FREQUENCY:ITEM Ul1,I1,U2
:MEASURE : FREQUENCY : ITEM? ->
:MEASURE : FREQUENCY:ITEM Ul1,I1,U2
gooooooooooboooo
goooopoooo3oooooooooboooo
ooo
0000000000000 000O0OONONEO
gobooOooo20003oooooogo
gooooooogoo
goooooooobooOoOooOoOoooooo
gooooooOoOoOoOoOooooooboooo
gooooOobooOoooooooooo
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:MEASure:FUNCtion<x>?

oo do0dooooooooooooooooooo
ooooooooog

oo :MEASure:FUNCtion<x>?
<x>0104

O :MEASURE:FUNCTION1? ->

:MEASURE:FUNCTION1:STATE 1;
EXPRESSION "URMS(E1l)";UNIT "V"

oo gooooooooooooooooobooooo
gooooooooooooooooobooooo
oooooooooobooooo

:MEASure:FUNCtion<x>:EXPRession
oo gdooooooooooooooooo/oo
ooooooo
od :MEASure:FUNCtion<x>:EXPRession {<[U
Ood>}
:MEASure:FUNCtion<x>:EXPRession?
<x>0104
<gogd=gso000C0O
O :MEASURE : FUNCTIONL1:
EXPRESSION "URMS(E1l)"
:MEASURE : FUNCTION1:EXPRESSION? ->
:MEASURE : FUNCTIONL1:
EXPRESSION "URMS(E1l)"
oo oooopoooooooooooo
goooOooooOoOoOoOoOoooooooooo
gobooooboogooo
goooOooooOoOoOoOoOoooooooooo
goooooopooOoOoOoooooooooo
gobooooboooooooooooo

:MEASure:FUNCtion<x>[ :STATe]

oo OO00000ooOooDoDOoooOooO(oON)/0O
(OFR00O0/000000000
od :MEASure:FUNCtion<x>

[ :STATe] {<Boolean>}
:MEASure:FUNCtion<x>:STATe?
<x>0104
O :MEASURE : FUNCTION1:STATE ON
:MEASURE : FUNCTION1:STATE? ->
:MEASURE : FUNCTION1:STATE 1
oo gooooboobooboboboo
gobobooooboooobobooooboboooo
goooooboboooobobooooboboooo
goooooboobobooboboonog

:MEASure:FUNCtion<x>:UNIT
00 jodddddooooo0oooooooooo
goooo/0o000oDooon
oo :MEASure:FUNCtion<x>:UNIT {<O0O0O>}
:MEASure:FUNCtion<x>:UNIT?
<x>0104
<0oO0o=o080000
ad ¢:MEASURE:FUNCTION1:UNIT "V"
:MEASURE : FUNCTION1:UNIT? ->
¢:MEASURE:FUNCTION1:UNIT "V"
00 goooooooooooooon
0o00oo0ooooooooooooooooo
oooooooooooo
0o00oo0ooooooooooooooooo
Jgooooooooooooooooooooo
ooooooooOooooooooooooon
0o0o0oooooooooooooog

:MEASure :MHOLd

od MAX HOLDO OOON/OFFO O O/00000O
gooo

oo :MEASure:MHOLd {<Boolean>}
:MEASure:MHOLd?

g :MEASURE : MHOLD ON
:MEASURE :MHOLD? -> :MEASURE:MHOLD 1

od goooooooocooboooo

gooooooooboooboOobooooOoooo
ooooooooooooooooooooo
oooooooooooooooooo

:MEASure:PC?

oo Pc(Corrected Power)D OO OO OOOOOO
gooooooooooo

oo :MEASure:PC?

] :MEASURE:PC? -> :MEASURE:PC:
IEC 1976;P1 0.5000;P2 0.5000

oo gooooboooobobooobboooboooo

joddddodooooooooooooooo
goboooooocooboocoooo

:MEASure:PC:IEC

oo Pc(Corrected Power)D 0 000 O0O0/0000
goooo
oo :MEASure:PC:IEC {<NRf>}

:MEASure:PC:IEC?
<NRf>0 19760 1993

g :tMEASURE:PC:IEC 1976
:MEASURE:PC:IEC? -> :MEASURE:PC:
IEC 1976

oo goobOobobooboboobogoo
OIEC76-100000000OPcOOODOODO
gooogoog
gboooooobooooboboooobbooooo
goboboooobboooobboooobobooao
gboboobooooooobobobo
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:MEASure:
oo

oo

oo

:MEASure:
oo
oo

od

:MEASure:
oo
oo

od

PC:P<x>

Pc(Corrected Power)D O OO OOOO0ODOO

oo0o/000000000

:MEASure:PC:P<x> {<NRf>}

:MEASure:PC:P<x>?

<x>0102

<NRf>[ 0.000000 9.9999

:MEASURE:PC:P1 0.5

:MEASURE:PC:P1? -> :MEASURE:PC:

P1 0.5000

gooooooooboboobogoo

00000000000 :MEASure:PC:IECH
000001976(IEC76-1(1976))0 000 0O
gooooo

gobooooobooooboboooobooog
goOooooboOoOooboooooboooag
go000o0o0oo0obobooboooog

PHASe

00000000000 /000000000

:MEASure:PHASe {<NRf>}

:MEASure:PHASe?

<NRf>0 1800 360

:MEASURE:PHASE 180

:MEASURE:PHASE? -> :MEASURE:

PHASE 180

0000000000000000

0018000000+ 00180° (Lead/Lag)
0003600000000360° 00000
oo

0000000000000000000000
000000000000000000000
000000000000000000

SFORmula
sSCoO0oo0)yDboooooo/00oooooooo
:MEASure:SFORmula {RMS|MEAN|DC|
MRMS}
:MEASure:SFORmula?
:MEASURE : SFORMULA RMS
:MEASURE : SFORMULA? -> :MEASURE:
SFORMULA RMS
gooooooooooooooo
O00o0ooOooooooOooooooooooo
oood
RMS : SO Urms * Irms
MEAN : SO Umean * Imean
DC :SOUdc *Idc
MRMS : SO Umean * Irms
O00o0ooOooooooOooooooooooo
j0o00ooOooooooOooooooooo
00o00oo0oooooooooooog
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NUMericOOOOOOO0OOO0OOOOOOOOOOOOOOOOO
gboboboooobooboobobobobooooooboan

D)

Fol

N\

—(_FORMat

<Space>

IMPedance

o <Space> |—-| <NRf> I l

~>( NUMber <Space>

~>( ITEM <> <Space>

<Element>

~>( PRESet )——l <Space> |——| <NRf>

]
|
~>( CLEar )——l <Space> ALL )

A
™
olcm—c

<NRf>

s—( NUMber)T-l <Space>

<NRf>

1
o
O

1
o
O

s—( ARRay )T-l <Space>

]
J
]
dl
~>< ITEM <x> <Space> NONE \/
Fanctons m,{
(?)
N

\-~(_PRESet }—=f <Space> | —+| <NRf>

|

|

~—< CLEar )——l <Space> ALL \/
LO—
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:NUMeric?
0o

oo
O

:NUMeric:
oo

od

od

goooooooOooboooboooboog
goood
:NUMeric?
gooooboobogoo
:NUMERIC? -> :NUMERIC:
FORMAT ASCII;NORMAL:NUMBER 15;
ITEM1 URMS,1;ITEM2 UMN,1;
ITEM3 UDC,1;ITEM4 UAC,1;
ITEM5 IRMS,1;ITEM6 IMN,1;
ITEM7 IDC,1;ITEM8 IAC,1;
ITEM9 P,1;ITEM10 S,1;ITEM11l Q,1;
ITEM12 LAMBDA,1;ITEM13 PHI,1;
ITEM14 FU,1;ITEM15 FI,1
gooooboobOoboooog
:NUMERIC? -> :NUMERIC:
FORMAT ASCII; IMPEDANCE:NUMBER 6;
ARRAY 1;ITEM1 BU,4;ITEM2 BI,4;
ITEM3 BP,4;ITEM4 FREQ;ITEM5 ZR,5;
ITEM6 ZI,5

FORMat
0 :NUMeric: {NORMal | IMPedance}:
vaLue? OO DODOOOODODOOODODOOO
oooooo/0o0oooocooon
:NUMeric:FORMat {ASCii|FLOat}
:NUMeric:FORMat?
:NUMERIC:FORMAT ASCII
:NUMERIC:FORMAT? -> :NUMERIC:
FORMAT ASCII
goboooooobooobooboo
0 :NUMeric:FORMatO 0O OODOOOODO
gooooobooo
(HOASCIDOO0O
OOO0OO<NR3>O0O0O0O0OODOOOW@
00000 (TIME)D O<NR1>00)
joooooooooooooooo
od
(20FLOatO O OO
goo0o0oooooooooeconod
Oooog(@ "#400600 00000
0O00o0ob0bO0o0o0oboOoUOIEEED D OO
0000@byte)DOODODODOOO0O
od
pgoooboboooobooooooo
MSB Firstd O O
goboooooboooobbooooboboo
gooobobooooboooobbooo
poooobooooooboo

:NUMeric:IMPedance?

oo

oo
O

oo

goooooOo0ooboboOoobbooobooooo
go0o0o0o0o0oobooboboboooboo
:NUMeric:IMPedance?
:NUMERIC:IMPEDANCE? ->

:NUMERIC: IMPEDANCE :NUMBER 6;

ARRAY 1;ITEM1 BU,4;ITEM2 BI,4;
ITEM3 BP,4;ITEM4 FREQ;ITEM5 ZR,5;
ITEM6 ZI,5

0 :NUMeric:IMPedance:ITEM<x>0 0000
J000000000 :NUMeric:IMPedance:
NuMberOOOOOOOODOOOOODOODOOO
gooooooooboo

:NUMeric:IMPedance:ARRay

oo

oo

oo

[ :NUMeric:IMPedance:VALue?U 0000
goooooOOooOOobOoboboooooooo
(O)ybooooopoooo@oo)yoo/oo
googoooo
(0 0000000000 ={2Zr|z1|z|PHI|U]|
I|FREQ})
:NUMeric:IMPedance:ARRay {<NRf>}
:NUMeric:IMPedance:ARRay?
<NRf>0 10 100
:NUMERIC: IMPEDANCE:ARRAY 1
:NUMERIC:IMPEDANCE :ARRAY? ->
:NUMERIC: IMPEDANCE:ARRAY 1
000000000 :NUMeric:IMPedance:
VALwe?0 O OOOOODOOOCOOOOODOO
oo0lg@oo)yoooooooooooo
od
goooooooOoOooOOoOoO@OoOo)y)yoao
gooooooogoo

:NUMeric:IMPedance:CLEar

oo

oo

jddddddodoooooooooooooo
O0O0O0OOO@NONEDOOO)YIODODO
:NUMeric:IMPedance:CLEar {ALL]|
<NRf>[ ,<NRf>]}
ALLOOOOOO0OO0OC0O0O0
1000<NRf>01016(C 0000000000
0)

2000<NRf>01016(C 0000000000
0)

:NUMERIC: IMPEDANCE:CLEAR ALL
2000<NRf>0000000000000O0OO
oooo@e)oooooooooooooo
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:NUMeric:IMPedance: ITEM<x>

oo

oo

oo

gooooooooooDoooooooooo/

gooooooooo

:NUMeric:IMPedance:ITEM<x> {NONE|

<Function>[,<Element>]}

:NUMeric:IMPedance: ITEM<x>?

<x>01016(0000)

NONEO OODOODOO

<Function>0 {BU|BI|BP|ZR|ZI|Z|PHI|U|

I|FREQ}

<Element>0 {<NRf>}(<NRf>0 100 5)
:NUMERIC:IMPEDANCE:ITEM1 BU,4
:NUMERIC:IMPEDANCE:ITEM1? ->
:NUMERIC:IMPEDANCE:ITEM1 BU,4

O<Functon>0 00000000000 OOO
gooooo
BUOOOOOOOOOOOOODOOUe) (O
0 0O Battery Voltage)
BIOODOODDODODDODODODOOOOOI(de)(D
0 O Battery Current)
BPOOOOODODODDOOOODOOOP((c)(D
0 O Battery Power)
ZROODDODODOODOOODOOOOM@MDOOZ)
ZDOoDooooooooooo@oozy
z0ODODOODOODOODODOOoOOO@OoOo|2Z)])
PHIDOOODO(@ODO®)
udooooooooooooooooo@
0ovu)
1000000000000 00000DO0O(@
ool
FREQO O 00O (0 O O Freq)

O <Function>0 0 FREQO O O O O <Element>
gooooooo

:NUMeric:IMPedance:NUMber

oo

oo

oo

0 :NUMeric:IMPedance:VALue?0 0000

goooooooooOoOoOoOo/000O00O00

od

:NUMeric:IMPedance:NUMber {<NRf>}

:NUMeric:IMPedance:NUMber?

<NRf>0 10 16

:NUMERIC: IMPEDANCE : NUMBER 6

:NUMERIC: IMPEDANCE :NUMBER? ->

:NUMERIC: IMPEDANCE : NUMBER 6

000000000 :NUMeric:IMPedance:
VALue?0 0100 00)Y0000O0ODODOO
gopoooo

ooooooooooooobooooooennO
gopoooooog

:NUMeric:IMPedance:PRESet

0od

0od

goooooo0oobobOoobbooobooooo
goooooo0oobobOoobbooobooooo
:NUMeric:IMPedance:PRESet {<NRf>}
<NRf>0 1040 0000000000)
:NUMERIC:IMPEDANCE:PRESET 1
goOoo0oooooOoobooooobbooooo
000ooooooooooEoooooon
g0o00o0o0o0oboOOooobboooobbooo
ooooobooooooo
gO000obO0oooOobOoooz20000b000O
gooooogoo

:NUMeric:IMPedance:VALue?

od

od
a

od

jofjddddgoooooooooooooo

gopoooo

:NUMeric:IMPedance:VALue?

00 :NUMeric:FORMatO OO OO OAsciild
ooood
:NUMERIC: IMPEDANCE:VALUE? ->
104.75E+00,105.02E+00, -
0.38E+00,..(00)..,49.868E+00

00 :NUMeric:FORMat[ OO OO0 FLOatO
ooood
:NUMERIC: IMPEDANCE :VALUE? -> #4 (4D
ooooo)yooooooooo)

0100 :NUMeric:IMPedance:NUMber[d [
goooooooOooboOooooooo
00000000000 (({2R|2I|z|PHI|U|T]
FREQ})IDODDOODODODODLO

0 :NUMeric:IMPedance:ARRayl 0 0O 00O
goooooooooboooo
gooooo0ooOooOooOooooboOooooo
goooOopooOoOoOoOooooooooooo
goooooooooboooooo

:NUMeric:NORMal?

od

od
a

od

jofjddddgoooooooooooooo
goooooooooooooo
:NUMeric:NORMal?

:NUMERIC:NORMAL? -> :NUMERIC:
NORMAL:NUMBER 15;ITEM1 URMS,1;
ITEM2 UMN,1;ITEM3 UDC,1;

ITEM4 UAC,1;ITEM5 IRMS,1;

ITEM6 IMN,1;ITEM7 IDC,1;

ITEM8 IAC,1;ITEM9 P,1;ITEM1O0 S,1;
ITEM11 Q,1;ITEM12 LAMBDA,1;

ITEM13 PHI,1;ITEM14 FU,1;

ITEM15 FI,1

0 :NUMeric[:NORMal]:ITEM<x>0 0000
0000000000 :NUMeric[:NORMal]:
NuMberOJOOOOOOOOOOOOOODO
gooooooooooo
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:NUMeric[ :NORMal] :CLEar

oo goooooooOooboooboooboog
O@NONED ODOD)YDOOOO

oo :NUMeric[ :NORMal]:CLEar {ALL|<NRf>
[ ,<NRf>]}

ALLOOOO0OO0O00O0OO000
1000<NRf>010255(0 000000000

0o)
2000<NRf>010255(0000000000
0o)

0 :NUMERIC:NORMAL:CLEAR ALL

oo 2000<NRf>000000000000000

gooo@sh)yooooooooooooooo

:NUMeric[ :NORMal] : ITEM<x>

oo 000000D00ooDooOoDbOooooDooog/
ooooooooao
0o :NUMeric[ :NORMal]:ITEM<x> {NONE |

<Function>,<Element>}
:NUMeric[ :NORMal] : ITEM<x>?
<x>010255(0000)
NONEO O OOODOO
<Function>0 {URMS | UMN | UDC | UAC | IRMS |
...y ODISPRyD D 0O0O0O0OO0OO0DODOOO
oooo@ooo)
<Element>0 {<NRf>|SIGMA|SIGMB|SIGMC}
(<NRf>0104)(000000000)

| :NUMERIC:NORMAL:ITEM1 URMS, 1
:NUMERIC:NORMAL:ITEM1? -> :NUMERIC:
NORMAL:ITEM1 URMS,1

:NUMeric[ :NORMal] :NUMber

oo 0 :NUMeric:NORMal:VALue?O OO ODOODO
doooooooooo/0cooobooooo

oo :NUMeric[ :NORMal] :NUMber {<NRf> |
ALL}

:NUMeric[ :NORMal ] :NUMber?
<NRf>0 10 255(ALL)
] :NUMERIC :NORMAL:NUMBER 15
:NUMERIC:NORMAL:NUMBER ->
:NUMERIC :NORMAL:NUMBER 15
oo 0 0 :NUMeric:NORMal:VALue?O O OO OO
joooooooig@ooy)yooooooo
goopoooooo
go0o0ooOoooooOoobooobogasgo
gopoooooodg

:NUMeric[:NORMal] : PRESet

oad gd0o0O0bOO0bO0bOO0ObOOobOOooooooooo
gooooboOoOooooooooo

oo :NUMeric[ :NORMal]:PRESet {<NRf>}
<NRf>0 1040 000000000O0)

a :NUMERIC : NORMAL:PRESET 1

oad 0d000o00ooooOoboooOobooooooo

ooooooooooooo@oooooo
goooooooooooooooooboooo
ooooooo

ooooooooooooboz200000000
gooooooo

:NUMeric|[ :NORMal] :VALue?

od gooboobobooo0o0o0odoogooooo
od
oo :NUMeric[ :NORMal]:VALue? {<NRf>}
<NRf>0 102550 000)
] O<NRf>000000000
:NUMERIC:NORMAL:VALUE? 1 ->
104.75E+00

O<NRf>000000000
:NUMERIC:NORMAL:VALUE? ->
104.75E+00,105.02E+00,-0.38E+00,

..(00)..,49.868E+00
0 O :NUMeric:FORMatO 0 0 0 O O FLOatO
oooog

:NUMERIC:NORMAL:VALUE? -> #4(4|:| 0
0000 0ODOooOooOoo)
0o O<NRf>00000000000000000

000000000000

O<NRf>00000000100 :NUMeric
[:NORMal]:NuMberd 0O 000000
000000000000

000000000000000000000
0000D0000000000000000
000000000000000000
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gooboboboooooon

@)

00oo0ooo

0 0000000000 180° (Lead/Lag)0 0000
0 o(PHI)

ASCIOOD/GO+ <NR3>00(0 00000005
000000200 00G90.00E+00)
FLOATOIEEED 00000 0O (4byte)d O

0 DO0O0POSOQOIPC)OE

0 000 (WHDWHPO WHMO AHO AHPO AHM)
ASCIO<NR3>00(000000006000000
200 0 O [-]123.456E+00)

FLOATOIEEED 00000 0O (4byte)d O

0 000000 (TIME)
ASCIOOO0DOO<NR1>00 (00100 (1:00:00)0
0 0 0 3600)
FLOATOIEEED 000D O0O0 O (4byte)0 0000
(0010 O (1:00:00)0 O O O 0x45610000)

0 0000 (NONE)
ASCIIO O NANO (Not A Number)
FLOATO OX7E951BEE(9.91E+37)

0 0ooo
ASCIO<NR3>00(000000005000000
200 0 O[-]123.45E+00)

FLOATOIEEED 00000 0O (4byte)d O

00oo0ooo

0 000000000(@ 00" "
ASCIIO O NANDO (Not A Number)
FLOATO OX7E951BEE(9.91E+37)

0 00000O0(@OO0"--0 L")

0 00000O0(@OO0"--0 F---")

0 000000 (@OoO0" Eror")
ASCIIO O INFO (INFinity)
FLOATO OX7E94F56A(9.9E+37)

gbooboboooboobooboobobobo
o00o0oooOoooooogoo(Functon)DO0oOO
gobooooboooobooooboboooobboo
go0o0opooobIsPeyD 00ooooooogooono
gbooboooooon

Note

00000000000000000000000000000
(TEM<x>)0 0 D0D0000000000000000(Function)
000000 emen)y0 000000000000000000
00000000000000000000000000000
000000000000000000020000000F00
00000000000000000 ITEM1e0000000
0000D0000000000(ASCIOONAN)DOOODD

1)

00oDo0o0ooooooooooooooooo
OJO000000 :NUMeric[ :NORMal]:PRESet[]

0 odooo1
ITEM<x>
1

© 0N O WN

10
11019
20
21029
30
31039
40
41049
50
51059
60
61069
70
71079
80
810 89
90
910 255

0o oooo2
ITEM<x>

[

© 0N WN

15

160 30
31045
460 60
61075
760 90
910 105
1060 120
1210135
1360 255

<Function>,
URMS,
IRMS

P,

S,

Q
LAMBda,
PHI,

FU,

FI,

NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
URMSO FI,
NONE
NONE

<Function>,
URMS,
UMN,
UDC,
UAC,
IRMS,
IMN,

IDC,

IAC,

P,

S,

Q
LAMBda,
PHI,

FU,

Fl,
URMSO FI,
URMSO FI,
URMSO FI,
URMSO FI,
URMSO FI,
URMSO FI,
URMSO FI,
URMSO FI,
NONE

<Element>

PR RPRRRPRRRRPR

SIGMA

SIGMB

SIGMC

<Element>

O U DN WNRRRRRPRREPRPRRRPEPRRERLRLSPR

SIGMA
SIGMB
SIGMC
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5.130 NUMericO O O O

Oooooos
ITEM<x>
1

© 0o ~NO OO WN

20
21039
40
41059
60
61079
80
81099
100
1010119
120
1210139
140
1410159
160
1610179
180
1810 255

Oooooo4
ITEM<x>
1

© 0N b WN

<Function>,
URMS,

UMN,

uDC,

UAC,

IRMS,

IMN,

IDC,

IAC,

P,

S,

Q

LAMBda,

PHI,

FU,

Fl,

UPPeak,
UMPeak,
IPPeak,
IMPeak,

NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

URMSO IMPeak,
NONE

NONE

<Function>,
URMS,
UMN,
UDC,
UAC,
IRMS,
IMN,
IDC,
IAC,

P,

S,

Q,

FU,

FI,
TIME,
WH,

<Element>

PR RPRPRRPRRPRRPRRPEPRRPRERERERRLER

SIGMA

SIGMB

SIGMB

<Element>

PR RRPRRPRRPRRPRRERRERLERESPR

@

16

17

18

19

20
21040
41060
61080
810100
1010120
1210 140
1410160
1610 180
1810 255

WHP,

WHM,

AH,

AHP,

AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
URMSO AHM,
NONE

O U AN WNRERREREPR

SIGMA
SIGMB
SIGMC

gobooooboooooooooooobooooooo

ooo

0000000 :NUMeric:IMPedance:PRESet[

Ooooool
ITEM<x>
1
2
3
4016

Oooogooz
ITEM<x>
1

o g~ wWN

7016

Oooooos
ITEM<x>
1

o g~ wWN

7016

Oooooo4
ITEM<x>
1

o g~ wWN

7016

<Function>,
FREQ,

ZR,

Zl,

NONE

<Function>,
BU,

BI,

BP,

FREQ,

ZR,

Zl,

NONE

<Function>,
BU,

BI,

BP,

FREQ,

U,

I,

NONE

<Function>,
BU,

BI,

BP,

FREQ,

Z,

PHI,

NONE

<Element>

Impedance
Impedance

<Element>
Battery
Battery
Battery

Impedance
Impedance

<Element>
Battery
Battery
Battery

Impedance
Impedance

<Element>
Battery
Battery
Battery

Impedance
Impedance
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5.130 NUMericO 0 0 0/5.140RATEC 0 OO

0 <Element>0 0 O

Impedance0 00000 O00D0OO0OODOO@OOO
oooooooooono)
BatteryO OO OQOQOOGOQOOOO
(0ODO0DOO0OO0bOobOOooOooooooooooooag
goooooioono)

5.14 RATEL O U U

RATED O OUODOODODOOOOOODOODOODOODOOO
O00O00O0OOOUPDATERATED DO OODODODOODOODLOOOOOOOOOOODOOD

( :RATE ) I <Space> I I <Time> }7—f—(
I )
N4

:RATE

oo 0Oo000000000000000000/0
oooooooo

oo :RATE {<0 0>}
:RATE?
<0 0 >0 500 1000 2000 500(ms)0 10 20 5
(s)

O :RATE 200MS
:RATE? -> :RATE 200.0E-03

oo 0000000000000000000000

oopbooooooooboooooo
gooooooooooooooooobooooo

goooooooooooooooooooo

goboooobooooooooobooo
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5.15 STATus OO O

STATusOUOOOOOO0OOOOO0ODODOO00O0OO00ooo0oooooobooooooo
gboboboobooboobobobobobooooobooon
obobobooooobobobebobobooooon

D)

( & alfe
(sTatus ) O (CONDition ) @
L—( EESE <Space> |—-|<Register>l
N J
U
(s ) ——(

L—( FILTer )—-l <> |—\—-| <Space>

o1

L a
a
L.(QENable) o <sp f—~——( oFF B
0
.
: ©
L.(QMESsage) o <sp } (_oFF ) ~
o )
\ ©
N @ J
:STATus? :STATus : EESE
oo goooooooOooboooboooboog (Extended Event Status Enable register)
gooooooao oad jdooooooooooooooooo/oon
oo :STATus? oooooo
0 :STATUS? -> :STATUS:EESE 0;FILTERL oogd :STATus :EESE <Register>
NEVER; FILTER2 NEVER;FILTER3 NEVER; :STATus : EESE?
FILTER4 NEVER;FILTER5 NEVER; <Register> 000 65535
FILTER6 NEVER;FILTER7 NEVER; O :STATUS:EESE #B0000000000000000
FILTER8 NEVER;FILTERY NEVER; :STATUS:EESE? -> :STATUS:EESE 0
FILTER10 NEVER;FILTER11l NEVER;
FILTER12 NEVER;FILTER13 NEVER; :STATus : EESR?
FILTER14 NEVER;FILTER15 NEVER; (Extended Event Status Register)
FILTER16 NEVER;QENABLE 0;QMESSAGE 1 oo 0000000000000 0O0O0OOoooon
gooooooooo
:STATus :CONDition? oogd :STATus : EESR?
oo godoo0booOooobooooooooa O :STATUS:EESR? -> 0
oo :STATus :CONDition?
0 :STATUS: CONDITION? -> 16
oo :STATus:CONDitionO0 0O OO0OOODODO
goodboo4-80000000O0OO0O0OOO
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5.150 RATED 00O

:STATus : ERRoOr?

oo

oo
|

oo

0o00o0oooooooDooooooo @

oooooooo)yhoooooooo

:STATus :ERRor?

:STATUS:ERROR? ->

113, "Underfined Header"

000000o0oO0ooooOoboOoboOoodO"No
error'0 0000000

goboooooboooobooooobobooog
oo

O O0STATus:QMESsage0 000000000
go0o00o00oo0obobooboooog

:STATus :FILTer<x>

oo
oo

oo

o0o0oooOoOooo/000oo00oo
:STATus :FILTer<x> {RISE|FALL|BOTH]|
NEVer}

:STATus :FILTer<x>?

<x>01016

:STATUS:FILTER2 RISE
:STATUS:FILTER2? -> :STATUS:
FILTER2 RISE
ooooooooooooboooooobooooo
ooooboocoOoobooocboooooao
ORISEDOOODOOOOODIDOOOOOOOOO0O
ooooooooo

:STATus : QENable

oo

oo

gobooooboooobooobooobooog
OONy/OOO@©OFROOO/00000000OO0
:STATus :QENable {<Boolean>}

:STATus :QENable?

:STATUS : QENABLE ON

:STATUS:QENABLE? -> :STATUS:
QENABLE 1

:STATus :QMESsage

oo

oo

OsTATus:ERRor?0 0 0000000DOOO
oooo@ON/Oo0O0OO0OFROO0oO/0000
gooog

:STATus:QMESsage {<Boolean>}
:STATus :QMESsage?

:STATUS:QMESSAGE ON
:STATUS:QMESSAGE? -> :STATUS:
OMESSAGE 1

:STATus:SPOLI? (Serial Poll)

oo
oo
|

oo

gobobooooooooooboo
:STATus : SPOL1?

:STATUS:SPOLL? -> :STATUS:SPOLL 0
00DoDoRS-232)0000000000000O
gooocGP-IBOOOOOODODDOOODDOO
ooooOooooooboobobobobooo
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5.16 STORel OO

STOReD OO DOODOODOO/O0ODOOOOOOOOOOOOO

O0OOOCOOOOSTORED STORE SET(SHIFT+STORE)D D 0000 O0OO0OOOOOOOOOOOOOOOOOO
gbobobooooooboboboooooboobobobooboooobDobobobobboobooboboboo
gboboboboooooooobogoo

-

)
™
:STORe —s(__MODE <Space> STORe ) |
-‘( STARt } J|
M _sToP ) y
DiRection <Space> MEMory ) y
I-=(_smope <Space> MANual ) y
RTINe
INTEGrate

-~

1
~..( COUNt <Space> |_.| <NRt> |
INTerval <Space> <NRf> O O <NRf>
iy
)
™
RTIMe O STARE <Space> }— <NR> |_.O_.| <NRf> |_.O_.| <NRf> |_.O_.| <NRf> |_.O_.| <NRf> |_.O_.| <NRf>

c)e)

NUMeric ),

G

A\
)
A\
@L( o
=

ELEMent S <Space>

= SIGMA )
= SIGMB )
s SIGMC )

\—=kNormal-Function:

<Space>

()
S
(7)
&
Y
™
WAVE ALL )_.| <Space>
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5.160 STORe O OO

©- ~
@
O Oy~(execue
ABORt
vt( INITialize
- o )
NAME <Space> |
COMMent <Space> <String> |
@
~.( RECall <Space> |_.| <NRf> :
@
:STORe? :STORe:FILE?
oad goo/00000000000ooOooOooDooon oo gdodoOO0bOO0bOO0obOOoboOooooooooo
ogooooao gooooooono
oo :STORe? oo :STORe:FILE?
a :STORE? -> STORE:MODE STORE; a :STORE:FILE? -> :STORE:FILE:
DIRECTION MEMORY ; SMODE MANUAL; ANAMING 1;NAME "DATA1l";
COUNT 100;INTERVAL 0,0,0; COMMENT "CASEl"
ITEM NUMERIC;NUMERIC:NORMAL:
ELEMENT1 1;ELEMENT2 0;ELEMENT3 0; :STORe : FILE : ANAMing
ELEMENT4 0;SIGMA 0;SIGMB 0;SIGMC 0; oo gooobobobobooboboooooooo
URMS 1;UMN 1;UDC 1;UAC 1;IRMS 1; jooooooooooooo/0o0oooo
IMN 1;IDC 1;IAC 1;P 1;S 1;0 1; oo
LAMBDA 1;PHI 1;FU 1;FI 1;UPPEAK 1; oo :STORe:FILE:ANAMing {<Boolean>}
UMPEAK 1;IPPEAK 1;IMPEAK 1;CFU 1; :STORe :FILE :ANAMing?
CFI 1;FFU 1;FFI 1;Z 1;RS 1;XS 1; O :STORE:FILE:ANAMING ON
RP 1;XP 1;PC 1;TIME O;WH O;WHP 0; :STORE:FILE:ANAMING? -> :STORE:
WHM O;AH O0;AHP 0;AHM O;ETA O; FILE:ANAMING 1
SETA 0;F1 0;F2 0;F3 0;F4 0;DURMS O0;
DUMN 0;DUDC 0;DUAC 0;DIRMS 0; :STORe : FILE : COMMent
DIMN 0;DIDC 0;DIAC 0 oo 0000000000000000000000
jooooooooo/c0o0oocoooa
:STORe : COUNt oo :STORe:FILE:COMMent {<0 00>}
oo oo0oooooo/000000000 :STORe : FILE : COMMent ?
oo :STORe:COUNt {<NRf>} <000>0250000

:STORe : COUNt?
<NRf>0 10 999999
O :STORE:COUNT 100
:STORE:COUNT? -> :STORE:COUNT 100

:STORe:DIRection

oo goooooo/0o0obooooboo

od :STORe:DIRection {MEMory|FILE}
:STORe:DIRection?

O :STORE:DIRECTION MEMORY

:STORE:DIRECTION? -> :STORE:
IRECTION MEMORY

g :STORE:FILE:COMMENT "CASEl"
:STORE:FILE:COMMENT? ->
:STORE:FILE:COMMENT "CASEl"

5-72

IM 760151-17



5.160 STORe 0 O O

:STORe:FILE:NAME

oo gooooooooooooooboooboobooobooo
oov/0bopooooooo

oo :STORe:FILE:NAME {<Filename>}
:STORe:FILE:NAME?

O :STORE:FILE:NAME "DATAl"

:STORE:FILE:NAME? -> :STORE:FILE:
NAME "DATAl"

oo gooooooooooooo
000000000 :FILE:DRIVeOOODODO
000000000 :FILE:CDIRectoryll [

0ooo
gooooooooooobopooboo
O:FILE:PATH?0000000COCCODOO

:STORe: INTerval
od ooooooooooo/00bDooooog
od :STORe:INTerval {<NRf>,<NRf>,<NRf>}

:STORe:INTerval?
1000 <NRf>00099(0 0)
20 0 0<NRf>00059(0)
300 0<NRf>01059(0)

O : STORE : INTERVAL 0,0,0
:STORE: INTERVAL? -> :STORE:
INTERVAL 0,0,0

:STORe : ITEM
od o0ooooOoOoooo/00o0o0ooooo
oo :STORe:ITEM {NUMeric |WAVE|NWAVe}

:STORe: ITEM?
NUMericOOOOOOOO
WAVEOOOOODOOO
NWAvel O OOOO0OO0OO0OOOOO

g :STORE: ITEM NUMERIC
:STORE:ITEM? -> :STORE:ITEM NUMERIC

:STORe : MEMory : CONVert : ABORt

oo oooooooooooooooooooooog
gooooooo

oo : STORe : MEMory : CONVert : ABORt

g : STORE : MEMORY : CONVERT : ABORT

:STORe :MEMory:CONVert :EXECute

0o gooooooooooooooooooooo
oooooooo

oo :STORe :MEMory : CONVert :EXECute

O : STORE : MEMORY : CONVERT : EXECUTE

0o goooooooooooDooDoDO
0 :STORe:FILE: ...0000000

000000000000000000000
000000200000000000
00000000000000000000
0000000 COMMUNICATE:WAIT 640
0000(@O000000006(ACS)OD
0000D00)00000WT1600FCO 00
00000000020000000000
0000000000
"STATUS:EESR?"

(00D0O0D00O00000O0on)
"STORE : MEMORY : CONVERT : EXECUTE"
(00DoO0O0o0oooon)
"COMMUNICATE :WAIT64"
(00DoO0O0D0O0oo0O00o0100)
"STATUS :EESR?"
(00D0O0D00O00000O0on)
"COMMUNICATE :WAIT64"
(00DOoO0O0D0O0oo0O00O0200)
"STATUS :EESR?"
(000O0D00O00000O0on)

:STORe:MEMory:INITialize

oo 0o0oooooooooooooog

od :STORe:MEMory:INITialize

O : STORE : MEMORY : INITIALIZE

: STORe : MODE

oogd ooooooo/0000000/0000000
oogd

oogd :STORe:MODE {STORe|RECall}
:STORe :MODE?

| :STORE : MODE STORE

:STORE:MODE? -> :STORE:MODE STORE
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5.160 STORe O OO

:STORe :NUMeric?

oo do0dooooooooooooooooooo
oooooono

oo :STORe:NUMeric?

O : STORE : NUMERIC? -> :STORE:NUMERIC:

NORMAL:ELEMENT1 1;ELEMENT2 0;
ELEMENT3 0;ELEMENT4 0;SIGMA 0;
SIGMB 0;SIGMC 0;URMS 1;UMN 1;UDC 1;
UAC 1;IRMS 1;IMN 1;IDC 1;IAC 1;P 1;
S 1;0 1;LAMBDA 1;PHI 1;FU 1;FI 1;
UPPEAK 1;UMPEAK 1;IPPEAK 1;

IMPEAK 1;CFU 1;CFI 1;FFU 1;FFI 1;

Z 1;RS 1;XS 1;RP 1;XP 1;PC 1;

TIME O;WH O;WHP O;WHM O;AH 0;AHP 0;
AHM 0;ETA 0;SETA 0;F1 0;F2 0;F3 0;
F4 0;DURMS 0;DUMN 0;DUDC 0;DUAC O0;
DIRMS 0;DIMN 0;DIDC 0;DIAC O

:STORe:NUMeric:NORMal?

oo gofdoooOoooopooboopoooooooo
oooooooooobogoooo

oo :STORe:NUMeric:NORMal?

O :STORE : NUMERIC:NORMAL? -> :STORE:

NUMERIC:NORMAL:ELEMENT1 1;
ELEMENT2 0;ELEMENT3 0;ELEMENT4 0;
SIGMA 0;SIGMB 0;SIGMC 0;URMS 1;
UMN 1;UDC 1;UAC 1;IRMS 1;IMN 1;
IDC 1;IAC 1;P 1;S 1;Q 1;LAMBDA 1;
PHI 1;FU 1;FI 1;UPPEAK 1;UMPEAK 1;
IPPEAK 1;IMPEAK 1;CFU 1;CFI 1;

FFU 1;FFI 1;Z 1;RS 1;XS 1;RP 1;

XP 1;PC 1;TIME O0;WH O;WHP O;WHM O;
AH 0;AHP 0;AHM 0;ETA 0;SETA 0;F1 0;
F2 0;F3 0;F4 0;DURMS 0;DUMN O0;
DUDC 0;DUAC 0;DIRMS 0;DIMN 0;

DIDC 0;DIAC 0

:STORe :NUMeric:NORMal:ALL

od goooooooooboboboboboooo
goooooooooboboboboboooo
ON/OFFO OO OOOoOoOO

od :STORe:NUMeric:NORMal:
ALL {<Boolean>}
O : STORE : NUMERIC :NORMAL:ALL ON

:STORe :NUMeric:NORMal: {ELEMent<x>|SIGMA |

SIGMB|SIGMC}
od ooo0ooooOoOo0ooooooooooo{o
000000000 |ZA|ZB|ZC}OO0OON/
OFFO0OO0/00000DDOOO
od :STORe :NUMeric:NORMal: {ELEMent<x> |
SIGMA|SIGMB|SIGMC} {<Boolean>}
:STORe:NUMeric:NORMal: {ELEMent<x> |
SIGMA|SIGMB|SIGMC}?
<x>0104@C00000000)
g : STORE : NUMERIC : NORMAL : ELEMENT 10N
: STORE : NUMERIC : NORMAL : ELEMENT1? ->
: STORE : NUMERIC : NORMAL: ELEMENT1 1
oo 00 :STORE:NUMeric:NORMal:SIGMBO OO
O0/0000000000D0D0000O0DOO20
oooooooooooo
00 :STORE:NUMeric:NORMal:sIcMcO OO
0/0000000000D00000DO0O30
oooooooooooo

:STORe : NUMeric:NORMal : PRESet<x>

oo gooobobobobooboooooooooo
JdddoooooooooooOO0DOON/OFF
goooboobooooboboooboboooo

oo :STORe:NUMeric:NORMal : PRESet<x>
x>0102(00000000000)

g : STORE : NUMERIC:NORMAL: PRESET1

od joddddodooooooooooooooo
joddddodooooooooooooooo
gooooo

:STORe:NUMeric:NORMal: <O OO OOOOOO

>

00 0oo0oo0oooooooooooooooo
000Do00O0ooOgOooN/OFFODOO/0000O
goood

oo :STORe:NUMeric:NORMal:<O O OOOOO

O0O000> {<Boolean>}
:STORe:NUMeric:NORMal:<O O OOOOO
gooogs>2
<00000000000>0 {URMS |UMN |
UDC|UAC|IRMS|...}(DISPlay0 00O QOO0
O0O0DO000D000(@DOn)

O : STORE : NUMERIC : NORMAL : URMS ON
: STORE : NUMERIC : NORMAL : URMS? ->
:STORE : NUMERIC : NORMAL: URMS 1

:STORe:RECall
oo Jo000oooooooooo/o00noooooo
0o :STORe:RECall {<NRf>}
:STORe:RECall?
<NRf>0 10 999999
a : STORE : RECALL 1
:STORE:RECALL? -> :STORE:RECALL 1
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5.160 STORe 0 O O

:STORe:RTIMe?

od goooooooooooooOoooOooo/za
gooooobooooobooo

oo :STORe:RTIMe?

g :STORE:RTIME? -> :STORE:RTIME:START

2001,1,1,0,0,0;END2001,1,1,1,0,0

:STORe :RTIMe: {STARt | END}

oo OooooUooooooooooo{oouoo|o
oooyoooo/00oooooog
0o :STORe :RTIMe: {STARt |END} {<NRf>,

<NRf>,<NRf>,<NRf>,<NRf>,<NRf>}

:STORe :RTIMe: { STARt | END}?

{<NRf>0 <NRf>0 <NRf>0 <NRf>0 <NRf>0
<NRf>}020010101000000020990
120 310 230 590 59

10 0 0 <NRf>0 20010 2099  (0)

2000 <NRf>01012 @)
30 00<NRf>01031 @)
4000 <NRf>000 23 @)
50 0 0 <NRf>0 00 59 @)
60 0 0 <NRf>0 00 59 @)
] :STORE : RTIME: START 2001,1,1,0,0,0

: STORE : RTIME : START? —> : STORE :
RTIME:START2001,1,1,0,0,0

:STORe : SMODe

od o0oooooOooo/0o0ooooooo

oo :STORe:SMODe {MANual |RTIMe|
INTEGrate}

:STORe: SMODe?

MANual OO0O0OO0OO0O0OO0OO0OO

RTiIMeOOOOOOOOOO

INTEGrateO O OO OOOOOOO
g : STORE : SMODE MANUAL

:STORE : SMODE? -> :STORE:

SMODE MANUAL

:STORe:STARt

oo goobooooooooobo

oo :STORe: STARt

O :STORE : START

oo 0 :STORe:SMODe] O MANualD D OO0 0O

0000000 {RTIMe|INTEGrate}d OO0
oooooooooooono

:STORe : STOP

od gooooooboooooooo
od :STORe : STOP

a :STORE : STOP

:STORe :WAVE?

oo goooooOo0ooboboOoobbooobooooo
goooooobooo

oad :STORe:WAVE?

O :STORE:WAVE? -> :STORE:WAVE:Ul 1;

U2 0;U3 0;U4 0;I1 1;I2 0;I3 0;I4 0

:STORe:WAVE :ALL

oo joddddddoooooooooooooo
OOOON/OFFODOODODODODDOO

od :STORe:WAVE:ALL {<Boolean>}

] :STORE : WAVE : ALL ON

:STORe :WAVE: {U<x>|I<x>}

od gooob0obobobooboooooooooo
ON/OFFOOO/00000D0O0OO
od :STORe:WAVE: {U<x>|I<x>} {<Boolean>}

:STORe:WAVE : {U<x> | I<x>}?
<x>0104@000ooooon)

0 : STORE : WAVE : UL ON
:STORE:WAVE:U1? -> :STORE:WAVE:Ul 1
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5.17 SYSTemU U 0O

SySTemOUOOODOOOOOOOOODODOOODOOOO
gobooooooMiscogoooooooooooooooboooooogoo

i ~1
(sysTem )~ -.( DATE <Space> |—f <String>_|

~.( TIME <Space> |—.| <String> :

~.(LANGuage)—-—| <Space> JAPANese)

: f~|
(e )—*O[_O 1

[ <space> <NRf> :

==

: ~
COLor )— —=(_GRAPh )— MODE rl

<Space> )—E DEFault )

r
of <Space> |—[ <NRf> |—.O—.| <NRf> |—.O—.| <NRf>

(?)
A

TEXT

<Space>

A
LETTer <Space> |—[ <NRE> |—.O—.| <NRf> |—.O—.| <NR>
~

(7}
~— A
L
(7} J
iy
o
©

; ~—l
\w(scsi )——@-[.:%Nm <Space> |—] <NAL> |

fs(INTernalid <Space> |—sf <NRf> |

M HpMotor

<Space> OFF )

o)

@ J
® )
:SYSTem? :SYSTem:DATE
oo 0o0oooOoOoooOooooOooooooooo oo ooooo/000oooooo
oo oo :SYSTem:DATE {<0 00>}
oo :SYSTem? :SYSTem:DATE?
O :SYSTEM? -> :SYSTEM: <000=0"vY/MM/DD"(YYOOOMMODOO
LANGUAGE ENGLISH;LCD:BRIGHTNESS 2; DDO0O)
COLOR : GRAPH : MODEDEFAULT; : SYSTEM: 0 :SYSTEM:DATE"00/01/01"
LCD:COLOR: TEXT : MODEPRESET1; : :SYSTEM:DATE? -> "00/01/01"
SYSTEM:SCSI:OWNID 6; INTERNALID 4; oo ooooogooo2oo0o00
HDMOTOR 1
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5.170 SYSTemUO O OO

:SYSTem: LANGuage

oo goooooooooo/copoooooo

oo :SYSTem:LANGuage {JAPANese|ENGLish}
:SYSTem:LANGuage?

g :SYSTEM: LANGUAGE ENGLISH

:SYSTEM:LANGUAGE? -> :SYSTEM:
LANGUAGE ENGLISH

:SYSTem:LCD?

oo LChOOOUOooooooooooooooo
ooo

oo :SYSTem:LCD?

O :SYSTEM:LCD? -> :SYSTEM:LCD:

BRIGHTNESS 2;COLOR:GRAPH:
MODE DEFAULT; : SYSTEM:LCD:COLOR:
TEXT:MODE PRESET1

:SYSTem:LCD:BRIGhtness

oo LcobOoooooooo/0000DO0ODDO

oo :SYSTem:LCD:BRIGhtness {<NRf>}
:SYSTem:LCD:BRIGhtness?
<NRf>0 0103

] :SYSTEM:LCD:BRIGHTNESS 2
:SYSTEM:LCD:BRIGHTNESS? -> :SYSTEM:
LCD:BRIGHTNESS 2

:SYSTem:LCD:COLor?

oo LCODOOOO0O0OOoOoooooboooooo
gooooog

oo :SYSTem:LCD:COLoOr?

O :SYSTEM:LCD:COLOR? -> :SYSTEM:LCD:

COLOR:GRAPH:MODE DEFAULT; : SYSTEM:
LCD:COLOR:TEXT:MODE PRESET1

:SYSTem:LCD:COLoOr : GRAPh?

00 godooooooooooopoooooooo
ooooooooog

oo :SYSTem:LCD:COLor : GRAPh?

O :SYSTEM:LCD:COLOR:GRAPH? ->

:SYSTEM:LCD:COLOR:GRAPH:MODE USER;
BACKGROUND 0,0,0;GRATICULE 6,6,6;
CURSOR 7,7,7;U01 7,7,0;U02 7,0,7;

v3 7,0,0;U4 0,4,7;11 0,7,0;

12 0,7,7;13 7,4,0;14 5,5,5

:SYSTem:LCD:COLor : GRAPh: {BACKground |
GRATicule |CURSor | U<x>|I<x>}

oo {00 |00D|0000|0000|0000}0
00000D0/000000000
oo :SYSTem:LCD:COLoOr : GRAPh:

{BACKground |GRATicule|CURSor | U<x> |
I<x>} {<NRf>,<NRf>,<NRf>}
:SYSTem:LCD:COLor : GRAPh:
{BACKground |GRATicule|CURSor | U<x> |
I<x>}?
x>0 104000000000)
<NRf>0007

O :SYSTEM:LCD:COLOR:GRAPH:
BACKGROUND 0,0,0
:SYSTEM:LCD:COLOR:GRAPH:
BACKGROUND? -> :SYSTEM:LCD:COLOR:
GRAPH : BACKGROUND 0,0,0

oo ROGOBOOOOOOOOO
000000000000 0000(:syYSTem:
LCD:COLor : GRAPh : MODE)J DUSERIO O O O
oooooooo

:SYSTem:LCD:COLor : GRAPh : MODE

oo ooooooooooOooooooooo/oo
ooooooo
oo :SYSTem:LCD:COLoOr : GRAPh:

MODE {DEFault |USER}
:SYSTem:LCD:COLOr : GRAPh : MODE?

0 :SYSTEM:LCD:COLOR: GRAPH:
MODE DEFAULT
:SYSTEM:LCD:COLOR:GRAPH:MODE? ->
:SYSTEM:LCD:COLOR: GRAPH:
MODE DEFAULT

:SYSTem:LCD:COLor : TEXT?

oo jofd0dddooooooooooooooo
gooooooo

oo :SYSTem:LCD:COLoOr : TEXT?

O :SYSTEM:LCD:COLOR:TEXT? -> :SYSTEM:

LCD:COLOR:TEXT:MODE USER;
LETTER 7,7,7;BACKGROUND 2,2,6;
BOX 0,0,7;SUB 3,3,3;SELECTED 0,4,7
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5.170 SYSTemU O O 0O

:SYSTem:LCD:COLor : TEXT : {LETTer |

BACKground | BOX | SUB | SELected}

oo {O0O0(Menu Fore)|DO0OOOOO(Menu
Back) | DO OO0OOOO0OOOOO(Select Box) |
0000000000 (SubMenu)|OOOOO
0000 (Selected Key)lD OO OOOoO/000
gooooo

oo :SYSTem:LCD:COLor : TEXT: {LETTer |
BACKground | BOX | SUB |
SELected} {<NRf>,<NRf>,<NRf>}
:SYSTem:LCD:COLor : TEXT: {LETTer |
BACKground | BOX | SUB | SELected}?
<NRf>0 00 7

o :SYSTEM:LCD:COLOR: TEXT:LETTER 7,7,7
:SYSTEM:LCD:COLOR: TEXT: LETTER? ->
:SYSTEM:LCD:COLOR: TEXT:LETTER 7,7,7

oo rROGOBOOOOOOOOO
gbobooooooooobo
(:SYSTem:LCD:

COLor:TEXT:MODE)U OUSERID OO OO OO
gooog

:SYSTem:LCD:COLor : TEXT : MODE

oo ooooooooooOooooooo/o0oo
ooood
oo :SYSTem:LCD:COLOr : TEXT:

MODE {PRESet<x>|USER}
:SYSTem:LCD:COLOT : TEXT : MODE?
<x>0103

a : SYSTEM:LCD:COLOR: TEXT : MODE PRESET1
:SYSTEM:LCD:COLOR: TEXT : MODE? ->
: SYSTEM:LCD:COLOR: TEXT : MODE PRESET1

:SYSTem:SCSI?

oo sCsS-pOO0O0O0OO0O0ooOoboooobooonoo
00

oo :SYSTem:SCSI?

O :SYSTEM:SCSI? -> :SYSTEM:SCSI:
OWNID 6; INTERNALID 4;HDMOTOR 1

oo sCsiDdnDoooo@oooo)yoooooo

oooooooooobooo

:SYSTem:SCSI:HDMotor

oo 0000000000000 0OON/OFFO OO/
gooooooooo

oo :SYSTem:SCSI:HDMotor {<Boolean>}
:SYSTem:SCSI:HDMotor?

O :SYSTEM:SCSI:HDMOTOR ON

:SYSTEM:SCSI:HDMOTOR? -> :SYSTEM:
SCSI:HDMOTOR 1

oo scsiggopoooo@oooo)y)yooooo
oooooooooobooo

:SYSTem:SCSI:INITialize

oo scsiof0doopooooooooooboono
oo :SYSTem:SCSI:INITialize

ad :SYSTEM:SCSI:INITIALIZE

oo gscsiogooooo@ooono)yooood

ooooooooooobooon

00 :sysTem:scs1:owNidO OO OO0
scsi-pO0oooooooooooooon
oooooooooooo

:SYSTem:SCSI:INTernalid

od ooooooooooscs-boboo/0o0og
goood
oo :SYSTem:SCSI:INTernalid {<NRf>}

:SYSTem:SCSI:INTernalid?
<NRf>04 (0 O)

g :SYSTEM:SCSI:INTERNALID 4
:SYSTEM:SCSI:INTERNALID? ->
:SYSTEM:SCSI:INTERNALID 4

od scsijjopoooo@ouuooy)yobooooo
gooooooooooooo

:SYSTem:SCSI:OWNid
oo goooscsHbooo/0o0oooooon
go :SYSTem:SCSI:OWNid {<NRf>}
:SYSTem: SCSI:OWNid?
<NRf>0 00 7
0 :SYSTEM:SCSI:OWNID 6

:SYSTEM:SCSI:OWNID? -> :SYSTEM:
SCSI:OWNID 6

od sCcsSI000oooo@uoono)yoooooo
gooooooooooooo

:SYSTem:TIME
oo goooo/0o0o0ooooooo
oo :SYSTem: TIME {<O 00>}

:SYSTem: TIME?
<000>0"HHMM:SS"HHO OO OoMMO OO
ssOo )

ad :SYSTEM:TIME "14:30:00"
:SYSTEM:TIME? -> "14:30:00"
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5.18 WAVeform [0 0 [J

WAveformO O OO OO0O0O0O000000000000000O0OoOooooooo
gboboboobooboobobobobobooooobooon
gbobobooooooboboboooooboobobobooboooobDobobobobboobooboboboo
gboboboboooooooobogoo

Y
) (_TRACe ) of <sp } (v ) S
L( 1 )——l <>
N =)
o
L—(FORMat) + <sp } (_Ascii )
N =)
S
L—(BYTeorder) o <sp } ((LsBFirst )
=)
o
L.( STARt )T-| <Space> |——f <NRf> |
N J
o
L—( <Space> |—-| <NRf> I
[ N )
o
N—( SEnD ) @
N—s( LENGth ) @
N—( TRIGger ) @
\—( sRATe ) @
\ =) J
L
tWAVeform? :WAVeform: END
oo gopooooooooooooboboooooag oo 0 :WAVeform:SEND?20 0000000 OOO
oo jooooooooooo/0o0ooooooo
oo :WAVeform? od :WAVeform:END {<NRf>}
0 :WAVEFORM? -> :WAVEFORM:TRACE Ul; :WAVeform:END?
FORMAT ASCII;START 0;END 1001 <NRf>000 (D O00D0O00-1)
[} :WAVEFORM:END 1001
:WAVeform:BYTeorder :WAVEFORM:END? -> :WAVEFORM:
0o 0 :wAaveform:SEND?0 0000000000 END 1001
OO0O(FLOATOO)IODOOODOOOOoO/ oo (000000)000 :wAVeform: LENGth?0
opoooooooo goo0o00oo0ooooooooo
0o :WAVeform:BYTeorder {LSBFirst|
MSBFirst}
:WAVeform:BYTeorder?
0 :WAVEFORM:BYTEORDER LSBFIRST
:WAVEFORM:BYTEORDER? -> :WAVEFORM:
BYTEORDER LSBFIRST
oo 00000000 :wAaveform: FORMat[ [
{FLOat}D DO ODOOOODO
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5.180 WAVeformO O O O

:WAVeform: FORMat

0o 0 :wAVeform:SEND?0 0000000000
0000000000000 /0000000
oo

oogd :WAVeform:FORMat {ASCii|FLOat}
:WAVeform: FORMat?

[} :WAVEFORM: FORMAT FLOAT

:WAVEFORM: FORMAT? -> :WAVEFORM:
FORMAT FLOAT

oo obooboOooooooboobobobobooo
0000000000 :wAveform:SEND?0 [J
oooooooooogoo

:WAVeform:LENGth?

oo O :waveform: TRACeO OO OODOOODOO
gooooooooobogoo

oo :WAVeform:LENGth?

O :WAVEFORM:LENGTH? -> 1002

oo go0o0o0ooooOoobogOoeo20bOoOO
od

:WAVeform: SEND?

oo O :waveform: TRACeO OO OODOOODOO
gooooooooooobo

oo :WAVeform: SEND?

O 00O :wAveform:FORMatU U {Ascii}d OO

:WAVEFORM: SEND? ->
<NR3>,<NR3>, ...

00O :wAveform:FORMatU U {FLOat} OO
:WAVEFORM: SEND? -> #4(4000000)
(Cooobooooo)

oo goooooooooboooooo

O :wAveform:FORMatO OO ODOOOOOO

ooooooooo

(O ASciDOOO
O00OO<NR3>000000O00OCDOODO
oooooogoooooooo

(2)0FLOatD O OO
OOOUOIEEEDOODOOODO (4byte)d O
goooooo
gopoooobooooboooooo
0 :wAVeform:BYTeorderD O OO OO0
ooo

:WAVeform: SRATe?

oo Jodooooo0o000o0ooooooooo
00

oo :WAVeform: SRATe?

O :WAVEFORM: SRATE? -> 200.000E+03

:WAVeform: STARt

oo 0 :waveform:SEND?0 0000000000
gopopooooooooo/000o0O0ooon
oo

oo :WAVeform: STARt {<NRf>}

:WAVeform: STARt?
<NRf>000 (0 000O000O1L)

O :WAVEFORM: START 0
:WAVEFORM: START? -> :WAVEFORM:
START 0

00 (CoooooD)yooO :waveform: LENGth?[

goboooooooooooo

:WAVeform:TRACe

oo O waveform:LENGth?0 [
OwAVeform:SEND?0 00000000000
oooo/000000000

oo :WAVeform:TRACe {U<x>|I<x>}
:WAVeform:TRACe?
<x>01040C00000000)

] :WAVEFORM: TRACE Ul
:WAVEFORM:TRACE? -> :WAVEFORM:
TRACE Ul

:WAVeform:TRIGger?

oo oooooobo0ooooooooooooooo
ooo

oo :WAVeform: TRIGger?

g :WAVEFORM: TRIGGER? -> 0

oo oooooo0ooooOooooOooooooo

ooooooooonooooono
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5.19 WSETup (Wave SETup)0 00O

WSETupO OOOODOOOOO0ODOOOO0DOOOO0ODO
gboboboOwAvEDODODOOOoooOooOobobobobooooooo
gbobobooooooboboboooooboobobobooboooobDobobobobboobooboboboo
gboboboboooooooobogoo

)

N

~

——(SAMPIing <Space>

¥—C TDIV )T—l <Space> |——| <Time> I
(?) [
)y

2
‘@L_.( MODE )——+{ <Space>

% SOURce )———l <Space>

¥—( SLOPe )———l <Space>

()
Y

|_.| <NRf>

x.( LEVel )_T-| <Space>

o

oJ©

<Space> |——| <NRf>

T <Space> |——| <NRf>

<Space> |——| <NRf>

:j‘l—-{ <Space> |——| <NRf>

OO

~
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5.190 WSETup (Wave SETup)d0 O O O

:WSETup?

oo obooboOooooooboobobobobooo
good

oo :WSETup?

O :WSETUP? -> :WSETUP:SAMPLING 0;
TDIV 500.0E-06; TRIGGER:MODE AUTO;
SOURCE U1l;SLOPE RISE;LEVEL 0.0;:
WSETUP:VZOOM:Ul 1.00;U2 1.00;
U3 1.00;U4 1.00;I1 1.00;I2 1.00;
I3 1.00;I4 1.00; :WSETUP:POSITION:
Ul 0.000;U2 0.000;U3 0.000;
U4 0.000;I1 0.000;I2 0.000;
I3 0.000;I4 0.000

:WSETup:POSition?

oo goOooOoOoOoOoO@GNDOO)YWooooo
gbobooooooooobo

od tWSETup:POSition?

O :WSETUP:POSITION? -> :WSETUP:

POSITION:Ul 0.000;U2 0.000;
U3 0.000;U4 0.000;I1 0.000;
I2 0.000;I3 0.000;I4 0.000

:WSETup:POSition: {UALL|IALL}

od Oo0oU0oO0oooooooo{oo|ooyo
0oo0ooooo@Oooooooo)y)yoog
goooo

od :WSETup:POSition: {UALL|

IALL} {<NRf>}
<NRf>[ 0 130.0000] 130.000(%)
O :WSETUP:POSITION:UALL 0

:WSETup:POSition: {U<x>|I<x>}

oo 00000000000{00 |000O000
goooo@ooooooo)yoo/wooo
ooooog

oo :WSETup:POSition: {U<x>|

I<x>} {<NRf>}
:WSETup:POSition: {U<x>|I<x>}?
<>0104000000000)
<NRf>0 0 130.0000 130.000(%)

[} :WSETUP:POSITION:Ul 0
:WSETUP:POSITION:Ul? -> :WSETUP:
POSITION:Ul 0.000

:WSETup|[ : SAMPling]

tWSETup:TDIV
oo O0O0Tme/divD 00O O0/000000000
0od :WSETup:TDIV {<( O >}

:WSETup:TDIV?
<0 0>00.50 10 20 50 100 200 500 1000
2000 500(ms)

O :WSETUP:TDIV 0.5MS
:WSETUP:TDIV? -> :WSETUP:
TDIV 500.0E-06

oo 0000000000 Tme/dvO0 000000
000 (:RATE)D 171000000

tWSETup:TRIGger?

od goooOo0ooOoooooooooooboooo
oo

oo :WSETup:TRIGger?

g tWSETUP: TRIGGER? ->

:WSETUP : TRIGGER:MODE AUTO;
SOURCE Ul;SLOPE RISE;LEVEL 0.0

tWSETup:TRIGger:LEVel

oo ooooooooo/00goooooog

oo :WSETup:TRIGger:LEVel {<NRf>}
:WSETup:TRIGger:LEVel?
<NRf>0 [0 100.00 100.0(%)(C0O0O00O0O0OO0.1
(%))

g tWSETUP : TRIGGER:LEVEL 0
:WSETUP:TRIGGER:LEVEL? -> :WSETUP:
TRIGGER:LEVEL 0.0

oo goooboobobobooboboobooooo
goooooo

tWSETup : TRIGger : MODE

0od ooooooooo/oo0ooooooo

0od :WSETup:TRIGger :MODE {AUTO|NORMal}
:WSETup:TRIGger :MODE?

ad :WSETUP : TRIGGER:MODE AUTO

:WSETUP: TRIGGER:MODE? -> :WSETUP:
TRIGGER:MODE AUTO

:WSETup:TRIGger: SLOPe

0od oooooooooo/o0ooooooog
oo :WSETup:TRIGger:SLOPe {RISE|FALL]|
BOTH}
:WSETup:TRIGger:SLOPe?
] :WSETUP : TRIGGER : SLOPE RISE

oo 000000000ON/OFFO 0 O/000D00O :WSETUP: TRIGGER:SLOPE? -> :WSETUP:
oooo TRIGGER:SLOPE RISE
oo :WSETup|[ : SAMPling] {<Boolean>}
:WSETup:SAMPling?
O :WSETUP : SAMPLING ON
:WSETUP: SAMPLING? -> :WSETUP:
SAMPLING 1
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5.190 WSETup (Wave SETup)0 O O O

:WSETup : TRIGger : SOURce

oo oo0o0oooooo/0o0Do0o0o0ooon
0o :WSETup:TRIGger:SOURce {U<x>|I<x>}
:WSETup:TRIGger :SOURce?
<>0104000000000)

O :WSETUP : TRIGGER : SOURCE U1l
:WSETUP : TRIGGER: SOURCE? -> :WSETUP:
TRIGGER:SOURCE Ul

tWSETup:VZoom?

oo gbobooooooobobobobobooo
goboobooooooog

oo :WSETup:VZoom?

O :WSETUP:VZOOM? -> :WSETUP:VZOOM:

Ul 1.00;U2 1.00;U3 1.00;U4 1.00;
I1 1.00;I2 1.00;I3 1.00;I4 1.00

:WSETup:VZoom: {UALL | IALL}

od

od

OooU0oO0oooooooo{o|jooyo
oooooooooooooooooon
:WSETup:VZoom: {UALL | IALL} {<NRf>}
<NRf>0JO0.10100(CC0C0COCOOOCODODOO
oo)

:WSETUP:VZOOM: UALL 1

:WSETup:VZoom: {U<x>|I<x>}

oo

oo

00000000000{00 |00 0o00o
oooooooooo/000ooooon
:WSETup:VZoom: {U<x>|I<x>} {<NRf>}
:WSETup:VZoom: {U<x>| I<x>}?
<>0104000000000)
<NRf>0JO0.10100(0 00 0000000O0O0O
oo)

:WSETUP:VZOOM:Ul 1
:WSETUP:VZOOM:Ul? -> :WSETUP:VZOOM:
Ul 1.00
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520 JUUgouoooo

0000000000 00IEEE488.2-19870 0 0 000000DOO0OO0OO0OO0ODO0OODODOODOOOOOOO

gboboboooobooobooboobobobooooobooobooon

)
N
*CAL

7z

©

\

*CLS

mT-l <Space> |——| <NRf> }7—/
(7)

/
\ Q‘ (?) y
ESR C/
E () y
IDN C/
\—=( *OPC } A
D) @ y
N—( oPT ) @
mT-l <Space> |——| <NRf> }7_/
()
—/
—a( *RST }
;(W)T-l <Space> |——| <NRf> }7_/
()
/S
N 'sTB ) @
*TRG A
N *TST ) @ y
—a( *WAI } J

g

*CAL? (CALibrate)

oo

oo

oo

goooooooo@OooooooocAL
(SHIFT+MEASURE)D O OOOOOOODO)O
00000o0O0oO0oooooooo

*CAL?

*CAL? -> 0
0O00oo0oo0o0ooooooooooog
goooOoOoOoOoOoOoooOoi1oooooooon

*CLS (CLear Status)

oo

oo
|
oo

gooooooooooooooooobooooo

oooooooooobooo

*CLS

*CLS

OxcLsOO0000000O0O0O00O0O0O0O00OO
goooooooooooooooooooo
oobooooo

ooooooooooooooooe0nOOOO
oooboooo

*ESE

(standard Event Status Enable register)

0od

0od

oo

jooo0oooooooooooooooo/

gooooooono

*ESE {<NRf>}

*ESE?

<NRf>0 00 255

*ESE 251

*ESE? -> 251

godoooOoilooooooooooono

O0O000000O*ESE 251000000000
I e B e ¢ 0 e e A
0o000bOOoOooooooOoooooooo
o0doboDbOoz20000000000000
0o000bOOoOooooooOoooooooo
o0oooos5ESB)OO1IO0000O00O0O

000000+*eSE 00 (DODODOOO)YOODO

O+*esg?0 0000000O0O0O0OOOOOO
0000ODoOOoOoOoobOooobooooono
oo

gd000o0ooobOooooooooooo
00de-300000000DODOOOO
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52000 000000000

*ESR? (standard Event Status Register)

oo

oo
O
oo

gooOooooooobooooooboooooo

gooooooo

*ESR?

*ESR? -> 32

goooooiloooooooooooo

gosrRQUOIDOOODOOOODOOOODOOO
goooooooooooooobooooDo
oo

goooooo3200000o000ooo0oon
gooooggooliooooo0OnOnononOnO
oobooooOoooooooooooonoo
oo0o0o0oooOoooooosrQOOOO
oobooooog

O+*Esr?00000000000DOCO0ODOO
ooooooooooobooon

gooooooobooooboboooDboe-300O
ooboooooooon

*IDN? (IDeNtify)

od
od
a

od

0000O00O0ooonog

*IDN?

*IDN? ->

YOKOGAWA, 760151-0401,0,F1.01
<000>0<00>0<0000No>0<0000
00000000 0>0000000000<0
O00ONo>000000000000(@O0)O

*OPC (OPeration Complete)

od

od

od

gooooooOooooooooobooooo
O00oooooooooooooooorPcod
O)yoioooooooo
*OPC
*OPC
OxopcOO000D0OOODOOODOOOOA4E-7
gopoooooooooodg
gooooooooooooooo
00 cOMMunicate:OPSE 0 OO OO0O
oooooooooogo+xopcObOOOO
gopoogoo

*OPC? (OPeration Complete)

oo

oo
O
oo

00000oo0oooooooooooooog
OO0ASCIDDODOO010000000
*QPC?
*OPC? -> 1
OxorPCc?2000000000O00DOOOODOA4-
7000oO00oOoOOOOOO0OO0O
oooooooooooOooOoO0
0 cOMMunicate:OPSE 0 OO OO0
000o0oooooooooxopc20 00000
oooood

*OPT? (OPTion)

oo
oo
O

oo

0o00o0DOOo0o0oooOoOoOoooooono

*QPT?

*OPT? -> B5,Cl0

gooooooBsS)oscsiocooooooW
C7)000DO0oOoDoooscsiodnHbpDb(/
cioonnooooooooo

0000o00ooooOoboooOobooooooo
ASCllDOOOopDoooOoooooa

O0O+xopT?200000000O0OOOODODOO
ooo@oooo)yoooooooooo
0g0d0o0obOoOooobooOoooooooo
ooooo

*PSC (Power-on Status Clear)

oo

oo

oo

0OooNOOOOOOO0O00000000000
00000/0000000000000000
DooDOOOOOOOOO0OOO0OOO0
0000000000000000
0000000000000000
0oooooo

*PSC {<NRf>}

*PSC?
<NRf>00(000000)I000@O000)
*PSC 1

*PSC? -> 1

000000000060 0000000000

*RST (ReSeT)

oo
oo
O

oo

obooooooooooo

*RST

*RST

goooooo*opPCcOoOO*oPC?0000O0O
ooo

gooooooooooboooOoboooooaao
gooooooo
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52000 000000000

*SRE (Service Request Enable register)

oo

oo

oo

000000000000000000000

00/000000000

*SRE <NRf>

*SRE?

<NRf>0 00 255

*SRE 239

*SRE? -> 175(0006(MSS) 0000000

0ooo)

0000001000000000000

0000000 *SRE 239000000000
0000000000000000
0111011110000000000000
0000000000000000000
00040000000000000000
0000000000000000000
0D004MAV)DD10000000

0000000000000000000006
(MSS)OMSSOOO0O0O0000000000
0o

0DO000D0O0+sRE 00(0000O00)000

O+*srRE?0000000000O0O0O0OOO00
000000000000000000000
0o

0000000000000000000000
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Option Explicit

Dim StartFlag As Integer 'Start Flag

Dim addr As Integer 'GPIB Address
Dim Timeout As Integer 'Timeout

Dim Dev As Integer 'Device ID(GPIB)
Dim term As String 'Terminator

Dim Query(1100) As String 'Query String

Dim Dummy As Integer

Private Function InitGpib() As Integer

Dim eos As Integer 'EOS
Dim eot As Integer 'EOI
Dim brd As Integer 'GPIB Board ID

Dim sts As Integer

eos = &HCOA 'Terminator = LF
eot =1 'EOI = Enable
term = Chr(10)

Timeout = T10s 'Timeout = 10s

brd = ilfind("GPIBO")
If (brd < 0) Then
Call DisplayGPIBError(brd, "ilfind")
InitGpib =1
Exit Function
End If
Dev = ildev (0, addr, 0, Timeout, eot, eos)
If (Dev < 0) Then
Call DisplayGPIBError(Dev, "ildev")
InitGpib = 1
Exit Function
End If
sts = ilsic(brd) 'Set IFC
If (sts < 0) Then
Call DisplayGPIBError(sts, "ilsic")
InitGpib =1
Exit Function
End If
InitGpib = 0
End Function

Private Sub DisplayGPIBError(ByVal sts As Integer, ByVal msg As String)
Dim wrn As String
Dim ers As String
Dim ern As Integer

If (sts And TIMO) Then
wrn = "Time out" + Chr(13)
Else
wrn =
End If
If (sts And EERR) Then
ern = iberr
If (ern = EDVR) Then

nn

ers = "EDVR:System error"
ElseIf (ern = ECIC) Then
ers = "ECIC:Function requires GPIB board to be CIC"
ElseIf (ern = ENOL) Then
ers = "ENOL:No Listeners on the GPIB"
ElseIf (ern = EADR) Then
ers = "EADR:GPIB board not addressed correctly"
ElseIf (ern = EARG) Then
ers = "EARG:Invalid argument to function call"
ElseIf (ern = ESAC) Then
ers = "ESAC:GPIB board not System Controller as required"
ElseIf (ern = EABO) Then
ers = "EABO:I/0 operation aborted(timeout)"
ElseIf (ern = ENEB) Then
ers = "ENEB:Nonexistent GPIB board"
ElseIf (ern = EDMA) Then
ers = "EDMA:DMA error"
ElseIf (ern = EOIP) Then
ers = "EOIP:I/0O operation started before previous operation completed"
ElseIf (ern = ECAP) Then
ers = "ECAP:No capability for intended operation"
ElseIf (ern = EFSO) Then
ers = "EFSO:File system operation error"
ElseIf (ern = EBUS) Then
ers = "EBUS:GPIB bus error"
ElseIf (ern = ESTB) Then
ers = "ESTB:Serial poll status byte queue overflow"
ElseIf (ern = ESRQ) Then
ers = "ESRQ:SRQ remains asserted"
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ElseIf (ern = ETAB) Then

ers = "ETAB:The return buffer is full"
ElseIf (ern = ELCK) Then
ers = "ELCK:Address or board is locked"
Else
ers = ""
End If
Else
ers = ""
End If

MsgBox ("Status No. " + Str(sts) + Chr(1l3) + wrn + "Error No. " + Str(ern) + Chr(13)

+ ers + Chr(1l3) + msg), vbExclamation,

Call ibonl(Dev, 0)
Dev = -1
End Sub

Private Sub Commandl_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub
End If
StartFlag = 1
Textl.Text = "START"
Listl.Clear
Dummy = DoEvents()
sts = GpibPower
(Power)
If (sts = 0) Then
Textl.Text = "END"
Else
Textl.Text = "ERROR"
End If
StartFlag = 0
End Sub

Private Sub Command2_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub
End If
StartFlag = 1
Textl.Text = "START"
Listl.Clear
Dummy = DoEvents()
sts = GpibImpedance
(Impedance)
If (sts = 0) Then
Textl.Text = "END"
Else
Textl.Text = "ERROR"
End If
StartFlag = 0
End Sub

Private Sub Command3_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub
End If
StartFlag = 1
Textl.Text = "START"
Listl.Clear
Dummy = DoEvents()
sts = GpibWaveAscii
(ASCII)
If (sts = 0) Then
Textl.Text = "END"
Else
Textl.Text = "ERROR"
End If
StartFlag = 0
End Sub

Private Sub Command4_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub

End If

StartFlag = 1

Textl.Text = "START"

Listl.Clear

"Error!"

'Run Samplel (GPIB) Get Numerical Data

'Run Sample2(GPIB) Get Numerical Data

'Run Sample3(GPIB) Get Waveform data
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Dummy = DoEvents()
sts = GpibWaveFloat 'Run Sample4 (GPIB) Get Waveform data (FLOAT)
If (sts = 0) Then
Textl.Text = "END"
Else
Textl.Text = "ERROR"
End If
StartFlag = 0
End Sub

Private Sub Command5_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub

End If

StartFlag = 1

Textl.Text = "START"

Listl.Clear

Listl.AddItem "NOT MAKE"

Textl.Text = "END"

StartFlag = 0

End Sub

Private Sub Command6_Click()
Dim sts As Integer

If (StartFlag = 1) Then
Exit Sub

End If

StartFlag = 1

Textl.Text = "START"

Listl.Clear

Listl.AddItem "NOT MAKE"

Textl.Text = "END"

StartFlag = 0

End Sub

.d

Private Sub Form_Load()

g
StartFlag = 0 'Clear Start Flag O
Dev = -1 'Clear device id O
addr =1 'GPIB Address =1 0
Commandl.Caption = "Samplel(GPIB)" + Chr(13) + "Get Power Data" 0
Command2.Caption = "Sample2(GPIB)" + Chr(13) + "Get Impedance Data"
Command3.Caption = "Sample3(GPIB)" + Chr(13) + "Get Wave Data(ASCII)" 0
Command4.Caption = "Sample4 (GPIB)" + Chr(13) + "Get Wave Data(FLOAT)" O
Textl.Text = "" 0

g
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Samplel (GPIB) Get Power Data
Private Function GpibPower() As Integer
Dim msg As String 'Command buffer
Dim gry As String 'Query buffer
Dim sts As Integer
Dim item As Integer
Dim comma As Integer
Dim length As Integer
Dim cnt As Integer

term = Chr$(10) 'terminator
msg = Space$(100)
gry = Space$(900)

Listl.AddItem "Now Initializing. Wait a moment."
Dummy = DoEvents()

sts = InitGpib 'Initialize GPIB
If (sts <> 0) Then

GpibPower = 1

Exit Function
End If

'Initialize the settings
msg = "*RST" + term 'Initialize the settings
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function
End If

'Set the measurment condition
msg = "VOLTAGE:RANGE 100V" + term 'Voltage range = 100V
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function

.d

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function

End If

End If
msg = "CURRENT:RANGE 1A" + term 'Current range = 1A
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command g
If (sts < 0) Then O
Call DisplayGPIBError(sts, msg) O
GpibPower = 1 O
Exit Function 0
End If
msg = "RATE 500MS" + term 'Update Rate = 500ms 0
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command g
O
g

'Set the numerical data output items
'ASCII format, Preset patternl, Number of data = 60
msg = "NUMERIC:FORMAT ASCII;NORMAL:PRESET 1;NUMBER 60" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibPower = 1

Exit Function
End If

'Set the transition filter used to detect the completion of the data updating
msg = "STATUS:FILTER1 FALL" + term 'Falling edge of bit0(UPD)
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function
End If

'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function
End If
sts = ilrd(Dev, qry, Len(qry)) 'Receive Query
If (sts < 0) Then
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Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function

End If

Listl.Clear
'Read and display the numerical data (It is repeated 10 times in this program)
For cnt = 1 To 10
'Wait for the completion of the data updating
msg = "COMMUNICATE:WAIT 1" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function
End If

'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibPower = 1

Exit Function
End If
sts = ilrd(Dev, qry, Len(qry)) 'Receive Query
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibPower = 1

Exit Function
End If

'Read out numerical data
msg = "NUMERIC:NORMAL:VALUE?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function
End If
sts = ilrd(Dev, qry, Len(qry)) 'Receive Query
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibPower = 1
Exit Function

End If
'Extract items that are separated by commas(,) from the received data
Listl.AddItem "Measurement - " + CStr(cnt)

Listl.ListIndex = Listl.ListIndex + 1
For item = 1 To 60
length = Len(gry)
comma = InStr(qry, ",")
If (comma = 0) Then comma = InStr(qry, term)

Query(item) = Left(gry, comma - 1)
If item < 10 Then
Listl.AddItem " " + CStr(item) + " " + Query(item)
Else
Listl.AddItem CStr(item) + " " + Query(item)
End If

gry = Mid(gqry, comma + 1)
Listl.ListIndex = Listl.ListIndex + 1

Next item

Listl.AddItem ""

Listl.ListIndex = Listl.ListIndex + 1

gry = Space$(900)

Dummy = DoEvents()

Next cnt

Listl.AddItem " All end"
Listl.ListIndex = Listl.ListIndex + 1
Call ibonl(Dev, 0)
GpibPower = 0

End Function
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Get Impedance
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Commandd

Commandd

| END
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Sample2 (GPIB) Get Impedance Data

Private Function GpibImpedance() As Integer

Dim msg As String
Dim gry As String
Dim sts As Integer
Dim wait As Integer
Dim item As Integer
Dim comma As Integer
Dim length As Integer
Dim cnt As Integer

term = Chr$(10)
msg = Space$(100)
qry = Space$(1200)

'Command buffer
'Query buffer

'terminator

Listl.AddItem "Now Initializing. Wait a moment."

Dummy = DoEvents()

sts = InitGpib

If (sts <> 0) Then
GpibImpedance = 1
Exit Function

End If

'Initialize the settings

msg = "*RST" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Initialize GPIB

'Initialize the settings
'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If

'Set the measurment condition
'Mode = impedance mode

msg = "IMPEDANCE:STATE ON" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If
'Superpose Output Ratio = 0.3,

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If

'Superpose DC Offset = 1.000, Superpose AC Amp = 1.000

Hold Action = Normal
msg = "IMPEDANCE:SUPERPOSE:DETAILE:RATIO 0.3;HOLD NORMAL" + term

'Send Command

.d

'Send Command

Oooooooog

msg = "IMPEDANCE:SUPERPOSE:OFFSET 1;AMPLITUDE 1" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If

'Frequency Range = Hz, Frequency Value = 10
msg = "IMPEDANCE:SUPERPOSE:FREQUENCY:RANGE HZ;VALUE 10" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function

End If
'Hold On
msg = "HOLD ON" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If
'Superpose Output Type = AC/DC,

Superpose Output = ON

msg = "IMPEDANCE:SUPERPOSE:OUTPUT:TYPE ACDC;STATE ON" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function

End If

'Initialize voltage range

msg = "IMPEDANCE:VOLTAGE:INITIALIZE" + term

sts = ilwrt(Dev, msg, Len(msg))
If (sts < 0) Then

'Send Command

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1
Exit Function
End If
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'Preset patternl, Number of data = 3, Number of data of array function = 1
msg = "NUMERIC:IMPEDANCE:PRESET 1;NUMBER 3;ARRAY 1" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function
End If

'Set the transition filter used to detect the completion of the data updating
msg = "STATUS:FILTER1 FALL" + term 'Falling edge of bit0(UPD)
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1

Exit Function
End If

'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1

Exit Function
End If
sts = ilrd(Dev, gry, Len(qry)) 'Receive Query
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1

Exit Function
End If

Listl.Clear
'Read and display the numerical data (It is repeated 5 times in this program)
For cnt = 1 To 5
msg = "*TRG" + term 'Single trigger
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function
End If

'Wait for the completion of the data updating
msg = "COMMUNICATE:WAIT 1" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function
End If

'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1

Exit Function
End If
sts = ilrd(Dev, qry, Len(qry)) 'Receive Query
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibImpedance = 1

Exit Function
End If

'Read out numerical data
msg = "NUMERIC:IMPEDANCE:VALUE?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function
End If
sts = ilrd(Dev, qry, Len(qry)) 'Receive Query
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function

End If
'Extract items that are separated by commas(,) from the received data
Listl.AddItem "Measurement - " + CStr(cnt)

Listl.ListIndex = Listl.ListIndex + 1
For item = 1 To 3
length = Len(qry)
comma = InStr(qry, ",")
If (comma = 0) Then comma = InStr(qry, term)

Query(item) = Left(qry, comma - 1)
If (item = 1) Then
Listl.AddItem "Freq : " + Query(item)
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ElseIf (item = 2) Then

Listl.AddItem "Z2' : " + Query(item)
Else

Listl.AddItem "2z2'' : " + Query(item)
End If

qry = Mid(qry, comma + 1)
Listl.ListIndex = Listl.ListIndex + 1
Next item

'Change Frequency
If cnt = 1 Then
msg = "IMPEDANCE:SUPERPOSE:FREQUENCY:VALUE 20" + term 'Frequency Value

20
ElseIf cnt = 2 Then
msg = "IMPEDANCE:SUPERPOSE:FREQUENCY:VALUE 50" + term 'Frequency Value

50
ElseIf cnt = 3 Then
msg = "IMPEDANCE:SUPERPOSE:FREQUENCY:VALUE 100" + term 'Frequency Value

100
Else
msg = "IMPEDANCE:SUPERPOSE:FREQUENCY:VALUE 200" + term 'Frequency Value
200

End If
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function
End If

Listl.AddItem ""
Listl.ListIndex = Listl.ListIndex + 1
gry = Space$(900)
Dummy = DoEvents()
Next cnt

Listl.AddItem " All end"
Listl.ListIndex = Listl.ListIndex + 1

.d

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibImpedance = 1
Exit Function

End If

msg = "IMPEDANCE:SUPERPOSE:OQOUTPUT:STATE OFF" + term ' Superpose
Output = OFF
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command 0
If (sts < 0) Then 0
Call DisplayGPIBError(sts, msg)

GpibImpedance = 1 O
Exit Function O
End If O
. . . O
msg = "HOLD OFF" + term Hold Off 0
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command 0
g

Call ibonl(Dev, 0)
GpibImpedance = 0
End Function

10l =|

Sample? (GPIE) Measurenent - 1

Giet Power Data Efeq : ?ﬁsggggfgg

- 277 ¢ 73.009E-08
Weasurement - 2

e Frea : 20,032E400

Z %9, 1901E-0

Sample3(GPIE) &7z 65.991E-08
Get Wave Measurement - 3

__ DatalASCI} | Frea : 50.0B0EHID

27 ¢ 10.505E-03

Sampled (GPIE) 277 1 BAR.B14E-DR

et Wave

DatalFLOAT) Measurement - 4

- Freq @ 100.16E+00

27 1 9.9089E-03

Commands 77t -62.884E-06
Weasurement - &

Freq @ 200.32E+00

T 10191E-03

Gommandd I’ i 59.458E-08

A1 end

| END
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Sample3 (GPIB) Get Wave Data (ASCII)
Private Function GpibWaveAscii() As Integer
Dim msg As String 'Command buffer
Dim gry As String 'Query buffer
Dim sts As Integer
Dim wait As Integer
Dim pntl As Integer
Dim num As Integer
Dim i As Integer
Dim j As Integer
Dim k As Integer
Dim comma As Integer

term = Chr$(10) 'terminator
msg = Space$(100)
gry = Space$(200)

sts = InitGpib 'Initialize GPIB
If (sts <> 0) Then

GpibWaveAscii = 1

Exit Function
End If

'Initialize the settings
msg = "*RST" + term 'Initialize the settings
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function
End If

'Set the measurment condition
msg = "VOLTAGE:RANGE:ELEMENT1 100V" + term 'Voltage range = 100V
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If
msg = "WSETUP:TDIV 10MS" + term 'Time/div = 10ms
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If
msg = "WSETUP:SAMPLING ON" + term 'Wave sampling start
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If

'Set the transition filter used to detect the completion of the data updating
msg = "STATUS:FILTER1 FALL" + term 'Falling edge of bit0(UPD)
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function
End If

'Wait until waveform measure is stable (2 samples in this program)
For wait = 1 To 2
'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function
End If
sts = ilrd(Dev, dgry, Len(gry)) 'Receive Query
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If

'Wait for the completion of the data updating

msg = "COMMUNICATE:WAIT 1" + term

sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
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Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function
End If
Next wait

'Set conditions for reading the waveform
'ASCII format, Trace = Ul

msg = "WAVEFORM:TRACE Ul;FORMAT ASCII" + term

sts = ilwrt(Dev, msg, Len(msg))

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If

'Read and display the waveform data

pntl = 1002

num = 0
i = 0 To pntl Step 10

'Send Command

'Read in the waveform data 10 data points at a time

msg = "WAVEFORM:START" + Str(i) + ";END" + Str(i + 9) + ";SEND?" + term

sts = ilwrt(Dev, msg, Len(msg))

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If

sts = ilrd(Dev, qry, Len(qry))

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveAscii = 1
Exit Function

End If

k=1

'Extract items that are separated by commas(,) from the received data

For j = 0 To 9
comma = InStr(k, gqry, ",")

'Send Command

'Receive Query

If (comma = 0) Then comma = InStr(k, gry, term)

num = num + 1

Query(num) = Mid(qry, k, (comma - k))

If (num < 10) Then

Listl.AddItem " " 4+ CStr(num) +
ElseIf (num < 100) Then

Listl.AddItem " " + CStr(num) +
ElseIf (num < 1000) Then

Listl.AddItem " " + CStr(num) +
Else

Listl.AddItem CStr(num) + "

End If
k = comma + 1

Listl.ListIndex = Listl.ListIndex + 1

If (num >= pntl) Then Exit For
Next j
qry = Space$(200)
Dummy = DoEvents()
Next i

Call ibonl(Dev, 0)
GpibWaveAscii = 0
End Function

=10l x|

T -0, 19E+00
Samplel (GPIE}
Get Power Data % ggggigg
! e
Sample2(GPIE} -D9EH
Get Impedance 6 20.24E+00
Dota 7 19.B5E+0
& 29.79E+00
SHREIGRE 10 39:54E00
Get Wave 11 38.58E+00
atalAET 12 43.11E+00
15 46.53E+00
Sampled (GPIE) 14 B4.31E+I0
Get Wave 15 B3.0SE+00
Data(FLOAT) 16 B2.21E+0
e 17 B0.T9E+00
5 b6.04E400
. +
o 20 75.82E400
21 73.7REHI0
22 82.44EH00
23 80.59E+10
Gommands 24 §9.55EHI0
25 86.90EHI0
28 96.17EH00
27 92.27E+00
END 25 102.0BE+0D
23 98.21E+00
30 107.53E+00

"
"

+ Query(num)

+ Query(num)

+ Query(num)

+ Query(num)
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Sample4 (GPIB) Get Wave Data (FLOAT)
Private Function GpibWaveFloat() As Integer
Dim msg As String
Dim gry As String
Dim wait As Integer
Dim eos As Integer
Dim w As String
Dim a(8) As String
Dim b(8) As String
Dim buf As String
Dim all As String
Dim allb As String
Dim stre As String
Dim sts As Integer
Dim pntl As Integer
Dim i As Integer
j As Integer
k As Integer
Dim 1 As Integer
m As Integer
Dim valu As Integer
Dim vale As Integer
Dim bufv(2007) As Integer
Dim valf As Single
Dim flo As Single

term = Chr$(10) 'terminator
msg = Space$(100)
gry = Space$(200)

sts = InitGpib 'Initialize GPIB
If (sts <> 0) Then

GpibWaveFloat = 1

Exit Function
End If

'Initialize the settings
msg = "*RST" + term 'Initialize the settings
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)

.d

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function

GpibWaveFloat = 1 O
Exit Function 0

End If O
s 0

'Set the measurment condition 0
msg = "VOLTAGE:RANGE:ELEMENT1 100V" + term 'Voltage range = 100V 0
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command O
O

g

End If
msg = "WSETUP:TDIV 10MS" + term 'Time/div = 10ms
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function

End If
msg = "WSETUP:SAMPLING ON" + term 'Wave sampling start
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function

End If

'Set the transition filter used to detect the completion of the data updating
msg = "STATUS:FILTER1 FALL" + term 'Falling edge of bit0(UPD)
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function
End If

'Wait until waveform measure is stable (2 samples in this program)
For wait = 1 To 2
'Clear the extended event register (Read and trash the response)
msg = "STATUS:EESR?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
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GpibWaveFloat = 1

Exit Function
End If
sts = ilrd(Dev, gry, Len(dgry)) 'Receive Query
If (sts < 0) Then

Call DisplayGPIBError(sts, msg)

GpibWaveFloat = 1

Exit Function

End If

'Wait for the completion of the data updating

msg = "COMMUNICATE:WAIT 1" + term

sts = ilwrt(Dev, msg, Len(msg)) 'Send Command

If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function
End If
Next wait

'Set conditions for reading the waveform
'FLOAT(MSB first) format, Trace = Ul
msg = "WAVEFORM:TRACE Ul;FORMAT FLOAT;BYTEORDER MSBFIRST" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function
End If

'Read and display the waveform data
eos = 0
sts = ileos(Dev, eos) 'Terminator = None(for Binary Data)
If (sts < 0) Then
Call DisplayGPIBError(sts, "ileos")
GpibWaveFloat = 1
Exit Function
End If
'Read in the waveform data
pntl = 1002
msg = "WAVEFORM:START O0;END 1001;SEND?" + term
sts = ilwrt(Dev, msg, Len(msg)) 'Send Command
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function
End If
sts = ilrdi(Dev, bufv(), 6 + 1002 * 4 + 1) 'Receive Query(Integer data)
If (sts < 0) Then
Call DisplayGPIBError(sts, msg)
GpibWaveFloat = 1
Exit Function

End If
eos = &HCOA
sts = ileos(Dev, eos) 'Terminator = LF

If (sts < 0) Then
Call DisplayGPIBError(sts, "ileos")
GpibWaveFloat = 1
Exit Function

End If

For i = 1 To pntl

buf = ""
For j =1 To 2
If Left(Right("00" + Hex$(bufv((i * 2) + j)), 4), 2) = "00" Then
buf = buf + Right("00" + Hex$(bufv((i * 2) + j)), 4)
ElseIf Left(Right("0" + Hex$(bufv((i * 2) + j)), 4), 1) = "0" Then
buf = buf + Right("0" + Hex$(bufv((i * 2) + j)), 4)
Else
buf = buf + Hex$(bufv(2 + ((i - 1) * 2) + 3J))
End If
Next j

all = Mid(buf, 3, 2) + Mid(buf, 1, 2) + Mid(buf, 7, 2) + Mid(buf, 5, 2)
For k = 1 To 8

a(k) = Mid$(all, k, 1)
If a(k) = "0" Then b(k) = "0000"
If a(k) = "1" Then b(k) = "0001"
If a(k) = "2" Then b(k) = "0010"
If a(k) = "3" Then b(k) = "0011"
If a(k) = "4" Then b(k) = "0100"
If a(k) = "5" Then b(k) = "0101"
If a(k) = "6" Then b(k) = "0110"
If a(k) = "7" Then b(k) = "0111"
If a(k) = "8" Then b(k) = "1000"
If a(k) = "9" Then b(k) = "1001"
If a(k) = "A" Then b(k) = "1010"
If a(k) = "B" Then b(k) = "1011"
If a(k) = "C" Then b(k) = "1100"
If a(k) = "D" Then b(k) = "1101"
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If a(k) = "E" Then b(k) = "1110"
If a(k) = "F" Then b(k) = "1111"
Next k
allb = b(1l) + b(2) + b(3) + b(4) + b(5) + b(6) + b(7) + b(8)
vale = 0
valf = 0
valu Val(Left$(allb, 1))

stre Mid$(allb, 2, 8)
For 1 = 0 To 7

vale = vale + (2 ~ 1) * val(Mid$(stre, (8 - 1), 1))
Next 1
w = Mid$(allb, 10, 23)
For m = 1 To 23

valf = valf + (2 © (-m)) * Val(Mid$(w, m, 1))
Next m
If (vale = 0) Then valf = 0 Else: valf = valf + 1
flo = ((-1) "~ valu) * (2 ~ (vale - 127)) * valf
If i < 10 Then

Listl.AddItem CStr(i) + " " + CStr(flo)
ElseIf i < 100 Then
Listl.AddItem CStr(i) + " " + CStr(flo)

ElseIf i < 1000 Then
Listl.AddItem CStr(i) + '
Else
Listl.AddItem CStr(i) + " " + CStr(flo)
End If
Listl.ListIndex = Listl.ListIndex + 1

" + CStr(flo)

gry = Space$(200)
Dummy = DoEvents()
Next i

Call ibonl(Dev, 0)
GpibWaveFloat = 0
End Function

mple Program ;Iglll 7
Sample (GFIE} ; g %ggiggs ﬂ
Giet Power Data g £.549742 O
4 3.68117 0
] 13,1818
Sample2 (GPIE) 8 21 9988 g
Get Impedance
Data 7 20, 96387
_— ] a0.21333 0
Sample3(GPIE} ?u iﬂg}ﬁgé A
Giet Wave . o
11 38.28671
DatalASCI 12 50.01514 O
13 48.70313
14 BE. 47098 =
16 54.00603 m
16 B3.12637
17 ED.93138
18 70.039398
19 E7.95084
Commandd 20 7E.801
21 78,4042
2 83.60898
23 8113228
Gammands 24 90.07656
25 88.19848
26 9B.23895
27 93,6214
END 28 102.0878
29 99.83074
| 30 107.0143 =]
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104 <DATA>0 00000000000 4-504-60 0000000000000 4-50
Data type error gboooooooooooo 4-6
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